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9 |7=mk= 0. 003mg/L i — G C/M S ik 0.00005 [mg/L 2 F 5L
10|77 X 0. 006mg/L L C/MSE(P) 0.0003 mg/L 2 55 AN0T
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&2) :'; jij;jjj% 5T 0. 005mg/L Bl — G C/M S i 0. 00001 E;E 2 G
134V 7= KA 0.001mg/L AR — G C/M S ik 0.00003  [mg/L 2 EiA
14 |4 v FahrT (MIPC) 0. 0lmg/L AR — G C/M S i 0.00005 [mg/L 2 55/
15 |4 Y7 aF47 (IPT) 0. 3mg/L [E A — G C /M S ik 0.00001 |mg/L 2 55507
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31 [ 75 0. 3mg/L E A — G C/M S ik 0.0001 mg/L 2 55 AN
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é;) ;z E jjj% o 0. 02mg/L FEARHIH — G C/M S 1 0. 0001 E;t 2 AR
86 [7 7m0 0. 02mg/L [ — G C/M S 5 0.00001 [mg/L 2 55/
87 |7 LT V) A 0. 03mg/L L C/MSE(P) 0.0003 mg/L 2 AT
88 |7LFF/u—)L 0. 05mg/L B — G C/M S ik 0.00001 [mg/L 2 EiA
89 | 7ms 3 Fu 0. 09mg/L A — G C/M S i 0. 0001 mg/L 2 AT
91 [Frvarry—m 0. 05mg/L [E AR — G C/M S i 0. 0002 mg/L 2 AT
92 [7ur¥ IR 0. 05mg/L A — G C/M S i 0.00001 [mg/L 2 EiiA
93 [Te~FYy—n 0. 03mg/L L C/MS:(P) 0.0001 mg/L 2 AT
94 [ZTuxE7F R 0. Img/L [E A — G C /M S ik 0.0001 mg/L 2 AT
95 [X/ I 0. 02mg/L L C/MS:(P) 0.00002 |mg/L 2 55507
96 [~y m 0. Img/L [E A — G C /M S ik 0.0001 mg/L 2 AT
97 | Ry e rmy 0. 09mg/L L C/MS:(P) 0.0003 mg/L 2 AT
98 [~y 7)oy F 0. 005mg/L L C/MS:(P) 0.00002 |mg/L 2 55507
99 | LK 0. 2mg/L L C/MS i (N) 0.00001 |mg/L 2 55507
100|RUF 4 A Y v 0. 3mg/L [E A — G C /M S ik 0.00001 |mg/L 2 55/
101|777 HL7 0. 04mg/L L C/MS:(P) 0.000004 |mg/L 2 55607
102X TLT Y (RRABYVY) 0.0lmg/L [E A — G C/M S ik 0.00001 |mg/L 2 55507
103| R 7L+ —k 0. 07mg/L A — G C/M S ¥ 0. 0006 mg/L 2 AT
104 [m2F7¥—F 0. 003mg/L [E i — G C/M S & 0.00002 |mg/L 2 507
06| 7575 (&5 7¥) 0. Tng/L E A — G C/MS i 0.00005  |"/" 2 #i5(i

(105)|~ 7 A x>V v mg/L

106 [ A =71~ 7 (MCPP) 0. 05mg /L L C/MS(N) 0.00002 |mg/L 2 55507
107 (v 3w 0. 03mg/L L C/MS(P) 0.00002 |mg/L 2 55507
108| A% T %L 0. 2mg/L E A H — G C/M S ik 0.00005 |mg/L 2 55507
109 | A F & F A (DMTP) 0. 004mg/L E A — G C/M S ik 0.00001 |mg/L 2 55507
110({AFS /A hEY 0. 04mg /L L C/MS(P) 0.0003 mg/L 2 55 A0
LHL[A MY TP 0. 03mg/L L. C/MS(P) 0.0003 mg/L 2 AN
112(x7 =% 0. 02mg/L [E A — G C/M S ik 0.00001  [mg/L 2 A
113 {2 F =/ 0. Img/L [ — G C/M S ¥ 0.00001 [mg/L 2 EoA
114V x—1 0. 005mg/L [ — G C /M S ik 0.00001  [mg/L 2 A
) BT o B3 T A4 2% ) AR E 7= 1355 i & 3,

GEMSIHH

w5 SHH Wit 75 ERTHE R tig | T
1 [ A ESR AL 0.01 mg/L 3 ERoA
2 |BfE~ 7 %> T A AAvru~ T 77 (BAAy) 0.2 mg/L 3 E3A
3 [BEINT T L A A ru~bT7 7% (BAAr) |10 mg/L 3 ELA
4 (BT UL AFroua< 777 (BGAAy) (0.2 mg/L 3 F T
5 |G (BiERA A4 2) A Avrsu~ 777 (B4 AY) (1.0 mg/L 3 E3UA
6 |7 hU DA AL 0. 001 — 4 ETRIA

| 7 |EBEA R R FHEE 0.01 mg/L. 3 R
8 |WAr B BEIR R AL 0.01 mg/L 3 524V

i B e 1 1 —
o [mmrrzn B e g 01 — 3 ok
> T ik =AY —

10 |iEfFRER ) v i 7 H]ﬁf Uﬁjﬁgf%w%%g;% 0.003 mg/L 3 3
11 |[lBfFEH RIv A 1 CP/MSik 0. 0003 mg/L 2 AR
12 [t Ly 1 CP/MSik 0.001 mg/L 2 ETRIA
13 [ifrsh 1CP/MSik 0. 001 mg/L 2 A
14 [iEfFe & 1 CP/MSik 0.001 mg/L 2 ETRIA
15 |EfF7 12 A I CP /MSik 0. 005 mg/L 2 ETRIA
16 [iEfrh v 3# 1 CP/MSik 0.01 mg/L. 2 oA
17 [EAFagn 1CP/MSik 0.01 mg/L 2 EA
18 [T =0 L 1 CP/MSik 0.01 mg/L 2 EPA
19 [Ifrek 1CP/MSik 0. 03 mg/L 2 EA
20 | A8 1CP/MSik 0.01 mg/L 2 ERA
21 |BlE~ v 1CP/MSik 0. 001 mg/L 2 R
22 [Efr=v I1CP/MSik 0. 001 mg/L 2 ETRIA

I CP/MS : FEMEE T 7 A~ BRIk
HPLC#: @diikiks n~ b7 771k

GC/MSik: HAru~ h7 T 7HESHE
LC/MSi# (P)
LC/MSi# (N)

ks m= N7 T TEELE (KYT 4 7TE—F)
ks m= N7 T TEELE (RAT 4 TE—F)

GEMSHHA : it RREBEBI N EM L TV 2 HIERBREER S 27 & /BKEH 2775 (GEMS/Wa ter)
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5l Lo R 2 o b A WY <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
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1400 i ik 24 F# <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
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9K vV 7 w =w = F L v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
20[~ v ¥ v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
2 & K O = o kb & W <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
Blr v = A kY EONAEW 0. 05 <0. 02 0.03 4 0.03 0. 02 0.03 4
34 |8k 3 [0} £ D e = L] 0.11 0. 06 0. 09 4 0. 06 0. 04 0.05 4
354l K& o) * D it & L <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
367 VU v oA KO ZE O AW 8.2 5.0 7.1 11 6.7 4.8 5.9 12
3|~ v v B W D b AW 0. 044 0.023 0.033 4 0.011 0. 007 0. 009 4
384 1k L) A 7+ > 10. 3 5.2 8.4 11 8.0 4.6 6.5 12
9By A v S x vy A% (T E) 22.1 13.2 17.7] 11 22.1 14.3 18.0 12
407 i % 7 W) 60 50 56 4 52 49 51 4
a4 A v R m 3% M Al <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
42| e 7+ 2 N | 0.000010] <0.000001| 0.000003| 11| 0.000002| <0.000001| 0.000001| 12
312 — A F L A4 YV R A A — | 0.000004] <0.000001| <0.000001[ 11| 0.000002| <0.000001| <0.000001| 12
413 4 A v/ om & Al <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
45| 7 - J — L M <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
WIEKY (EAKRHE (TOC) ©&) 2.18 1.00 1.42| 11 1.26 0.72 0.98| 12
47|pH il 7.7 7.2 7.4 11 7.5 7.3 7.4 12
49| 5L Al BEAaL| BEARL[ BEARL 11 #BEARL[ BEARL| REARL 12
50|, i 6.1 2.6 3.9 11 4.0 1.9 2.8 12
51 (% E 5.0 1.0 2.7 11 3.1 1.1 2.0 12
KBS B AR E T H
Ir ~ £ v kK W E 0 kAW <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
2lvy 7 v R W o fk & B <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
3l= v ¥ v B 2 o kb & B <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4
5|1,2- ¥ » o == <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
8| ~ v e v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
a7z 2 i Y (2-= F L ~F L) <0.008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
193tz #ife R it 3.1 1.8 2.4 4 2.2 1.8 2.0 4
20{1,1,1- ~ UV ¥ w wmw x X v <0. 001 <0.001 <0.001 4 <0.001 <0. 001 <0. 001 4
21| A F N -t- 7 F L = — F )b <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
28|18 & w® JE (T O N ) 7 3 5 4 5 2 3 4
29|1,1- ¥ # ®mw wu = F L v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
ZFDOMoEH
e = # T = N ) 0. 61 0. 37 0.49| 11 0. 64 0. 34 0.44| 12
5% j e ( T — P ) 0. 040 0.014 0.025 11 0. 020 0. 009 0.014| 12
6[ K [ e Bt 22, 000 19 3,200 11 16, 000 980 3,900 12
e Ry B R % k& ((C O D) 3.3 1.5 2.2| 11 2.3 0.9 L.ef 12
B[E Mk W B FEHERE (BOD) 1.3 0.5 0.9] 11 0.9 0.2 0.5 12
o F # ( D O ) 13.8 8.5 10. 7 11 12.5 8.4 10.2 12
10|fz ES 2 il 5 2 % 127 91 110| 11 109 101 105| 12
1y B ( S S ) 7 1 3 11 4 1 2| 12
1218 4k # W ¢ E (E 2 6 0 ) 0. 059 0. 009 0.033[ 11 0. 038 0.013 0.024| 12
137 N £ = 7 HE = F# 0. 04 <0. 02 <0. 02 11 <0. 02 <0. 02 <0. 02 12
14| 7 Jv 7 J FE 22.5 14.0 18.0] 11 21.0 13.5 17.0] 12
15| = = [ ES 90 57 771 11 84 57 71 12
M1 AFICAE10 H o E MRREBR IR 1k o 72 60 R
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K F X H Il K Y
£ 7K 5 3l JURKK A = B UK
T H i AR ¥ [E1 %% s A ¥
S iR 35.3 3.8 19.1 12 30.3 4.5 18.3
iR 23.0 7.1 15.3] 12 25. 1 7.4 15.6

K YETH H

1|— i Al B 5, 600 160 1,300| 12 4, 200 320 1, 600

2| x i ] 460 11 73] 12 310 9 70

3l K I v A K N o kA DY <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003

4k kWY 2 @ {b A M| <0.00005[ <0.00005| <0.00005 4 <0.00005| <0.00005| <0.00005

5l Lo R 2 o b A WY <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001

6lgn X ©w = o kb A W <0.001 <0.001 <0.001 4 <0. 001 <0. 001 <0. 001

Me £ kK O x o kA B 0. 002 <0. 001 <0. 001 4 0. 001 <0. 001 <0. 001

8l il 7 o A b A& Y <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005

9| il i e ES E3S <0. 004 <0. 004 €0.004| 12 <0. 004 <0. 004 <0. 004
W7 b A+ kOl y 7 v <0. 001 <0.001 <0.001 4 <0. 001 <0. 001 <0. 001

11(64 M 8 2= F & O # O B e E R 0.37 0.23 0.32[ 12 0. 44 0.22 0. 34
127 v #F Kk O o b B WY 0.14 0. 09 0.12 12 0.13 0. 07 0.11

Bl v £ kK O = © & & B <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
1400 i ik 24 F# <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
151, 4 — 2 4 * A v <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
167 ; ’/12}’ 7/1277 S z - 7,( 7);‘ (i <0. 002 <0.002 0.002| 4 <0.002 <0.002 0.002| 4
17> 7 = = A 4 v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
8 +F 7 ¥ w ow = F L v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
9K vV 7 w =w = F L v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
20|~ v ¥ v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
20 Kk O o kA& B <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
Blr v = A kY EONAEW 0. 04 0. 02 0.03 4 0.03 0. 02 0.03 4
34 |8k 3 [0} £ D e = L] 0.07 0. 04 0.05 4 0. 06 0. 04 0.05 4
354l K& o) * D it & L <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
367 VU v oA KO ZE O AW 6.2 4.2 5.5 12 6.8 5.1 5.9 12
3|~ v v B W D b AW 0.017 0. 007 0.012 4 0.010 0. 008 0. 009 4
384 1k L) A 7+ > 7.5 4.4 6.2 12 8.2 4.8 6.4 12
9By A v S x vy A% (T E) 20.7 11.6 16.0| 12 21.3 16.0 17.8] 12
407 i % 7 W) 55 44 48 4 53 44 49 4
a4 A v R/ oom & M Al <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
42| e Z 2 3 | 0.000002| <0.000001 0.000001| 12| 0.000003| <0.000001| 0.000001| 12
32 — A F L 4 Y R L R A — Af 0.000002] <0.000001| <0.000001| 12| 0.000002| <0.000001| <0.000001| 12
413 4 A v/ om & Al <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
45|~ M <0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
46|45 K (& K (TOC) @ &) 1.41 0.71 1.00| 12 1.28 0.71 0.99| 12
47|pH filf 7.4 7.1 7.3 12 7.4 7.3 7.3 12
49| 5L Al BEAaL| BEARL[ BEARL 12| ®EEARL|] HBEARL| REARL 12
50|, i 4.4 2.0 2.9 12 4.3 2.1 2.9 12
51 (% E 3.6 1.3 2.0 12 3.3 1.1 2.1 12
KBS B AR E T H

Ir ~ £ v kK W E 0 kAW <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4

2lvy 7 v R W o fk & B <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4

3[= v ¥ v B Y 2 O kb A& WY 0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4

5|1,2- ¥ » o == <0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4

8| ~ v - v <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4

a7z 2 i Y (2-= F L ~F L) <0.008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
19(3t% it 17 it 2.2 2.2 2.2 4 2.6 1.8 2.2 4
2011,1,1- F YV 7 w w = X v <0.001 <0. 001 <0.001 4 <0.001 <0. 001 <0. 001 4
21| A F N -t- 7 F L = — F )b <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
23| K BRJE (T O N ) 6 2 5 4 7 3 5 4
29|1,1- ¥ # ®mw wu = F L v <0.001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
ZFDOMoEH

e = # T = N ) 0. 45 0.33 0.39 12 0.55 0. 30 0. 43

5% j e ( T — P ) 0. 031 0. 009 0.015| 12 0.023 0.011 0.016

6[ K [ e Bt 15, 000 750 4,600 12 16, 000 1, 300 5, 000

TME ¥ B B F OE R & (C O D) 2.6 1.0 1.8 12 2.4 1.2 1.8

B[E Mk W B FEHERE (BOD) 1.1 0.4 0.6] 12 1.0 0.3 0.6

o F # ( D O ) 12.8 7.7 10.0 12 12.8 8.1 10. 1

10|z ES fia il Fi Gy R 109 92 101 12 110 99 102

) % K ( S S ) 4 1 2| 12 4 <1 2

1218 4k # W ¢ E (E 2 6 0 ) 0. 044 0.014 0.025| 12 0. 040 0.013 0. 024

13| 7 v O® = 7 & % # <0. 02 0. 02 <0.02[ 12 <0. 02 0. 02 0. 02

14| 7 Jv 7 J FE 19.5 11.0 14.9] 12 20.0 15.0 17.0

15|®& B [ H B 79 46 65 12 82 60 71
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Pk 0 (GEMS/Water BiE)

H H [ 5 | 5% 15[ ¥)[E %%
pH i 7.5 7.3 7.4 12
7 JL 7 ] JE 21.0 13.5 17.0 12
7 = = H &S 84 57 71 12
s 17 i3 # 12.5 8. 4 10. 2 12
i3 ES ji Fn E 109 101 105 12
K i 25. 6 6.6 15. 7 12
w O W B ( S ) 4 1 2 12
75 B % oo k4| 52 49 51 4
% 17 fe 4 ] D2 0.014 0. 004 0. 008 12
4 ] % 0. 020 0. 009 0.014 12
7 N S = 7 & = ES <0. 02 <0. 02 <0. 02 12
% 17 fig H 1 %= ES 0.12 <0.01 0. 05 12
OB ORE = O & O MRS MR B ES 0. 40 0. 25 0.35 12
woOF = J 3 v % A 1.1 0.8 1.0 12
% 17 7 o * 0.13 0. 08 0.11 12
i 17 Ea ~ Y % 2 6.7 4.8 5.9 12
% 17 v )b 2 % 2 7.0 4.4 5.7 12
i 17 & Y % 2 1.0 0.7 0.9 12
b 1 k4] A 7 D2 8.0 4.6 6.5 12
Wi o® WO B M o4 A ) 5.0 3.8 4.3 12
5 b~ ) % N - 3. 634 2.977 3. 263 12
% 17 e il i R F 1. 14 0. 64 0. 86 12
Ve b & il H 2 ES 0.22 0. 05 0.12 12
o il i iR ES 1.26 0.72 0.98 12
O (O S R I s 0.9 <0. 2 0.5 12
b % W B F W ' o 2.3 0.9 1.6 12
X iz ] 330 13 62 12
IS 15 B Tt 16, 000 980 3, 900 12
w T v S = % 2 <0. 02 <0. 02 <0. 02 4
® 7 JL N = v N 0.03 0. 02 0.03 4
% 17 t ES 0. 001 <0.001 <0. 001 4
i = # 0.001 <0. 001 <0. 001 4
e 17 2 v % <0. 02 <0. 02 <0. 02 4
w R v # <0. 02 <0. 02 <0. 02 4
e 17 7 K g % N <0. 0003 <0. 0003 <0. 0003 4
w 7 K 2 % N <0. 0003 <0. 0003 <0. 0003 4
e 17 Vi =1 N <0. 005 <0. 005 <0. 005 4
w Vi o N <0. 005 <0. 005 <0. 005 4
e 17 $fi <0. 02 <0. 02 <0. 02 4
w i <0. 02 <0. 02 <0. 02 4
% 17 £k <0. 03 <0. 03 <0.03 4
® £k 0. 06 0. 04 0. 05 4
% 17 $h <0. 001 <0.001 <0. 001 4
® §n <0. 001 <0. 001 <0. 001 4
% 17 < v il 2 <0. 005 <0. 005 <0. 005 4
® ~ 2 5 % 0.011 0. 007 0. 009 4
7K SR[ <0.00005] <0.00005] <0.00005 4
s 17 = > r L <0. 002 <0. 002 <0. 002 4
= 2 r v <0. 002 <0. 002 <0. 002 4
VA 17 + % v <0. 001 <0. 001 <0. 001 4
& + L P2 <0. 001 <0. 001 <0. 001 4
s 1F i i <0. 02 <0. 02 <0. 02 4
i i <0. 02 <0. 02 <0. 02 4
7 - J — v $H <0. 0005 <0. 0005 <0. 0005 4
~ Dz + 2 <0. 001 <0. 001 <0. 001 4
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(2) K5

i K 5 ZF H W 7K 5
% 7K P B0 Jiit 7K 28 < ) K
H H |55 5 | % 1K 12l BT 5 | K| 12 B
e i 34.5 3.5 18.3[ 239 29.5 5.0 17.0f 12
7K i 26. 1 6.5 15.7) 239 26. 4 8.3 16.7] 12
KEFEHEIE H
1|— LS il i 17, 000 68 1,500 51 130 41 12
2 | K i 820 2 91 51 6 <1 2 12
3 K I v A KO E O AE Y <0. 0003 <0. 0003 <0. 0003 4
4k B/ R O o b & |l <0.00005]  <0.00005]  <0.00005 4
5 L v B W 2 o kb A WY <0. 001 <0. 001 <0. 001 4
65 XK o) Z D b & <0.001 <0. 001 <0. 001 4
7l £ K W o k£ A B 0. 001 <0. 001 <0. 001 4
8 | fifli Vi o N it & <0. 005 <0. 005 <0. 005 4
9 | i 24 T = ES <0. 004 <0. 004 <0. 004 4
10> 7 v bk A 4+ v kYT v <0. 001 <0. 001 <0. 001 4
11[f e fB % K K O° HE AH M B = R 0. 39 0.33 0. 38 4
127 v # Kk O X o A& B 0.15 0.07 0.11] 51
Bl v #F kE O x o {k & B <0. 02 <0. 02 <0. 02 4
149 b ik R ES <0. 0002 <0. 0002 <0. 0002 4
151, 4- B %+ * 4 v <0. 005 <0. 005 <0. 005 4
v A -1,2- Y 7 muxF Ly kO
L) RO e vsoa=arr o <€0. 002 <0. 002 <0. 002 4
17| v o = A 2 2 <0. 001 <€0. 001 <€0. 001 4
8l +~ 3 v o owv = F L <€0. 001 <0. 001 <0. 001 4
9 vV v w v = F L v <€0. 001 <€0. 001 <0. 001 4
20 |~ Dz + v <€0. 001 <0. 001 <0. 001 4
21 | ES /3
2217 =] = filE ik
237 =i =i Rz JV N
24 |2 7 = = e [
2%l 7 v ¥ 7 v oua A v
265 % B
27 [ b ] N =t A Fd ¥
28|k ) 7 =3 = e [
29|17 v ® ¥ v v v X K v
30 (7 = £ 7R L N
R 7 T K
2[4 Kk W X o b A ! <0. 02 <€0. 02 <0. 02 4
33|17 L I = A KO EDOILED 0. 14 0. 02 0. 07 4
34 |8k & o) - [2) 1t 5 W 0.21 0. 04 0.11 4
3Bl Kk % ok & Y <0. 02 <0. 02 <0. 02 4
36| K U v oA K K EZE O LAWY 6.6 3.8 5.7 51
3~ v H v kR W X O b AW 0. 026 0. 006 0.014 4
38 |4 & L2 A A+ P 7.6 3.6 6.3 51
9|y A, = xRy N () 21.8 12.3 17.9[ 51
40 |78 i ik o) L) 72 49 59 4
41l A4 A v R m 3E M Al <0. 02 <0. 02 <0. 02 4
42| = %+ Z 3 Dz 0. 000003 1
43)2- A F v A4 Y R NV R F — )b <0. 000001 1
4P 4 A+ R wm & M A <0. 005 <€0. 005 <€0. 005 4
45|~ = J — v e <0. 0005 <0. 0005 <0. 0005 4
W6|EHY (2 AKmKE (TOC)DHE) 2.76 0.61 1.00] 51 0. 60 0. 35 0. 46 12
47 |pH fil 7.4 7.2 7.3] 239 7.0 6.7 6.9] 12
48 I8
49| R K| ORERL| O REARL| REAL| 239 REAL| BEAL| BEEARL 12
50 |3, i 10 1.5 2.9] 239 0.7 0.5 0.5] 12
51 [ 3 49 0.8 3.1] 239 0.4 0.1 0.2] 12
KOS B H A H
1|7 v F = v kE XX 0 k& WY <0. 001 <0. 001 <0. 001 4
2l 7 v R OO T o b A W <0. 0002 <0. 0002 <0. 0002 4
3|l= v ¥ v B O 2 o kA& Y <0. 002 <0. 002 <0. 002 4
5(1,2- v 7 = A <0. 0002 <0. 0002 <0. 0002 4
8 |k v ES Dz <0. 001 <0. 001 <€0. 001 4
9|7 # LY @G- F L~ F ) <0. 008 <0. 008 <0. 008 4
Bly 7 o v 7 & + = + U
14 [#a 7K 7 = 7 — JL
1615% B M K F BE 5% W O R )
19 |3tz i R fii 3.1 1.8 2.7 4
20|1,L,1- kU 7 ®wm m = & v <€0. 001 <0. 001 <€0. 001 4
20| A F NV - T F L T — F L <€0. 001 <0. 001 <0. 001 4
2|8 & m B (T O N ) 10 5 8 4
| & M (7 v U T 4R )
28 |9t & ES 1 bl B
29/1,1- ¥ ¥ w w == F L v <0. 001 <0. 001 <0. 001 4
Z DO DIEH
137 Y ® = 7 0w =z % 0. 02 <0. 02 <0.02] 51
4|7 JL 7 Jj & 22.5 11.0 17.1] 51
15 [ & = i ES 87 49 71| 239 87 66 77 12
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e 5 7K %

[ it K

H H [ 5] | h [ K| 12 B
= it 12 34.5 3.5 18.3[ 239
7K i 12 27.3 7.3 16.5[ 239
KEFEHEIE H

1 B 12 0 0 ol 51
2 12 A A A 51
3 [ <0. 0003 <0. 0003 <0. 0003 4
4 [ <0.00005]  <0.00005]  <0.00005 4
5 [ <0. 001 <0. 001 <0. 001 4
6 i <0. 001 <0. 001 <0. 001 4
7 i <0. 001 <0. 001 <0. 001 4
8 i <0. 005 <0. 005 <0. 005 4
9 | ES <0. 004 <0. 004 <0. 004 4
10+ 2 <0. 001 <0. 001 <0. 001 4
11 | ES 0. 40 0. 35 0. 37 4
12|~ i 0.12 0.08 0.10] 51
13 [ ) <0. 02 <0. 02 <0. 02 4
14 g ES <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- v <0. 005 <0. 005 <0. 005 4
16 f 9 <0. 002 <0. 002 <0. 002 4
17> v <0. 001 <0. 001 <0. 001 4
187 2 <0. 001 <0. 001 <0. 001 4
19] K v <0. 001 <0. 001 <0. 001 4
20 [~ v <0. 001 <0. 001 <0. 001 4
21 [t A 0. 06 <0. 05 <0. 05 4
22 A <0. 002 <0. 002 <0. 002 4
23|/ N 0. 005 0. 001 0. 003 4
24| [ 0. 004 <0. 002 0. 003 4
25| 7 2 0. 002 <0. 001 <0. 001 4
26 | 5. fi <0. 001 <0. 001 <0. 001 4
27 |4 2 0.011 0. 003 0. 007 4
28 | k fi 0. 003 <0. 002 <0. 002 4
297 2 0. 004 0. 002 0. 003 4
30 (7 N <0. 001 <0. 001 <0. 001 4
31 & K <0. 005 <0. 005 <0. 005 4
32 [ i) <0. 02 <0. 02 <0. 02 4
33(7 I 0. 02 <0. 02 <0. 02 4
34 8% i) <0. 03 <0. 03 <0. 03 4
35 |4 i) <0. 02 <0. 02 <0. 02 4
36 [ i) 8.7 6.1 7.5 51
37 [= i) <0. 005 <0. 005 <0. 005 4
| 38 |3 v 10. 1 6.3 7.8] 51
39 [# LY TRy N (R E) 22.4 12.9 18.4[ 51
40 |7 ; 5 i) 59 49 55 4
2 i <0. 02 <0. 02 <0. 02 4
42| 3 2 0. 000003 1
43 [2- JL 0. 000001 1
44 |3 | <0. 005 <0. 005 <0. 005 4
45|~ e <0. 0005 <0. 0005 <0. 0005 4
46 (TOC)®H) 12 0. 63 0. 34 0.46] 51
47 fil 12 7.4 7.0 7.3[ 239
48 12 HEEaL| EELRL] EEASL[ 239
49| R ) 12| EEAaL| EEALL] EEARL[ 239
50 |3, i 12 0.5 0.5 <0.5] 239
51 [ 3 12 <0. 1 <0. 1 <0.1] 239
KEE

1|7 ) <0. 001 <0. 001 <0. 001 4
217 L/ <0. 0002 <0. 0002 <0. 0002 4
3 [= A S ) ) <0. 002 <0. 002 <0. 002 4
5 |1, % <0. 0002 <0. 0002 <0. 0002 4
8 |k Dz <0. 001 <0. 001 <0. 001 4
9|7 # LY @G- F L~ F ) <0. 008 <0. 008 <0. 008 4
13| v <0. 001 <0. 001 <0. 001 4
14 |4 v 0. 002 <0. 001 <0. 001 4
16 |5% ) 12 1.0 0.5 0.8] 239
19 |3 % 3.1 2.6 2.9 4
20 D2 <0. 001 <0. 001 <0. 001 4
21 L <0. 001 <0. 001 <0. 001 4
23 ) <1 <1 <1 4
27 ) -2.1 -2.5 -2.3 4
28 T 0 0 0 4
29 % <0. 001 <0. 001 <0. 001 4
Z DO DIEH

13 %=

14 & 19.5 14.5 17.0 4
15 ES 12 98 63 82| 239




e K % ik Ei i 7K %
% 7K P B0 Jiit 7K 28 < ) K
H H |55 5 | % 1K B la] 5| 5 | K| 12 B
e i 35. 2 3.0 18.1[ 239 26. 2 4.2 16.5 12
7K i 28. 1 6.3 15.6[ 239 25.6 8.2 15.8 12
KEFEHEIE H
1|— LS il i 6, 300 54 790] 51 160 36 12
2 | K i 190 5 41 51 11 <1 1 12
3 K I v A KO E O AE Y <0. 0003 <0. 0003 <0. 0003 4
4k B/ R O o b & |l <0.00005]  <0.00005]  <0.00005 4
5 L v B W 2 o kb A WY <0. 001 <0. 001 <0. 001 4
65 XK o) Z D b & <0.001 <0. 001 <0. 001 4
7l £ K W o k£ A B 0. 001 <0. 001 <0. 001 4
8 | fifli Vi o N it & <0. 005 <0. 005 <0. 005 4
9 | i 24 T = ES <0. 004 <0. 004 <0. 004 4
10> 7 v bk A 4+ v kYT v <0. 001 <0. 001 <0. 001 4
11[f e fB % K K O° HE AH M B = R 0.38 0.33 0. 35 4
127 v # Kk O X o A& B 0.15 0.07 0.11] 51
Bl v #F kE O x o {k & B <0. 02 <0. 02 <0. 02 4
149 b ik R ES <0. 0002 <0. 0002 <0. 0002 4
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20l F v —t— 7 F b = — F J| <0.001] <0.001| <0.001 4 <€0.001| <0.001] <0.001 4
23|12 & o jE ( T O N ) 9 5 7 4 <1 <1 <1 4
| & (7 v U T4 %) 2.0 2.4 EXIE
28 |9t = ES ® il i 1 0 0 4
2901,1- ¥ v w w =x= F L | <0.001| <0.001] <0.001 4 <€0.001| <0.001] <0.001 4
Z DO DIEH

137 > £ = 7 & = ES 0.03 <0. 02 €0.02| 12 <€0.02 <€0.02 <€0.02 12

4|7 iz il ) & 19.5 13.0 16. 4 4
15 |%& K 1= 3 S 83 57 71 12 82 66 74 12 83 67 74 12

31




i K 5 WOk K EHE A 7 — ¥ oa v
o 7K 5 B0 Jii 7K i 7K
H H |5 5 | % 1K B la] 5| | fix 1K Bl %K
S i 25. 2 1.1 13.8) 12 25. 2 .1 13.8 12
7k i 19.8 5.1 12.2f 12 20. 9 6.0 13.0f 12
KEFEHEIE H
1|— i il i 880 4 110 12 0 0 0 12
2 |k [ 370 <1 36[ 12 A A AR 12
3 K I v A KO E O AE Y <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003 4
4k R R OO = o b & | <0.00005]  <0.00005]  <0.00005 4] <0.00005]  <0.00005]  <0.00005 4
5l v vy R 2 o kb A Y <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
6lsn % O = o b A& W <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
7le 2 B O %2 o kb & B 0. 001 <0. 001 <0. 001 4 0.001 <0. 001 <0. 001 4
8l Mz o A kA W <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
9 | fi§ i i % ES <€0. 004 <0. 004 <0. 004 4 <0. 004 <0. 004 <0. 004 4
0| 7 v ieWw A 4 v kOl T~ <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
11 (fY M AE 2 B K& O W ORH M ok = R 0.44 0. 37 0. 39 4 0. 46 0.37 0. 40 4
2z v #F K 0 o A& W <0. 05 <0. 05 <0.05] 12 <0. 05 <0. 05 <0.05] 12
Bk v F kK O 2 o kb & B <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
149 i ik R F <€0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
151, 4- B %+ * 4 v <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
v A -1,2- Y 7 muxF Ly kO .
L) RO e vsoa=arr o <€0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4
17> Vi o o A 2 v <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
B8l + 3 7 v v = F L <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
9[r vV 7 v B = F L v <€0. 001 <€0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
20 [~ v + v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
21 | ES /3 0. 30 0. 07 0.16 4
222 o o e A <0. 002 <0. 002 <0. 002 4
23|/ =1 = A v 2 0. 006 0. 002 0. 004 4
24| Vi o 5] ik i 0. 005 <0. 002 0. 004 4
%Y 7 w ® J w ow A B <0. 001 <0. 001 <0. 001 4
26 [ R ES i3 <0.001 <0.001 <0. 001 4
27 |} k ] N = A 2 Pz 0. 009 0. 003 0. 006 4
28| k ] Vi o o e fig 0. 007 0. 002 0. 005 4
9|7 v ® ¥ y w ow A B v 0. 003 0.001 0. 002 4
30 (7 o £ & v 2 <0. 001 <0. 001 <0. 001 4
sif= A~ A ¥ A F K <0. 005 <0. 005 <0. 005 4
2 K B o b A W <€0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
Bl7r v I = A4 B E DAY 0. 09 <0. 02 0. 04 4 <0. 02 <0. 02 <0. 02 4
Mg w2 o kb AW 0. 09 <0. 03 0. 04 4 <0. 03 <0. 03 <0. 03 4
35181 K [0} z D 1t & <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
36| K U v oA K K EZE O LAWY 4.8 3.7 4.3 12 5.9 4.5 5.3 12
3~ v H v kR W X O b AW <0. 005 <0. 005 <€0. 005 4 <0. 005 <0. 005 <0. 005 4
| 38 |3 ft L A N > 3.3 2.7 3.1 12 4.7 3.7 4.1 12
[ A s x vy N (FEE) 12.9 9.9 11.6[ 12 12.9 9.7 11.6[ 12
40 |7 b 7 7 i) 47 37 43 4 47 37 43 4
NMEEE I | <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
42| = 7+ Z 3 2 <0. 000001 1 <0. 000001 1
43)12- A F v A4 V) KR LV F F — L <0. 000001 1 <0. 000001 1
4P 4 A+ R wm & M A <0. 005 <€0. 005 <€0. 005 4 <0. 005 <0. 005 <0. 005 4
45 |7 = J — v HH <€0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
WlEHY (EABRE (TOC)DHE) 3.77 0. 26 0. 89 12 1.51 0. 24 0.51 12
47 |pH fil 7.4 7.2 7.3] 12 7.5 7.3 7.4 12
48 S Bl EEAL2L[ BEALRL[ 12
49| R | BEARL| RERL] RBERL 12 RERL| RERL| RERL 12
50 |3, i 4.7 1.0 2.3 12 1.5 0.5 0.5] 12
51 [ 3 20 0.1 3.0l 12 <0. 1 <0. 1 0.1] 12
KOS B H A H
1|7 v F = v Rk %2 0 b & W <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
20l 5 v R oW E o b AW <€0. 0002 <€0. 0002 <€0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
3= v ¥ v B WX X Ot AW <€0. 002 <€0. 002 <€0. 002 4 <0. 002 <0. 002 <0. 002 4
5(1,0- v s o A <€0. 0002 <€0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
8 |k v = v <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
9|7 # v Y - F L~ F ) <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
B|Y 7 v v 7 & F = F U <0. 001 <0. 001 <0. 001 4
14 [$ K 7 = 7 — S 0.001 <0. 001 <0. 001 4
16(7% B B O F (F B 7k &8 OE OE ) 1.3 0.6 039 12
19 |3tz i R fii 2.2 1.8 2.0 4 2.2 1.8 1.9 4
20]1,1,1- F V ¥ ®w w T X v <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
20| A F NV - T F L T — F L <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
2|8 & R E (T O N ) 1 1 1 4 <1 <1 <1 4
27 & M (7 v F U T O ) -2.3 -2.7 -2.5 4
28 % & % 1% Ml [l 9 0 4 4
29[1,1- ¥  w w = F L v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
Z DO DIEH
137 v £ = 7 e z * €0. 02 <0. 02 <0. 02 12
4|7 JL 7 Jj & 15.5 11.0 14.1 4
15|%& & f= i 3 52 41 47 12 57 45 52 12
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e K Y i) & 7K

[ 7K % gl ook 1 5 H Ok 2 & i K

5 Al mile  K[¥ ek &Sk K¥E 9 il o e

= 1 29.7 2.9 17.3 12 29.7 2.9 17.3 12 29.7 2.9 17.3

K it 17.0 15.2 16.2 12 17.3 15.4 16.2 12 18.0 14.8 16.5
KEAEE H

1| 3 Sl 2 0 0 12 0 0 0 12 0 0 0 12
PRES 15 <1 <1 <1 12 <1 <1 <1 12| AR A R 12
3 K 2 v A BN ZF DAL A& W <0.0003] <0.0003] <0.0003 4| <0.0003| <0.0003| <0.0003 4] <€0.0003| <0.0003| <0.0003 4
Ak B, OK O o kb A ] <0.00005] <0.00005] <0.00005 4] €0. 00005 <0. 00005] <0. 00005 4 €0. 00005 <0. 00005] <0. 00005 1
5 v v B O 2 ® kb A& Wl <o.001] <o.001f <0.001 4] <0.001| <0.001| <0.001 4] <0.001[ <0.001]| <0.001 4
616 K O *x  » b A& W] <o.001] <o0.001] <0.001 4] <0.001[ <0.001| <0.001 a4 <0.001| <0.001] <0.001 4
e £ KB O 2 o k& B 0.015 0.012 0.014 4 0. 004 0. 004 0. 004 4] <0.001| <0.001]| <0.001 4
8N M 7 = L b A M| <0.005] <0.005] <0.005 4] <0.005[ <0.005| <0.005 4| <0.005| <0.005] <0.005 4
9 | fil§ [ e S #| <0.004| <0.004] <0.004 4| <0.004| <0.004] <0.004 4] <€0.004f <0.004| <0.004 4
107 b A4 A > F Ok > 7 > <o.001] <0.001] <0.001 4] <0.001| <0.001| <0.001 4| <0.001| <0.001] <0.001 4
11|RY e B 28 2% M OV 0 Y MR B | # 0. 49 0. 48 0. 49 4 1.56 1.38 1.50 4 0. 50 0. 47 0. 49 4
1217 v # Kk O % O b & W 0.16 0.15 0.15 12 €0.05 €0. 05 €0. 05 12 0.15 0.11 0.15 12
BlA v £ k O 2 o b & B <€0. 02 <€0. 02 <0. 02 4 <0. 02 <€0. 02 <€0. 02 4 <€0. 02 <0. 02 <0. 02 4
14 {4 b0 it R #| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002 4] <0.0002[ <0.0002| <0.0002 4
151, 4- DA 7 % VA | <0.005| <0.005] <0.005 4] <0.005[ <0.005| <0.005 4] <€0.005 <0.005| <0.005 4
16 f ; ji: 712//7 lj Z § z ; ; Aé Zﬁ €0.002[ <0.002| <0.002 4] <0.002[ <0.002| <0.002 4] <0.002[ <0.002| <0.002 4
17> 7 =4 A X 2| <0.001| <0.001f <0.001 4 <0.001| <0.001| <0.001 4| <0.001] <0.001| <0.001 4
8l +~ 2 7 v w = F L | <o.o001] <o.001f <0.001 4] <0.001| <0.001| <0.001 4] <0.001[ <0.001]| <0.001 4
19 Y) 7 =4 o =T F L | <0.001] <0.001f <0.001 4 <0.001| <0.001| <0.001 4| <0.001] <0.001| <0.001 4
20 [~ v ¥ | <0.001] <0.001] <0.001 4] <0.001| <0.001| <0.001 4] <0.001[ <0.001]| <0.001 4
21 |4 ES fie 0. 08 <0. 05 0.05 4
222 = = filE fi& €0.002|  <0.002| <0.002 4
237 = = 7R v I <0.001| <0.001| <0.001 4
24 |2 7 = = HE i’ €0.002| <0.002| <0.002 4
25|y 7 v ® J mw ow A E v €0.001| <0.001| <0.001 4
26 | 5. ES i’ €0.001| <0.001] <0.001 4
27 |#& k ) N1 A b4 v <€0.001| <0.001| <0.001 4
28| b D) 7 = =4 [if3 i’ <0.002| <0.002] <0.002 4
29|17 v ® Y  w ow A K VU <0.001| <0.001| <0.001 4
30 |7 =4 £ R v N <0.001| <0.001| <0.001 4
31| JV A 7 IV v = r <0.005] <0.005| <0.005 4
208 & &k O £ o b & W €0. 02 €0. 02 €0. 02 4 €0. 02 €0. 02 €0. 02 4 <0.02 €0.02 <0. 02 4
B|I7 V=9 kO ZTOILAEDY <€0. 02 <€0. 02 <€0. 02 4 <€0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
34 |8k M [0} z D [ = W) <0. 03 <0. 03 <0.03 4 <0.03 <0.03 <0.03 4 <0. 03 <0. 03 <0. 03 4
3B K O 2 o k& W <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4 <€0. 02 <€0. 02 <€0. 02 4
6 U YA KN FE O EW 8.3 8.0 8.1 12 9.6 9.4 9.5 12 8.8 8.4 8.6 12
M~ v H v k O & O b A& W] <0.005] <0.005| <0.005 4]  <€0.005| <0.005| <0.005 4| <0.005| <0.005| <0.005 4
| 38 |4 1t ) A 7+ D2 4.8 1.6 47 12 7.4 6.9 7.2 12 5.3 5.1 5.2 12
V| N T A, Ty N (B E) 41.3 39.8 40. 4 12 76.7 73.2 75. 1 12 41.7 39.9 40.7 12
40 | 7% B % 12 W) 91 83 88 4 144 136 139 4 94 91 93 4
10 A F v HK o om F M A <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
421 S 7+ A N b 0.000001 1 0. 000001 1 0. 000001 1
43[2- X F v 4 VK NV R A — b 0.000001 1 0. 000001 1 0. 000001 1
40k 4 A& v F o & M #| <0.005|  <0.005] <0.005 4] <€0.005| <0.005| <0.005 4| <0.005| <0.005| <0.005 4
45|~ = ) = JV J7| <0.0005| <0.0005| <0.0005 4| <0.0005| <0.0005| <0.0005 4] <0.0005| <0.0005| <0.0005 4
6(HHY (A RFE (TOC) D) <0.20]  <o0.20[ <o.20] 12 0.32 0.24 0.20] 12] <020 <o.20]  <o.20] 12
A7 |pH il 6.8 6.7 6.7 12 6.7 6.5 6.6 12 6.9 6.8 6.9 12
48 S i T B T
49 | B RUBEARL|RERL|BEAL| R|BEERL[BEAL|RERL] 12| BERL|EERL[EHEAL] 12
50 [, iy €0.5 €0.5 €0.5 12 €0.5 €0.5 €0.5 12 €0.5 €0.5 €0.5 12
51 | i <0. 1 <0. 1 <0. 1 12 <0. 1 <0. 1 <0. 1 12 <€0. 1 <€0. 1 <€0. 1 12
KB B H R RE I H

17 v F = v Kk O % O {4 W <0.001] <0.001| <0.001 4| <0.001| <0.001| <0.001 4| <0.001| <0.001| <o0.001 4
21l 5 v K O F ® b & | o0.0068 0.0062] 0.0066 4| 0.0027| 0.0026| 0.0027 4| 0.0003| <0.0002| <0.0002 4
3 |l= v & v Kk O F O kb & Wl <0.002] <0.002] <0.002 4] <0.002| <0.002| <0.002 4| <0.002| <0.002| <0.002 4
51,2- ¥ 7 = oo & | <0.0002| <0.0002| <0.0002 4| <0.0002| <0.0002| <0.0002 4] <0.0002| <0.0002| <0.0002 4
8 |k IV T | <0.001| <0.001] <0.001 4| <0.001| <0.001| <0.001 4] <0.001| <0.001| <0.001 4
9|l # Lviipgy = F L~F L) <0.008| <0.008| <0.008 4] <0.008| <0.008| <0.008 4]  <0.008| <0.008| <0.008 4
Bly 7 o aov 7 & k= ks U <€0.001| <0.001| <0.001 4
14 148 K 7 & 7 — S <0.001| <0.001| <0.001 4
16178 B MR B (b B 7k B O K ) 0.8 0.7 0.8 12
19 |k Hife % i 22.0 16.3 18.9 4 50. 6 40.9 45.8 4 16.3 8.8 12.9 4
20(1,1,1- K~ U 7 w w = & | <0.001] <0.001] <0.001 4| <0.001| <0.001| <0.001 4| <0.001| <0.001] <0.001 4
21| F v —t— 7 F ) = — F JL| <0.001] <0.001] <0.001 4| <0.001| <0.001] <0.001 4] <0.001| <0.001] <0.001 4
2R A @ E (T O N ) <1 <1 <1 4 <1 <1 <1 4 <1 <1 <1 4
| A (T v Y TR ) 1.8 1.9 1.9 4
28 [t = ES ® il i 0 0 0 4
2901,1- ¥ - w w = F L | <0.001] <0.001] <0.001 4| <0.001| <0.001] <0.001 4] <0.001| <0.001] <0.001 4
Z DO DIEH

137 v £ = 7 HE ESE S <€0. 02 <€0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02 12

4|7 iz il ) & 47.0 44.0 45.6 4
15 |%& K 1= 3 S 123 120 123 12 200 194 197 12 126 123 125 12
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s 5 K S e X

2 i I K K

H H |55 5 | % S B la] 5| [ 1K B|lnl %%
B i 23.0 1.4 12.8 12 23.0 1.4 12.8] 12
K i 13.5 10.7 12.6] 12 15.7 11.5 13.4f 12
KEFEHEIE H

1 i 0 0 ol 12 0 0 ol 12
9 <1 <1 <1 12 AR H A A 12
3 [ <0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003 4
4 #]  <0.00005]  <0.00005]  <0.00005 4] <0.00005]  <0.00005]  <0.00005 4
5 [ <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
6 i <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
7 i 0. 025 0.015 0. 021 4 <0. 001 <0. 001 <0. 001 4
8 i <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
9 | ES <€0. 004 <0. 004 <0. 004 4 <0. 004 <0. 004 <0. 004 4
0] v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
11 | ES 0.28 0. 26 0. 27 4 0. 26 0. 25 0. 26 4
12|~ i 0. 48 0.31 0.38] 12 0. 38 0. 32 0.35] 12
13 | i <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
14 g ES <€0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
151, 4- v <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
16 f (f <€0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4
17| v <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
187 v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
19] K v <€0. 001 <€0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
20 [~ v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
21 [t A 0.07 <0. 05 <0. 05 4
22 A <0. 002 <0. 002 <0. 002 4
23|/ A <0. 001 <0. 001 <0. 001 4
24| fi <0. 002 <0. 002 <0. 002 4
25| 7 Pz <0. 001 <0. 001 <0. 001 4
26 | 5. fi <0. 001 <0. 001 <0. 001 4
27 |4 Pz <0. 001 <0. 001 <0. 001 4
28 | k fi <0. 002 <0. 002 <0. 002 4
297 Pz <0. 001 <0. 001 <0. 001 4
30 (7 A <0. 001 <0. 001 <0. 001 4
31 & K <0. 005 <0. 005 <0. 005 4
32 [ i) <€0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
33(7 i) <0. 02 <€0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
34 8% i) <0. 03 <0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03 4
35 |4 i) <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
36 [ i) 6.4 5.8 6.0 12 6.6 6.1 6.4 12
37 [= i) <0. 005 <0. 005 <€0. 005 4 <0. 005 <0. 005 <0. 005 4
| 38 |3 > 3.1 3.0 3.1 12 3.6 3.5 3.6[ 12
39 [# YY) 40. 2 32.8 35.6] 12 35. 7 33.0 34.6] 12
40 |7 ; 5 i) 74 68 71 4 72 65 68 4
2 i <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
42 (v 3 2 <0. 000001 1 <0. 000001 1
43 [2- v <0. 000001 1 <0. 000001 1
44 |3 | <0. 005 <€0. 005 <€0. 005 4 <0. 005 <0. 005 <0. 005 4
45 |7 HH <€0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
46 (TOC)®H) <0. 20 <0. 20 <0.20[ 12 <0. 20 <0. 20 <0.20] 12
47 fil 7.7 6.9 7.2] 12 7.4 7.0 7.2 12
48 BEpLl HELRL[ AELRL 12
49| R | BEARL| RERL] RBERL 12 RERL| RERL| RERL 12
50 |3, i <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 [ 3 <0. 1 <€0.1 €0.1 12 <0. 1 <0. 1 0.1] 12
KEE

1|7 7 <0. 001 <0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
2 | i) 0. 0006 0. 0003 0. 0005 4 <0. 0002 <0. 0002 <0. 0002 4
3 [= ) ) <€0. 002 <€0. 002 <€0. 002 4 <0. 002 <0. 002 <0. 002 4
5 |1, v <€0. 0002 <€0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
8 |k Dz <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
9|7 # v Y - F L~ F ) <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
13| v <0. 001 <0. 001 <0. 001 4
14 |41 v <0. 001 <0. 001 <0. 001 4
16 |7% ) 0.8 0.6 0.7] 12
19 |3tz fii 7.5 3.1 5.2 4 7.5 5.3 6.0 4
20 % <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
21 I <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
23 ) <1 <1 <1 4 <1 <1 <1 4
27 ) -1.5 -2.0 -1.7 4
28 T 0 0 0 4
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9 [ il [iZd HE = ES <0. 004 <0. 004 <0. 004 4
0|7 e A 4+ ROy T v <0. 001 <0. 001 <0. 001 4
11 [fY B2 RE 22 R K OC Wi AY BB BB = R 0. 40 0.31 0. 35 4
12|17 v # Kk X %2 O b &9 0.11 0. 09 0. 10 12 0.12 0. 08 0. 10 12
BIA v F k O 2 O b & B <0. 02 <0. 02 <0. 02 4
14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- ¥ %+ X + ~ <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk .

16 FS Y x v saasFL <0. 002 <0. 002 <0. 002 4
17| Vi o o 2 2 Dz <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <0. 001 <0. 001 <0. 001 4
|21 [ ES i3 0.11 <0.05 0. 06 4
222 o o e fig <0. 002 <0. 002 <0. 002 4
23| = = A v 2 0. 023 0. 008 0.013 4
24| Vi o o e fi <0. 002 <0. 002 <0. 002 4
%Y 7 v E / Bm w A F v 0. 003 0. 003 0. 003 4
26 | 5 ES fit <0. 001 <0. 001 <0. 001 4
1l F U N m A B 0. 036 0.017 0. 024 4
28| b ] U o o fE W 0.011 0. 006 0. 008 4
9|7 v ® ¥ r wm ow A F v 0.010 0. 006 0. 007 4
307 = S & v N <0. 001 <0. 001 <0. 001 4
st A A 7T A F ok S <0. 005 <0. 005 <0. 005 4
2|l K O o b A& W <0. 02 <0. 02 <0. 02 4
Bl 7 LI = A K OZE DAY <0. 02 <0. 02 <0. 02 4
M|k K W o kA& W 0. 04 0.03 0. 04 4
B K O . o kA& B <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 7.7 6.3 7.1 12 7.7 6.6 7.2 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A v 8.8 6.5 7.7] 12 8.7 6.7 8.0 12
9 B A w7 Ry N (FEE) 21.3 15.3 18. 1 12 21.1 16. 3 18.8) 12
40 |7K i 7% el B X1 59 49 55 4
e 4+ o~ R om E M Al %I <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 2 0. 000002 1
43[12- A F v A4 YV KRV F F — 0. 000001 1
43 4 A v Fom IE M Al %1 <0. 005 <0. 005 <0. 005 4
45 |7 = J = JL HH Xl <0. 0005 <0. 0005 <0. 0005 4
46 |HHEY (BABERE (T OC)DE) 0. 56 0. 37 0. 47 12 0. 58 0. 37 0. 45 12
47 |pH fil 7.4 7.2 7.3] 12 7.6 7.3 7.50 12
48 S BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |4 R <0.5 <0.5 0.5 12 0.7 0.5 0.5 12
51 | FE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|7 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4
2|y 7 v Kk O E o LAWY <0. 0002 <0. 0002 <0. 0002 4
3|l= v b v BN E O EDY <0. 002 <0. 002 <0. 002 4
5(,- v 4 v o=v = x v <0. 0002 <0. 0002 <0. 0002 4
8 |k v ES Dz <0. 001 <0. 001 <0. 001 4
9|7z LY - F L ~F L) K <0. 008 <0. 008 <0. 008 4
1By 7 v v 7 ¥ b = F U L 0. 001 0. 001 0. 001 4
14 |40 K 7 = 7 — JL 0. 009 0. 003 0. 005 4
1617% ® M B (O B 7k B O R ) 0.5 0.3 0.4 12 0.5 0.3 0.4] 12
19 |37 i R i 2.2 1.8 1.9 4
20|1,1,1- F U 7 v v x K v <0. 001 <0. 001 <0. 001 4
20|A F v = 7 F NV = — F )b <0.001 <0.001 <0. 001 4
23[R & @ E (T O N ) <1 <1 <1 4
28 |4t J& ES 1 bl B 4 0 1 4
29|,1- ¥ 7 v v =x F L v <0. 001 <0. 001 <0. 001 4
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[1s]®m & f5 i B 89 70 9] 12] 89 73 82 12]

M1 A O TIT - AR R

39



MoK B K B OA & O & & 9 10
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H H |55 5 | % (N3 B\l % 15 | 1K ] |
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7k I 27.3 10. 1 18.3[ 12 25.5 9.6 17.0f 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A AR H R 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4

4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4

5l L v R W 2 O LAWY 0. 001 <0. 001 <0. 001 4

618 Kk W o b A B <0. 001 <0. 001 <0. 001 4

7le F R VX2 O b A W 0. 001 <0. 001 <0. 001 4

L A A =T N |- <0. 005 <0. 005 <0. 005 4

9 |d il [iZd HE %= ES <0. 004 <0. 004 <0. 004 4

0| T kA A RO T <0. 001 <0. 001 <0. 001 4

L1[AY M2 RE %5 K K& OO0 M AY MR RE = R 0. 38 0.33 0. 36 4

12|17 v # Kk X %2 O b &9 0.11 0. 07 0. 10 12 0.13 0. 08 0.11 12
BIA v F k O 2 O b & B 0. 02 <€0. 02 <0. 02 4

14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4

15 {1, 4- 2 %+ X + Dz <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk

16 FS Y x v saasFL <€0. 002 <0. 002 <0. 002 4

17| Vi o o A 4 Dz <€0. 001 <€0. 001 <€0. 001 4

Bl ~ 3 ¥ v B = F L o~ <€0. 001 <0. 001 <0. 001 4

9l vV 4 B v = F L <€0. 001 <€0. 001 <0. 001 4

20 |~ Dz + v <€0. 001 <0. 001 <0. 001 4

|21 [ ES i 0.08 <0.05 <0. 05 4

222 o o e fit <€0. 002 <0. 002 <0. 002 4

23| = = A v 2 0.012 0. 005 0. 009 4

24| Vi o o e fit 0. 005 0. 002 0. 004 4

%Y 7 v E / Bm w A F v 0. 003 0. 002 0. 003 4

26 | 5 ES fit <€0. 001 <0. 001 <€0. 001 4

1l F U N m A B 0. 022 0.012 0.017 4

28| b ] U o o fE W 0. 009 0. 005 0. 007 4

9|7 v ® ¥ r wm ow A F v 0. 007 0. 005 0. 006 4

307 = S & v N <€0. 001 <0. 001 <€0. 001 4

B S L F kB R <0. 005 <0. 005 <0. 005 4

2 & K o kb A& W <€0. 02 <€0. 02 <€0. 02 4

Bl 7 LI = A K OZE DAY 0. 02 <0. 02 <0. 02 4

Ml k2 o kAW 0.03 <0. 03 <0. 03 4

B K O . o kA& B 0. 02 <0. 02 <0. 02 4

36| F U v A KW E DAY 7.9 6.5 7.2 12 7.0 5.7 6.3] 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4

38 |3 ft L) A A v 8.8 6.8 7.7] 12 7.9 5.7 7.1 12
9 B A w7 Ry N (FEE) 21.2 15.9 18.4f 12 18.8 12. 1 15.8 12
40 |7K i 7% el B X1 59 49 55 4

e 4+ o~ R om E M Al %I <0. 02 <€0. 02 <€0. 02 4

42| = 7+ 2 3 Dz 0.000003|  0.000002]  0.000003 2

43[12- A F v A4 YV KRV F F — 0.000001[ <0.000001[ <0.000001 2

N S N S N N < . 3! <0. 005 <0. 005 <0. 005 4

45 |7 = J = v HH Xl <0. 0005 <0. 0005 <0. 0005 4

16 [GHY (AKKFE (TOC) D) 0. 58 0. 36 0. 45 12 0. 49 0. 35 0. 42 12
47 |pH fil 7.5 7.3 7.4 12 7.3 7.1 7.2 12
48 S BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |4 R 0.5 <0.5 0.5 12 0.5 0.5 0.5 12
51 | Fig <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|7 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4

20y 7 v ® O 2 o bt A& W <0. 0002 <0. 0002 <0. 0002 4

3|l= vy v B % o b &Y <0. 002 <0. 002 <0. 002 4

5(,- v 4 v o=v = x v <€0. 0002 <€0. 0002 <€0. 0002 4

8 |k v ES Dz <€0. 001 <€0. 001 <€0. 001 4

9|7z LY - F L ~F L) K <0. 008 <0. 008 <0. 008 4

1By 7 v v 7 ¥ b = F U L 0. 001 <€0. 001 <€0. 001 4

14 [0 K 7 = 7 — JL 0. 005 0. 003 0. 004 4

1617% ® M B (O B 7k B O R ) 0.7 0.4 0.5 12 0.9 0.6 0.7 12
19 |37 i R A 2.6 1.8 2.1 4

20|1,,1- F U 7 © wm = K <€0. 001 <€0. 001 <€0. 001 4

20|A F v = 7 F NV = — F )b <0. 001 <0.001 <0.001 4

23[R & @ E (T O N ) <1 <1 <1 4

28 |4t J& ES 1 bl B 0 0 0 4

29|,1- ¥ 7 v v =x F L v <€0. 001 <€0. 001 <€0. 001 4
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MoK B K B OA & O & & 11 12

i K ES HE RS e SRS R

B 7k % it eI R IR T H LR XA T H

H H |55 5 | % (N3 B\l % 15 | 1K ] |
S i 29.5 9.0 19.4] 12 29.3 9.0 19.2] 12
7k I 26. 4 10. 1 17.8) 12 25.5 9.3 16.7] 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A AR H R 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4

4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4

5l L v R W 2 O LAWY 0. 001 <0. 001 <0. 001 4

618 Kk W o b A B <0. 001 <0. 001 <0. 001 4

7le F R VX2 O b A W 0. 001 <0. 001 <0. 001 4

L A A =T N |- <0. 005 <0. 005 <0. 005 4

9 |d il [iZd HE %= ES <0. 004 <0. 004 <0. 004 4

0| T kA A RO T <0. 001 <0. 001 <0. 001 4

L1[AY M2 RE %5 K K& OO0 M AY MR RE = R 0. 32 0. 23 0.29 4

12|17 v # Kk X %2 O b &9 0.13 0. 08 0.11 12 0.12 0. 08 0. 10 12
BIA v F k O 2 O b & B 0. 02 <€0. 02 <0. 02 4

14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4

15 {1, 4- 2 %+ X + Dz <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk

16 FS Y x v saasFL <€0. 002 <0. 002 <0. 002 4

17| Vi o o A 4 Dz <€0. 001 <€0. 001 <€0. 001 4

Bl ~ 3 ¥ v B = F L o~ <€0. 001 <0. 001 <0. 001 4

9l vV 4 B v = F L <€0. 001 <€0. 001 <0. 001 4

20 |~ Dz + v <€0. 001 <0. 001 <0. 001 4

|21 [ ES i 0.05 <0.05 <0. 05 4

222 o o e fit <€0. 002 <0. 002 <0. 002 4

23| = = A v 2 0. 005 0. 002 0. 004 4

24| Vi o o e fit 0. 003 <0. 002 <0. 002 4

%Y 7 v E / Bm w A F v 0. 002 0. 001 0. 002 4

26 | 5 ES fit <€0. 001 <0. 001 <€0. 001 4

1l F U N m A B 0.011 0. 005 0. 008 4

28| b ] U o o fE W 0. 002 <€0. 002 <€0. 002 4

9|7 v ® ¥ r wm ow A F v 0. 004 0. 002 0. 003 4

307 = S & v N <€0. 001 <0. 001 <€0. 001 4

B S L F kB R <0. 005 <0. 005 <0. 005 4

2 & K o kb A& W <€0. 02 <€0. 02 <€0. 02 4

Bl 7 LI = A K OZE DAY 0. 02 <0. 02 <0. 02 4

Mgk K O o kb A& W <0. 03 <0. 03 <0. 03 4

B K O . o kA& B 0. 02 <0. 02 <0. 02 4

36| F U v A KW E DAY 7.0 5.7 6.3] 12 7.2 5.5 6.3] 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4

38 |3 ft L) A A v 7.9 5.8 7.0 12 7.5 6.4 7.1 12
9 B A w7 Ry N (FEE) 19.0 12.2 16.0[ 12 20. 7 11.5 16.1f 12
40 |7K i 7% el B X1 52 43 49 4

e 4+ o~ R om E M Al %I <0. 02 <€0. 02 <€0. 02 4

42| = 7+ 2 3 Dz 0. 000004 1

43[12- A F v A4 YV KRV F F — 0. 000001 1

N S N S N N < . 3! <0. 005 <0. 005 <0. 005 4

45 |7 = J = v HH Xl <0. 0005 <0. 0005 <0. 0005 4

16 [GHY (AKKFE (TOC) D) 0. 49 0. 37 0. 42 12 0. 52 0. 32 0. 41 12
47 |pH fil 7.3 7.1 7.2] 12 7.3 7.1 7.2 12
48 S BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |4 R <0.5 <0.5 0.5 12 0.5 0.5 0.5 12
51 | Fig <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|7 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4

20y 7 v ® O 2 o bt A& W <0. 0002 <0. 0002 <0. 0002 4

3|l= vy v B % o b &Y <0. 002 <0. 002 <0. 002 4

5(,- v 4 v o=v = x v <€0. 0002 <€0. 0002 <€0. 0002 4

8 |k v ES Dz <€0. 001 <€0. 001 <€0. 001 4

9|7z LY - F L ~F L) K <0. 008 <0. 008 <0. 008 4

1By 7 v v 7 ¥ b = F U L <€0. 001 <€0. 001 <€0. 001 4

14 [0 K 7 = 7 — JL 0.001 <0. 001 <0. 001 4

1617% ® M B (O B 7k B O R ) 0.9 0.6 0.7 12 0.8 0.5 0.6 12
19 |37 i R A 2.6 2.2 2.4 4

20|1,,1- F U 7 © wm = K <€0. 001 <€0. 001 <€0. 001 4

20|A F v = 7 F NV = — F )b <0. 001 <0.001 <0.001 4

23[R & @ E (T O N ) <1 <1 <1 4

28 |4t J& ES 1 bl B 2 0 1 4

29|,1- ¥ 7 v v =x F L v <€0. 001 <€0. 001 <€0. 001 4
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Tl #F Kk O o kA& !
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0| T kA A RO T
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Bl v F Kk W % it & 9
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15 |1, 4- DA Z % A v
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17| Vi o 2 >
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19({F U 7 @& = F v v

20 |~ Dz v
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222 o e ik
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2%|Y 7 w ® Z uo A KB v

26 [ R i3

ol ~ U N w A B

28| b ] 7 BE W&

297 v £ ¥ V © A K v

307 = E R IV PN

3fs v & 7T v F ok K

2| H K O ZF o b A& B

BI 7 VI =T bk VZDOIEY

M|k Kk W X o A B

B K O . o kA& B

6[F VU v A KRB EOIED 7.2 5.9 6.4 12 7.1 5.5 6.3 12
3|~ v H v Rk z ok am

38 |3 ft L) A A v 9.6 5.6 71 12 8.7 6.3 7.2 12
[y a . v Ry A (E) 20. 2 13.2 16.2 12 20. 2 12.3 15.7] 12
40 | 7K %% 7% o L)

41ps A4 A ~ K om 3E M Al

42 | ES 74 A 3 b

43)12- A F v A4 YV K L R A —

41 4 A+ v R m 3E Al

45 |7 = J S L A

16 [GHY (AKKFE (TOC) D) 0.71 0. 32 0.46[ 12 0. 58 0.33 0.44] 12
47 |pH fil 7.3 7.1 7.2] 12 7.3 7.1 7.2 12
48 BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |2 JiE <0.5 <0.5 0.5 12 0.5 0.5 0.5 12
51 | fiE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

17 v Fx v kY Z0EDYD

2lv 7 v K N % it &

3l= v ¥ v B X X Ok &Y
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38 |3 ft L) A A v 9.6 5.6 7.0 12 8.2 6.5 7.2 12
[y a . v Ry A (E) 19.9 13.2 16.2 12 19. 4 12. 4 16.2 12
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42 | ES 74 A 3 b

43)12- A F v A4 YV K L R A —

41 4 A+ v R m 3E Al

45 |7 = J S L A

46 |HHEY (BABERE (T OC)DE) 0. 60 0.31 0.44) 12 0.61 0. 34 0.44] 12
47 |pH fil 7.3 7.2 7.3] 12 7.4 7.2 7.3 12
48 BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |2 JiE <0.5 <0.5 0.5 12 1.0 0.5 0.5 12
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Bl ~ 3 ¥ v B = F L o~ <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <0. 001 <0. 001 <0. 001 4
|21 [ ES i3 0. 05 <0.05 <0. 05 4
222 o o e fig <0. 002 <0. 002 <0. 002 4
23| = = A v 2 0.010 0. 004 0. 006 4
24| Vi o o e fi 0. 007 0. 002 0. 004 4
%Y 7 v E / Bm w A F v 0. 002 0. 002 0. 002 4
26 | 5 ES fit <0. 001 <0. 001 <0. 001 4
1l F U N m A B 0.017 0. 009 0.013 4
28| b ] U o o fE W 0. 008 0. 003 0. 005 4
9|7 v ® ¥ r wm ow A F v 0. 006 0. 003 0. 005 4
307 = S & v N <0. 001 <0. 001 <0. 001 4
3sifa A~ A 7T A F ok K <0. 005 <0. 005 <0. 005 4
2|l K O o b A& W <0. 02 <0. 02 <0. 02 4
Bl 7 LI = A K OZE DAY <0. 02 <0. 02 <0. 02 4
M|k K W o kA& W <0. 03 <0. 03 <0. 03 4
B K O . o kA& B <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 7.8 6.6 7.0 12 7.4 6.1 6.8] 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A v 9.8 6.3 7.5 12 8.2 5.9 7.1 12
9 B A w7 Ry N (FEE) 24. 0 16. 4 18.7] 12 21.5 17. 1 18.8) 12
40 |7K i 7% el B X1 55 50 52 4
e 4+ o~ R om E M Al %I <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 2 0. 000002 1
23l- X F L 4 VAL X F — <0. 000001 1
43 4 A v Fom IE M Al %1 <0. 005 <0. 005 <0. 005 4
45 |7 = J = JL HH Xl <0. 0005 <0. 0005 <0. 0005 4
16 [GHY (AKKFE (TOC) D) 0. 70 0. 39 0. 48 12 0. 56 0. 36 0. 46 12
47 |pH fil 7.3 7.2 7.2] 12 7.4 7.2 7.3 12
48 S BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |4 R <0.5 <0.5 0.5 12 0.5 0.5 0.5 12
51 | FE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|7 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4
2|y 7 v Kk O E o LAWY <0. 0002 <0. 0002 <0. 0002 4
3|l= v b v BN E O EDY <0. 002 <0. 002 <0. 002 4
5(,- v 4 v o=v = x v <0. 0002 <0. 0002 <0. 0002 4
8 |k v ES Dz <0. 001 <0. 001 <0. 001 4
9|7z LY - F L ~F L) K c <0. 008 <0. 008 4
1By 7 v v 7 ¥ b = F U L 0. 001 <0. 001 <0. 001 4
14 |40 K 7 = 7 — JL 0. 003 0.001 0. 002 4
1617% ® M B (O B 7k B O R ) 0.8 0.5 0.6 12 0.8 0.4 0.6 12
19 |37 i R i 3.1 1.8 2.7 4
20|1,1,1- F U 7 v v x K v <0. 001 <0. 001 <0. 001 4
20|A F v = 7 F NV = — F )b <0.001 <0.001 <0. 001 4
23[R & @ E (T O N ) <1 <1 <1 4
28 |4t J& ES 1 bl B 1 0 1 4
29|,1- ¥ 7 v v =x F L v <0. 001 <0. 001 <0. 001 4
Z DM DI H
[1s]®m & f5 i B 93 74 so] 12] 86 76 so] 12]
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MoK B K B OA & O & & 29 30

i K ES i & B K % & B K %

B 7k % it RETSYS S LK KRR T H

H H |55 e | fix (N3 2] B4 ETS i | i 1K ] |
S i 32.3 4.4 17.2] 12 30. 6 5.4 18.1f 12
7k i 27.5 11.2 19.5[ 12 27.1 10.3 18.5 12
AKERAEE H

1| s i 0 0 ol 12 2 0 o] 12
2 | K 2 At AR AR 12 A AR AR 12
3 R I v A kRO ZToOEDY

4Pk kR 2 o b A& Y

50 v v RO % it &

618 K O X o A Y

7Tl #F kR O o kA& !

8 I ffi  ~ o P =

9 |HE fi§ i HE %= F

0| T kA A RO T

11 [fY B2 RE 22 R K OC Wi AY BB BB = R

1207 v #F Kk W % it & ® 0. 12 0.07 0.10f 12 0.12 0.07 0.10] 12
Bl v F Kk W % it & 9

14 |9 i 1t R ES

15 |1, 4- DA Z % A v

167%—1,2—\‘/“//1:‘ = F L kW

kT v A-1L,2-Y oo x=F Ly

17| Vi o 2 >

8|7 ~ 7 7 v n F L v

19({F U 7 @& = F v v

20 |~ v v

121 | fig

222 o e ik

23|27 =4 =4 2N L N

24 | Vi = = i3 fire

2%|Y 7 w ® Z uo A KB v

26 [ R i3

ol ~ U N w A B

28| b ] 7 BE W&

297 v £ ¥ V © A K v

307 = E R IV PN

3fs v & 7T v F ok K

2| H K O ZF o b A& B

BI 7 VI =T bk VZDOIEY

M|k Kk W X o A B

B K O . o kA& B

36|17 b U YA KRBT OlAEY 7.3 6.2 6.8] 12 7.4 6.3 6.9] 12
3|~ v H v Rk z ok am

38 |3 ft L) A A v 9.3 6.0 7.4 12 9.2 6.1 7.4 12
[y a . v Ry A (E) 21.7 16.9 18.8) 12 21.1 16. 6 18.3[ 12
40 | 7K %% 7% o LY

N | O N N O -

42 | ES 74 A 3 b

43)12- A F v A4 YV K L R A —

41 4 A+ v R m 3E Al

45 |7 = J S L A

16 [GHY (AKKFE (TOC) D) 0. 60 0. 38 0.46[ 12 0.61 0. 38 0.47] 12
47 |pH fil 7.5 7.3 7.4 12 7.3 7.2 7.3 12
48 BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |2 JiE <0.5 <0.5 0.5 12 0.5 0.5 0.5 12
51 [ fiE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KBV H R ETE H

1|7 v F & v R Z o k&Y

2lv 7 v K N % it &

3l= v ¥ v B X X Ok &Y

5 (1,2- v 7 =] =

8 |k IV v

9l|lz x LY @G- F L ~F L)

13| 7 v v 7 & k= F U

14 |40 K 7 — JL

1617% ® M B (O B 7k B O R ) 0.4 0.3 0.4 12 0.9 0.4 0.6 12
19 |37 23 ¢ i

20f1,1,1- K VU 27 = T 2 v

20| A F v - 7 F )L T — T Jb

2|R & R T O N )

28 |5t J& ES 1 bl B

29|,1- ¥ 7 =& = F L v

Z DM DI H
[15]= & = i S 86 74 so] 12] 85 74 9] 12]
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MoK B K B OA & O & & 31 32

i K ES HE & B K % & B K %

2 7K i At L X )\ANT H LXK AT ILT B

H H |55 5 | % (N3 2] B4 ETS 15 | 1K ] |
S i 27.3 8.0 18.2] 12 29.5 5.1 17.0f 12
7k i 25.3 9.6 16.8) 12 26. 8 10.9 18.8) 12
KEFEHEE H

1 |— i il kil 0 0 of 12 0 0 ol 12
2 | K 2 At AR AR 12 A AR R 12
3 R I v A kRO ZToOEDY

4Pk kR 2 o b A& Y

5 L v kK B2 o kA& WY

618 K O X o A Y

7l F kK B Z o k& WY

8 I ffi  ~ | S | =

9 |HE fi§ i HE %= F

W7 e A v kO HET

11 [fY B2 RE 22 R K OC Wi AY BB BB = R

12|17 v # Kk X %2 O b &9 0.11 0. 08 0. 09 12 0.12 0.07 0. 10 12
BlA v F kK XN 2 o b &Y

14 |9 i 1t R ES

15 |1, 4- DA Z % A v

16:/171’2732//D,DI%1/V&U

A N /e /A = = e - B

17| 7 = = A X <

8|7 ~ 9 7 v n x F L Vv

19(F VU 7 ©w w = F L v

20 |~ v + v

222 o o e ik

23|27 =4 =4 2N L N

24| Vi o o e ik

2| 7 v € 7 v ou A X v

26 | & ES fi

ol ~ U N w A B

28| b ] 7 = =4 e i3

29|17 v ® Y 7 v ou A X v

307 = E R IV PN

3fs v & 7T v F ok K

2| H K O ZF o b A& B

BT VI = ARV EDOIAY

M|k Kk W X o A B

B K O . o kA& B

36| F U v A KW E DAY 7.5 6.1 6.9] 12 7.3 6.2 6.9] 12
37| ¥~ H v Kk X ot &Y

38 |3 ft L) A A v 8.3 6.5 7.6] 12 9.2 6.0 7.3 12
[y a . v Ry A (E) 22.3 16. 0 18.3[ 12 21.5 16.9 18.8) 12
40 | 7K %% 7% el L)

41ps A4 A ~ K om 3E M Al

42 | ES 74 A 3 b

43[12- A F v A4 YV KRV F F —

41 4 A+ v R m 3E Al

45 |7 = J = v H

46 |HHEY (BABERE (T OC)DE) 0. 65 0. 40 0.51 12 0.61 0. 38 0.46] 12
47 |pH fil 7.2 7.1 7.2] 12 7.4 7.2 7.3 12
48 S BEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R A RBERL| HAERL[ AELRL 12] REipL| EEAL| A¥ARL 12
50 |2 JiE <0.5 <0.5 0.5 12 0.5 0.5 0.5 12
51 | fiE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

17 v Fx v kY Z0EDYD

2|y 7 v Kk X ZE O LAWY

3l= v ¥ v B X X Ok &Y

5 (1,2- v 7 =] =

8 |k JL E Y

9|7 ¥ Vg Y - F )L~ F )

13| 7 v v 7 & k= F U

14 [0 K 7 = 7 — SV

1617% ® M B (O B 7k B O R ) 0.7 0.5 0.6 12 0.7 0.4 0.5 12
19 |37 23 R i

2001, 1,1- kK U 7 wvw wm x X

20| A F v - 7 F )L T — T Jb

28| & W FE (T O N )

28 |5t J& ES 1 bl B

29[,1- ¥ 7 v mw x F L v

Z DM DI H
[1s]®m & f5 i B 90 71 9] 12] 86 75 so] 12]
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MoK B K B OA & O & & 33 34

i 7K ES HE & B K % & B K %

B 7k % it e XL — T H LA XA M KRR

H H |55 5 | (N3 B\l % 15 | K| ] |
S i 32.3 1.9 16.6[ 12 30. 6 2.7 16.2] 12
7k i 24.9 10. 0 17.6[ 12 28. 8 11.1 19.8 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A A AR H 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4
4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4
5l L v R W 2 O LAWY <0. 001 <0. 001 <0. 001 4
618 Kk W o b A B <0.001 <0.001 <0. 001 4
7le = B O 2 o vk & B <0. 001 <0. 001 <0. 001 4
slx MM 2 v A b A W <0. 005 <0. 005 <0. 005 4
9 [ il [iZd HE = ES <0. 004 <0. 004 <0. 004 4
0|7 e A 4+ ROy T v <0. 001 <0. 001 <0. 001 4
11 [fY B2 RE 22 R K OC Wi AY BB BB = R 0. 42 0. 29 0. 35 4
12|17 v # Kk X %2 O b &9 0.12 0. 07 0. 09 12 0.12 0.07 0. 09 12
BIA v F k O 2 O b & B <0. 02 <0. 02 <0. 02 4
14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- ¥ %+ X + ~ <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk .

BILS 2 levsnmnxsrr v <0. 002 <0. 002 <0. 002 4
17| Vi o o 2 2 Dz <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L v <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <0. 001 <0. 001 <0. 001 4
|21 [ ES i3 0. 14 <0.05 0. 08 4
222 o o e fig <0. 002 <0. 002 <0. 002 4
23| = = A v 2 0. 022 0. 006 0.013 4
24| Vi o o e fi 0.012 0. 003 0. 005 4
%Y 7 v E / wm w A E v 0. 003 0. 002 0. 003 4
26 | 5 ES fit <0. 001 <0. 001 <0. 001 4
1l h U N m A B 0. 034 0.015 0. 022 4
28| b ] U o o fE W 0.011 0. 005 0. 007 4
9|7 v ® ¥ /7 wm ow A F v 0. 009 0. 006 0. 007 4
30 |7 = £ A v 2 <0. 001 <0. 001 <0. 001 4
3ifa A~ A 7T A F ok K <0. 005 <0. 005 <0. 005 4
2| g K O o b A& W <0. 02 <0. 02 <0. 02 4
Bl 7 VI = A K OE DAY <0. 02 <0. 02 <0. 02 4
M|k K W . o kA& W <0. 03 <0. 03 <0. 03 4
B K O . o kA& B <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 7.3 6.2 6.8] 12 7.8 6.6 7.2 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A v 9.3 6.0 7.4 12 8.7 7.0 7.8 12
9 B A w7 Ry N (EE) 20. 9 16.5 18. 1 12 21.0 16. 1 18.4f 12
40 |7K i 7% el B X1 55 50 52 4
Wale 4+ o R om E M Al %I <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 2 0. 000001 1
43[12- A F v A4 VY KRV Fx F — 0. 000001 1
43 4 A v Fom IE M Al %1 <0. 005 <0. 005 <0. 005 4
45 |7 = J = JL Xl <0. 0005 <0. 0005 <0. 0005 4
16 [EHY (AKKFE (TOC) D) 0. 67 0. 39 0. 48 12 0. 60 0. 41 0. 49 12
47 |pH fil 7.3 7.2 7.3] 12 7.4 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | R <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | FE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4
2|y 7 v Kk O E o LAWY <0. 0002 <0. 0002 <0. 0002 4
3|l= v b v BN E O EDY <0. 002 <0. 002 <0. 002 4
5(i,- v 4 v o o=w = x v <0. 0002 <0. 0002 <0. 0002 4
8 |k v ES Dz <0. 001 <0. 001 <0. 001 4
9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4
1By 7 v v 7 ¥ b = F U L 0. 002 0. 001 0. 002 4
14 |40 K 7 = 7 — JL 0. 007 0. 002 0. 005 4
16|7% ® M & (O B 7k B O R ) 0.6 0.4 0.5 12 0.9 0.5 0.7 12
19 |37 i R i 3.1 1.8 2.5 4
20|1,1,1- F U 7 v w x K v <0. 001 <0. 001 <0. 001 4
20|A F v = 7 F NV = — F )b <0.001 <0.001 <0. 001 4
23[R & @ E (T O N ) <1 <1 <1 4
28 |1 & ES 1 bl B 6 0 3 4
29|,1- ¥ 7 v v =x F L v <0. 001 <0. 001 <0. 001 4
Z DM DI H
[1s]®m & f5 i B 85 73 78] 12] 86 74 g1 12]
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MoK B K B OA & O & & 35 36

i K ES HE & B K % & B K %

2 7K i At HXEHLTH X BT H

H H |55 5 | % (N3 2] B4 ETS 15 | 1K ] |
S i 34.5 2.9 17.8] 12 33. 2 4.1 17.8] 12
7k i 29.9 10. 0 19.2[ 12 27.9 10.3 18.2] 12
KEFEHEE H

1 |— i il kil 0 0 of 12 0 0 ol 12
2 | K 2 At AR AR 12 A AR R 12
3 R I v A kRO ZToOEDY

4Pk kR 2 o b A& Y

5 L v kK B2 o kA& WY

618 K O X o A Y

7l F kK B Z o k& WY

8 I ffi  ~ | S | =

9 |HE fi§ i HE %= F

W7 e A v kO HET

11 [fY B2 RE 22 R K OC Wi AY BB BB = R

12|17 v # Kk X %2 O b &9 0.12 0. 07 0. 10 12 0.12 0.07 0. 10 12
BlA v F kK XN 2 o b &Y

14 |9 i 1t R ES

15 |1, 4- DA Z % A v

16:/171’2732//D,DI%1/V&U

N7 ALYV v F L

17| 7 = = A X <

87 ~ 7 7 v wm x F L v

19(F VU 7 ©w w = F L v

20 |~ v + v

222 o o e ik

23|27 =4 =4 2N L N

24| Vi o o e ik

2| 7 v ® 7 v ou A H v

26 | & ES fi

ol ~ U N w A B

28| b ] 7 = =4 e i3

29|17 v ® Y 7 v ou A X v

307 =] £ 7R IV N

3fs v A 7T v F Ok K

2| H K O X o b A& Y

B 7T VI = ARV EDOIAY

M|k Kk W X o A Y

B K O . o kA& B

36| F U v A KW E DAY 7.5 6.3 7.1 12 7.5 6.4 7.0 12
37| ¥~ H v Kk XX Ot &Y

38 |3 ft L) A A v 9.6 5.9 7.5 12 9.6 6.0 7.5 12
[y a . v Ry A (E) 21.6 17.0 19.0f 12 21.0 16. 0 18.7] 12
40 | 7K %% 7% el L)

41pE A4 A ~ K m 3E M Al

42 | ES 74 A 3 b

43[12- A F v A4 VY KRV Fx F —

41 4 A+ v R m 3E Al

45 |7 = J = v H

16 [EHY (AKKFE (TOC) D) 0. 74 0. 39 0.50[ 12 0.67 0. 38 0.49] 12
47 |pH fil 7.3 7.1 7.2] 12 7.4 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | JiE <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | fiE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

17 v F £ v kY Z0kEDYD

2|y 7 v Kk X ZE O LAWY

3l= v ¥ Vv B XX Ok &Y

5 (1,2- v 7 =] =

8 |k JL E Y

97 s vy @G-=F L ~F L)

13| 7 v v 7 & k= F U

14 [0 K 7 = 7 — SV

16|7% ® M & (O B 7k B O R ) 0.9 0.5 0.6 12 0.7 0.4 0.5 12
19 |37 23 R i

20|1,,1- ~ YU 7 m v T ¥ v

20| A F v - 7 F )L T — T Jb

28| & W FE (T O N )

28 |1t J& ES 1 bl B

29[,1- ¥ 7 v mw x F L v

Z DM DI H
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MoK B K B OA & O & & 37 38

i K ES HE & B K % & B K %

B K % it LK AR KT =H L AE X AR K5

H H |55 5 | 1K 2] B4 ETS 15 | 1K ] |
S i 35. 0 2.6 18.3[ 12 33.6 3.4 18.4f 12
7k i 28. 1 10.2 18.3[ 12 32.1 10.0 20.2] 12
KEFEHEE H

1 |— i il kil 0 0 of 12 0 0 ol 12
2 | K 2 At AR AR 12 A AR R 12
3 R I v A kRO ZToOEDY

4Pk kR 2 o b A& Y

5 L v kK B2 o kA& WY

618 K O X o A Y

7l F kK B Z o k& WY

8 I ffi  ~ | S | =

9 |HE fi§ i HE %= F

W7 e A v kO HET

11 [fY B2 RE 22 R K OC Wi AY BB BB = R

12|17 v # Kk X %2 O b &9 0.12 0. 07 0. 10 12 0.12 0. 08 0. 09 12
BlA v F kK XN 2 o b &Y

14 |9 i 1t R ES

15 |1, 4- DA Z % A v

16:/171’2732//D,DI%1/V&U

N7 ALYV v F L

17| 7 = = A X <

87 ~ 7 7 v wm x F L v

19(F VU 7 ©w w = F L v

20 |~ v + v

222 o o e ik

23|27 =4 =4 2N L N

24| Vi o o e ik

2| 7 v ® 7 v ou A H v

26 | & ES fi

ol ~ U N w A B

28| b ] 7 = =4 e i3

29|17 v ® Y 7 v ou A X v

307 =] £ 7R IV N

3fs v A 7T v F Ok K

2| H K O X o b A& Y

B 7T VI = ARV EDOIAY

M|k Kk W X o A Y

B K O . o kA& B

36| F U v A KW E DAY 7.7 6.4 7.1 12 7.9 7.0 7.4 12
37| ¥~ H v Kk XX Ot &Y

38 |3 ft L) A A v 9.6 6.2 7.6] 12 9.1 7.2 8.1| 12
[y a . v Ry A (E) 21. 4 16.5 19.0f 12 22. 2 16.5 18.6[ 12
40 | 7K %% 7% el L)

41pE A4 A ~ K m 3E M Al

42 | ES 74 A 3 b

43[12- A F v A4 VY KRV Fx F —

41 4 A+ v R m 3E Al

45 |7 = J = v H

16 [EHY (AKKFE (TOC) D) 0. 74 0. 38 0.50[ 12 0. 63 0. 37 0.49] 12
47 |pH fil 7.4 7.2 7.3] 12 7.4 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | JiE <0.5 <0.5 0.5 12 1.1 0.7 0.9] 12
51 | fiE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

17 v F £ v kY Z0kEDYD

2|y 7 v Kk X ZE O LAWY

3l= v ¥ Vv B XX Ok &Y

5 (1,2- v 7 =] =

8 |k JL E Y

97 s vy @G-=F L ~F L)

13| 7 v v 7 & k= F U

14 [0 K 7 = 7 — SV

16|7% ® M & (O B 7k B O R ) 1.1 0.6 0.8 12 0.7 0.3 0.5 12
19 |37 23 R i

20|1,,1- ~ YU 7 m v T ¥ v
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MoK B K B OA & O & & 39 40

i 7K ES HE & B K % & B K %

B K % it LK AR R RN

H H |55 5 | % (N3 B\l % 15 | K| ] |
S i 35. 1 4.3 17.8] 12 32.8 4.6 17.3] 12
7k I 30. 6 9.9 19.6] 12 30. 0 10.8 19.70 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A AR H R 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4

4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4

5l L v R W 2 O LAWY 0. 001 <0. 001 <0. 001 4

618 Kk W o b A B <0. 001 <0. 001 <0. 001 4

7le F R VX2 O b A W 0. 001 <0. 001 <0. 001 4

L A A =T N |- <0. 005 <0. 005 <0. 005 4

9 |d il [iZd HE %= ES <0. 004 <0. 004 <0. 004 4

0| T kA A RO T <0. 001 <0. 001 <0. 001 4

L1[AY M2 RE %5 K K& OO0 M AY MR RE = R 0. 41 0. 28 0. 35 4

12|17 v # Kk X %2 O b &9 0.12 0. 07 0. 10 12 0.12 0. 08 0. 10 12
BIA v F k O 2 O b & B 0. 02 <€0. 02 <0. 02 4

14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4

15 {1, 4- ¥ %+ X + Dz <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk

BILS 2 levsnmnxsrr v <€0. 002 <0. 002 <0. 002 4

17| Vi o o A P Dz <€0. 001 <€0. 001 <0. 001 4

Bl ~ 3 ¥ v B = F L o~ <€0. 001 <0. 001 <0. 001 4

9l vV 4 B v = F L v <€0. 001 <0. 001 <0. 001 4

20 |~ Dz + v <€0. 001 <0. 001 <0. 001 4

|21 [ ES 3 0.12 <0.05 0.07 4

222 o o e fit <€0. 002 <0. 002 <0. 002 4

23| = = A v 2 0. 024 0. 008 0.015 4

24| 7 = = e i3 0. 009 0. 003 0. 007 4

%Y 7 v E / wm w A E v 0. 003 0. 002 0. 003 4

26 | 5 ES fit <€0. 001 <0. 001 <0. 001 4

1l h U N m A B 0. 037 0.015 0. 025 4

28| b ] U o o fE W 0.012 0. 005 0. 009 4

9|7 v ® ¥ /7 wm ow A F v 0.010 0. 005 0. 007 4

30 |7 = £ A v 2 <€0. 001 <0. 001 <0. 001 4

st A A ¥ A F kK <0. 005 <0. 005 <0. 005 4

2 & K o kA& W <€0. 02 <€0. 02 <€0. 02 4

Bl 7 VI = A K OE DAY 0. 02 <0. 02 <0. 02 4

I SO N - 0. 04 0.03 0. 04 4

B K O . o kA& B 0. 02 <0. 02 <0. 02 4

36| F U v A KW E DAY 8.0 6.5 7.3 12 7.6 6.7 7.0 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4

38 |3 ft L) A A v 9.1 6.9 8.0 12 9.6 6.2 7.5 12
9 B A w7 Ry N (EE) 22.6 17.0 18.9[ 12 21.1 16. 3 18.3[ 12
40 |7K i 7% el B X1 55 50 52 4

afe 4 4 ~ Fom 3E M Al X <0. 02 <0. 02 <0. 02 4

42| = 7+ 2 3 Dz 0. 000002 1

43[12- A F v A4 VY KRV Fx F — 0. 000001 1

N R N S N N < . 3! <0. 005 <0. 005 <0. 005 4

45 |7 = J = v Xl <€0. 0005 <0. 0005 <0. 0005 4

16 [EHY (AKKFE (TOC) D) 0. 62 0. 38 0. 50 12 0. 60 0. 39 0. 47 12
47 |pH fil 7.5 7.3 7.4 12 7.3 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | R 0.8 0.5 0.6] 12 0.5 0.5 0.5] 12
51 | Fig <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4

20y 7 v B O & o bt A& W <0. 0002 <0. 0002 <0. 0002 4

3|l= vy v B X o b &Y <0. 002 <0. 002 <0. 002 4

5(i,- v 4 v o o=w = x v <€0. 0002 <0. 0002 <0. 0002 4

8 |k v ES Dz <€0. 001 <€0. 001 <€0. 001 4

9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4

1By 7 v v 7 ¥ b = F U L 0. 002 0. 001 0. 002 4

14 [0 K 7 = 7 — JL 0. 008 0. 003 0. 006 4

16|7% ® M & (O B 7k B O R ) 0.6 0.3 0.5 12 0.5 0.3 0.4] 12
19 |37 i R i 2.2 1.8 2.0 4

20[1,,1- F VY 7 v owm = % <€0. 001 <€0. 001 <€0. 001 4

20|A F v = 7 F NV = — F )b <0. 001 <0.001 <0.001 4
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3fs v A 7T v F Ok K

2| H K O X o b A& Y

B 7T VI = ARV EDOIAY

M|k Kk W X o A Y

B K O . o kA& B

36| F U v A KW E DAY 7.3 6.3 6.9] 12 7.4 6.4 6.9] 12
37| ¥~ H v Kk XX Ot &Y

38 |3 ft L) A A v 9.6 6.4 7.7] 12 9.1 6.4 7.6[ 12
[y a . v Ry A (E) 21.6 15. 4 18.4f 12 21.8 13.9 18.3[ 12
40 | 7K i 7% el L)

41pE A4 A ~ K m 3E M Al

42 | ES 74 A 3 b

43[12- A F v A4 VY KRV Fx F —

41 4 A+ v R m 3E Al

45 |7 = J = v H

16 [EHY (AKKFE (TOC) D) 0. 62 0. 40 0.49[ 12 0. 62 0. 41 0.51 12
47 |pH fil 7.3 7.2 7.3] 12 7.3 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | JiE <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
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[y a . v Ry A (E) 21.5 14. 4 18.3[ 12 20. 9 15. 1 18.0f 12
40 | 7K %% 7% el L)

41pE A4 A ~ K m 3E M Al

42 | ES 74 A 3 b

43[12- A F v A4 VY KRV Fx F —

41 4 A+ v R m 3E Al

45 |7 = J = v H

16 [EHY (AKKFE (TOC) D) 0. 62 0. 39 0.48) 12 0. 64 0. 39 0.49] 12
47 |pH fil 7.4 7.2 7.3] 12 7.5 7.3 7.4 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 |2 JiE <0.5 <0.5 0.5 12 0.6 0.5 0.5] 12
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9l vV 4 B v = F L v <€0. 001 <0. 001 <0. 001 4
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222 o o e fit <€0. 002 <0. 002 <0. 002 4

23| = = A v 2 0.014 0. 005 0. 008 4

24| 7 = = e i3 <0. 002 <0. 002 <€0. 002 4

%Y 7 v E / wm w A E v 0. 003 0. 002 0. 002 4
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28| b ] U o o fE W 0. 009 0. 004 0. 006 4
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36| F U v A KW E DAY 6.9 5.8 6.5 12 7.7 6.2 6.8] 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4

38 |3 ft L) A A v 8.1 6.5 7.3 12 10. 1 8.0 9.0 12
9 B A w7 Ry N (EE) 20. 9 15.7 18.5[ 12 22.9 16.9 18.6[ 12
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42| = 7+ 2 3 Dz <0. 000001 1
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45 |7 = J = v Xl <€0. 0005 <0. 0005 <0. 0005 4

16 [EHY (AKKFE (TOC) D) 0. 58 0. 37 0. 47 12 0.76 0. 34 0. 49 12
47 |pH fil 7.6 7.4 7.5 12 7.5 7.2 7.4 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | R 0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | FE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
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MoK B K B OA & O & & 47 48

I 7K ES W] REIREZAK WK R GEEER)IEZK) IREWRSK WK R (B )ISEK)
B 7k % it LR ] H 225 T
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KEFEHEE H

1 |— i il kil 0 0 0 12 1 0 0 12
2 | K 2 AR AR AR 12 A AR H R 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4

4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4

5l L v R W 2 O LAWY 0. 001 <0. 001 <0. 001 4

618 Kk W o b A B <0. 001 <0. 001 <0. 001 4

7le F R VX2 O b A W 0. 001 <0. 001 <0. 001 4

L A A =T N |- <0. 005 <0. 005 <0. 005 4

9 |d il [iZd HE %= ES <0. 004 <0. 004 <0. 004 4

0| T kA A RO T <0. 001 <0. 001 <0. 001 4

L1[AY M2 RE %5 K K& OO0 M AY MR RE = R 0. 38 0. 30 0. 34 4

12|17 v # Kk X %2 O b &9 0.11 0. 08 0. 10 12 0.11 0.07 0. 10 12
BIA v F k O 2 O b & B 0. 02 <€0. 02 <0. 02 4

14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4

15 {1, 4- ¥ %+ X + Dz <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk

BILS 2 levsnmnxsrr v <€0. 002 <0. 002 <0. 002 4

17| Vi o o A P Dz <€0. 001 <€0. 001 <0. 001 4

Bl ~ 3 ¥ v B = F L o~ <€0. 001 <0. 001 <0. 001 4

9l vV 4 B v = F L v <€0. 001 <0. 001 <0. 001 4

20 |~ Dz + v <€0. 001 <0. 001 <0. 001 4

|21 [ ES 3 0.12 <0.05 0. 06 4

222 o o e fit <€0. 002 <0. 002 <0. 002 4

23| = = A v 2 0.010 0. 003 0. 006 4

24| 7 = = e i3 0. 005 <0. 002 0. 003 4

%Y 7 v E / wm w A E v 0. 002 0. 002 0. 002 4

26 | 5 ES fit <€0. 001 <0. 001 <0. 001 4

1l h U N m A B 0.018 0. 008 0.012 4

28| b ] U o o fE W 0. 006 0. 002 0. 004 4

9|7 v ® ¥ /7 wm ow A F v 0. 006 0. 003 0. 004 4

30 |7 = £ A v 2 <€0. 001 <0. 001 <0. 001 4

st A A ¥ A F kK <0. 005 <0. 005 <0. 005 4

2 & K o kA& W <€0. 02 <€0. 02 <€0. 02 4

Bl 7 VI = A K OE DAY 0. 03 <0. 02 <0. 02 4

Mgk K O o kb A W <0. 03 <0. 03 <0. 03 4

B K O . o kA& B 0. 02 <0. 02 <0. 02 4

36| F U v A KW E DAY 7.7 6.3 6.9] 12 7.4 6.5 6.9] 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4

38 |3 ft L) A A > 10.2 8.1 9.1 12 9.8 8.2 9.1| 12
9 B A w7 Ry N (EE) 23. 1 17.2 18.9[ 12 22. 2 17.0 18.7] 12
40 |7K i 7% el B X1 62 50 56 4

afe 4 4 ~ Fom 3E M Al X <0. 02 <0. 02 <0. 02 4

42| = 7+ 2 3 Dz 0.000003|  0.000002]  0.000003 2

43[12- A F v A4 VY KRV Fx F — 0.000001|  0.000001[ 0.000001 2

N R N S N N < . 3! <0. 005 <0. 005 <0. 005 4

45 |7 = J = v Xl <€0. 0005 <0. 0005 <0. 0005 4

16 [EHY (AKKFE (TOC) D) 0. 81 0. 34 0. 50 12 0.71 0. 34 0. 48 12
47 |pH fil 7.5 7.3 7.4 12 7.5 7.3 7.4 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | R <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | Fig <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4

20y 7 v B O & o bt A& W <0. 0002 <0. 0002 <0. 0002 4

3|l= vy v B X o b &Y <0. 002 <0. 002 <0. 002 4

5(i,- v 4 v o o=w = x v <€0. 0002 <0. 0002 <0. 0002 4

8 |k v ES Dz <€0. 001 <€0. 001 <€0. 001 4

9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4

1By 7 v v 7 ¥ b = F U L 0. 001 <€0. 001 <€0. 001 4

14 [0 K 7 = 7 — JL 0. 003 <0. 001 0. 002 4

16|7% ® M & (O B 7k B O R ) 0.8 0.5 0.7 12 0.7 0.5 0.6 12
19 |37 i R i 2.6 2.2 2.4 4

20[1,,1- F VY 7 v owm = % <€0. 001 <€0. 001 <€0. 001 4

20|A F v = 7 F NV = — F )b <0. 001 <0.001 <0.001 4

23[R & @ E (T O N ) <1 <1 <1 4

28 |4t J& ES 1 bl B 1 0 0 4

29|,1- ¥ 7 v v =x F L v <€0. 001 <€0. 001 <€0. 001 4

Z DM DI H
[1s]®m & f5 iy B 90 73 so] 12] 87 76 so] 12]
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MoK B K B OA & O & & 49 50

i 7K ES we| IREREK W) IR R (RBFEK) IR K R VKSR (FBFK)
B 7k % it O] HERREHE = TH

H H |55 5 | (N3 B\l % 15 | K| ] |
S i 31.6 10.3 19.8) 12 26.9 9.7 18.6[ 12
7k i 27.0 11.6 18.7] 12 26. 8 10. 4 17.9 12
KEFEHEE H

1 |— i il kil 2 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A AR H AR H 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4
4k kO 2 o (kA& B X1 <0.00005|  <0. 0000500005
5l L v R W 2 O LAWY <0. 001 <0. 001 <0. 001 4
618 Kk W o b A B <0.001 <0.001 <0. 001 4
7le = B O 2 o vk & B <0. 001 <0. 001 <0. 001 4
L A A =T N |- <0. 005 <0. 005 <0. 005 4
9 [ il [iZd i3 = ES <0. 004 <0. 004 <0. 004 4
0|7 e A 4+ ROy T v <0. 001 <0. 001 <0. 001 4
11 [fY B2 RE 22 R K OC Wi AY BB BB = R 0. 38 0. 26 0. 34 4
12|17 v # Kk X %2 O b &9 0.11 0. 07 0. 10 12 0.11 0.07 0. 10 12
BIA v F k O 2 O b & B <0. 02 <0. 02 <0. 02 4
14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- ¥ %+ X + ~ <0. 005 <0. 005 <0. 005 4

VAL,V o x=F Ly KN )

BILS 2 levsnmnxsrr v <0. 002 <0. 002 <0. 002 4
17| Vi o o 2 2 Dz <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L v <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <0. 001 <0. 001 <0. 001 4
121 |4 ES % 0.15 0. 05 0. 09 4
222 o o e fig <0. 002 <0. 002 <0. 002 4
23| = = A v 2 0.015 0. 004 0. 008 4
24| Vi o o e fig 0. 006 0. 002 0. 004 4
%Y 7 v E / wm w A E v 0. 003 0. 002 0. 002 4
26 | 5 ES fit <0. 001 <0. 001 <0. 001 4
1l h U N m A B 0. 026 0.010 0.015 4
28| b ] U o o fE W 0. 009 0. 004 0. 006 4
9|7 v ® ¥ /7 wm ow A F v 0. 008 0. 004 0. 005 4
30 |7 = £ A v 2 <0. 001 <0. 001 <0. 001 4
3ifa A~ A 7T A F ok K <0. 005 <0. 005 <0. 005 4
2| g K O o b A& W <0. 02 <0. 02 <0. 02 4
Bl7 LI = A KO EDODIAEY 0. 04 <0. 02 <0. 02 4
M|k K W . o kA& W <0. 03 <0. 03 <0. 03 4
B K O . o kA& B <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 7.3 6.7 7.0 12 7.3 6.6 7.0 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A v 9.7 8.1 8.9] 12 10.0 8.1 8.9 12
9 B A w7 Ry N (EE) 21. 2 14.3 18.3[ 12 20. 9 14.5 18. 1 12
40 |7K i 7% el B X1 62 50 56 4
Wale 4+ o R om E M Al %I <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 2 0. 000002 1
43[12- A F v A4 VY KRV Fx F — 0. 000001 1
43 4 A v Fom IE M Al %1 <0. 005 <0. 005 <0. 005 4
45 |7 = J = v Xl <0. 0005 <0. 0005 <0. 0005 4
16 [EHY (AKKFE (TOC) D) 0. 64 0. 38 0. 47 12 0. 65 0. 39 0. 48 12
47 |pH fil 7.5 7.2 7.4 12 7.5 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | R <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | FE <€0.1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4
2|y 7 v Kk O E o LAWY <0. 0002 <0. 0002 <0. 0002 4
3|l= v b v BN E O EDY <0. 002 <0. 002 <0. 002 4
5(i,- v 4 v o o=w = x v <0. 0002 <0. 0002 <0. 0002 4
8 |k v ES Dz <0. 001 <0. 001 <0. 001 4
9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4
1By 7 v v 7 ¥ b = F U L 0. 001 <0. 001 <0. 001 4
14 |3 K Ui o 5 — v 0. 004 0. 001 0. 003 4
16|7% ® M & (O B 7k B O R ) 0.7 0.4 0.6 12 0.7 0.4 0.6 12
19 |37 i R i 2.6 1.8 2.0 4
20|1,1,1- F U 7 v w x K v <0. 001 <0. 001 <0. 001 4
20|A F v = 7 F NV = — F )b <0.001 <0.001 <0. 001 4
23[R & @ E (T O N ) <1 <1 <1 4
28 |4t J& ES 1 bl B 0 0 0 4
29|,1- ¥ 7 v v =x F L v <0. 001 <0. 001 <0. 001 4
Z DM DI H
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MoK B K B OA & O & & 51 52

i 7K ES we| IREREK W) IR R (RBFEK) IR K R VRS R (B 52K)
B 7k % it YN ) 42 2% X TR

H H |55 5 | (N3 B\l % 15 | K| ] |
= i 28.7 7.8 17.8] 12 27.5 3.1 18.0f 12
7k i 25. 6 10.8 18.0 12 28.3 8.3 17.9 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A A A 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4
4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4
5l L v R W 2 O LAWY <0. 001 <0. 001 <0. 001 4
618 Kk W o b A B <0.001 <0.001 <0. 001 4
7le = B O 2 o vk & B <0. 001 <0. 001 <0. 001 4
slx MM 2 v A b A W <0. 005 <0. 005 <0. 005 4
9 [ il [iZd i3 = ES <0. 004 <0. 004 <0. 004 4
0|7 e A 4+ ROy T v <0. 001 <0. 001 <0. 001 4
11 [fY B2 RE 22 R K OC Wi AY BB BB = R 0. 38 0.31 0. 35 4
12|17 v # Kk X %2 O b &9 0.11 0. 08 0. 10 12 0.11 0. 08 0. 10 12
BIA v F k O 2 O b & B <0. 02 <0. 02 <0. 02 4
14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- ¥ %+ X + ~ <0. 005 <0. 005 <0. 005 4

VAL,V o x=F Ly KN )

BILS 2 levsnmnxsrr v <0. 002 <0. 002 <0. 002 4
17| v o o 2 2 Dz <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L v <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <0. 001 <0. 001 <0. 001 4
|21 [ ES i3 0.11 <0.05 0. 05 4
222 o o e fig <0. 002 <0. 002 <0. 002 4
23| = [ A v 2 0.010 0. 004 0. 007 4
24| Vi o o e fi 0. 004 0. 002 0. 003 4
%Y 7 v E / wm w A E v 0. 003 0. 002 0. 002 4
26 | 5 ES fit <0. 001 <0. 001 <0. 001 4
1l h U N m A B 0.018 0.010 0.014 4
28| b ] U o =1 fE W 0. 006 0. 003 0. 005 4
W7 v ® Y s v v A H 0. 006 0. 004 0. 005 4
30 |7 = £ A v 2 <0. 001 <0. 001 <0. 001 4
3ifa A~ A 7T A F ok K <0. 005 <0. 005 <0. 005 4
2| g K O o b A& W <0. 02 <0. 02 <0. 02 4
Bl7 LI = A KO EDODIAEY 0.03 <0. 02 <0. 02 4
M|k K W . o kA& W <0. 03 <0. 03 <0. 03 4
B K O . o kA& B <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 7.6 6.9 7.2 12 7.4 6.2 6.8] 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A > 10.2 8.4 9.1 12 9.9 8.1 9.0 12
9 B A w7 Ry N (EE) 22. 4 17.5 19.3[ 12 23.0 16.9 18.8) 12
40 |7K i 7% el B X1 62 50 56 4
Wale 4+ o R om E M Al %I <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 Dz 0.000003[  0.000002[  0.000003 2
43[12- A F v A4 VY KRV Fx F — 0.000001[ 0.000001 0.000001 2
43 4 A v Fom IE M Al %1 <0. 005 <0. 005 <0. 005 4
45 |7 = J = JL Xl <0. 0005 <0. 0005 <0. 0005 4
16 [EHY (AKKFE (TOC) D) 0.61 0. 39 0. 48 12 0. 86 0. 34 0. 49 12
47 |pH fil 7.7 7.4 7.5 12 7.5 7.2 7.3 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] REEpL| EEAL| A¥ARL 12
50 | i <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | FE <0. 1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4
2|y 7 v Kk O E o LAWY <0. 0002 <0. 0002 <0. 0002 4
3|l= v b v BN E O EDY <0. 002 <0. 002 <0. 002 4
5(i,- v 4 v o o=w = x v <0. 0002 <0. 0002 <0. 0002 4
8 | b v ES Dz <0. 001 <0. 001 <0. 001 4
9|7 # LY Q- F L ~F L) ¥l <0. 008 <0. 008 <0. 008 4
1By 7 v v 7 ¥ b = F U L 0. 001 <0. 001 <0. 001 4
14 |40 K 7 = 7 — JL 0. 003 0.001 0. 002 4
16|7% ® M & (O B 7k B O R ) 0.7 0.5 0.6 12 0.8 0.4 0.6 12
19 |37 i R i 3.1 2.2 2.6 4
20|1,1,1- F U 7 v w x K v <0. 001 <0. 001 <0. 001 4
20|A F v = 7 F NV = — F )b <0.001 <0.001 <0. 001 4
23[R & @ E (T O N ) <1 <1 <1 4
28 |4t J& ES 1 bl B 0 0 0 4
29|,1- ¥ 7 v v =x F L v <0. 001 <0. 001 <0. 001 4
Z DM DI H
[15]= & = i S 90 78 s2] 12] 89 73 9] 12]
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MoK B K B OA & O & & 53 54

i 7K ES we| IREREAK B KSR (TRNEK) IR B RRSK A Wk R (AREK)
B 7k % it FEAXEDOA—T H Vel )\ — T H

H H |55 5 | (N3 B\l % 15 | K| ] |
= i 32.5 5.3 17.6[ 12 33.1 5.0 18.0f 12
7k i 25. 2 9.2 16.7[ 12 25.0 9.0 16.9[ 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A A AR H 12
3l F I v 4 B O ZE Ok E WY <€0. 0003 <0. 0003 <0. 0003 4 <0. 0003 <0. 0003 <0. 0003 4
4Pk Ok W % o kA& M %1 <0.00005[  <0.00005[  <0.00005 4] <0.00005]  <0.00005]  <0.00005 4
5l L v B X 2 o kAW <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
6lgh K W X o b A W <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
7l £ B B X ot A WY <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
slx M 2 v A b A B <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
9 [ il [iZd HE e ES <0. 004 <0. 004 <0. 004 4 <0. 004 <0. 004 <0. 004 4
W7 vk A 4+ v kR OEly T v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
11 |h Be fE 25 3B Je O B RY MR ORE %= B 0.57 0. 52 0. 55 4 0. 57 0.51 0. 55 4
12|17 v # Kk X %2 O b &9 0. 09 <0. 05 0.07 12 0.09 0. 05 0.07 12
Bl v F kB X 2 © bt & W <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
14 [y i it R ES <€0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- ¥ %+ X + v <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk .

BILS 2 levsnmnxsrr v <€0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4
17| Vi o o A P Dz <€0. 001 <€0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
|21 [ ES i3 0.22 <0. 05 0.11 4 0.17 <0. 05 0. 09 4
222 =1 =1 fiE fig <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4
23| = [ A v 2 0. 023 0. 005 0.012 4 0.012 0. 003 0. 007 4
24| Vi 5 =1 fiE fig 0.011 0. 003 0. 006 4 0. 008 <0. 002 0. 004 4
%Y 7 v E / wm w A E v 0. 002 0. 002 0. 002 4 0. 002 0. 001 0. 002 4
26 | & ES fig <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
1l h U N m A B 0. 032 0.011 0.019 4 0.018 0. 007 0.013 4
28| b ] U =1 o fE R 0.012 0. 004 0. 009 4 0. 007 0. 002 0. 005 4
9|7 v ® ¥ /7 wm ow A F v 0. 007 0. 004 0. 006 4 0. 005 0. 003 0. 004 4
30 |7 = £ A v 2 <€0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
st A+ A 7 A F ok S <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
20 K U F o b AW 0. 02 <€0. 02 <€0. 02 4 <0. 02 <0. 02 <0. 02 4
Bl 7 LI =T ARV ZEDILEDY 0. 02 <0. 02 <0. 02 4 0. 02 <0. 02 <0. 02 4
Mgk K O o kb A W 0. 03 <0. 03 <0. 03 4 <0. 03 <0. 03 <0. 03 4
B Kk O £ o kA Y <0. 02 <0. 02 <0. 02 4 <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 7.3 5.8 6.5 12 7.2 5.7 6.5 12
37|~ H v Kk O % Ot AW <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A v 9.4 8.1 8.6] 12 9.2 8.1 8.5] 12
9 B A w7 Ry N (EE) 25.0 18. 1 22.7] 12 25. 2 18.7 22.8] 12
40 [ i 7% el B X1 69 58 62 4 69 58 62 4
| O R S N A < . <0. 02 <€0. 02 <€0. 02 4 <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 Dz 0. 000001 1 <0. 000001 1
$3- 2 F 4 VKR VR F — 0. 000002 1 0. 000001 1
N R N S N N < . 3! <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
45 |7 = J = v Xl <€0. 0005 <0. 0005 <0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
16 [EHY (AKKFE (TOC) D) 0.76 0. 45 0. 56 12 0.78 0. 44 0. 56 12
47 |pH fil 7.5 7.3 7.4 12 7.5 7.3 7.4 12
48 S HBEpL| BERL[ HELRL 12) Bl RERL|] RERL 12
49 | R & RBERL| HAERL[ AERL 12] Reiel| HEEael| BEEaL] 12
50 | i <0.5 <0.5 0.5 12 0.5 0.5 0.5] 12
51 | FE <0. 1 <€0.1 <0. 1 12 <0. 1 <0. 1 <0. 1 12
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 4 <0. 001 <0. 001 <0. 001 4
2l 5 v B O E o kAW <€0. 0002 <€0. 0002 <€0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
3|l= vy v B X o b &Y <0. 002 <0. 002 <0. 002 4 <0. 002 <0. 002 <0. 002 4
5(i,- v 4 v o o=w = x v <€0. 0002 <0. 0002 <0. 0002 4 <0. 0002 <0. 0002 <0. 0002 4
8 |k v = v <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
1By 7 v v 7 ¥ b = F U L 0. 002 <€0. 001 0. 001 4 0. 001 <0. 001 <0. 001 4
14 |3 K Ui o 5 — v 0. 005 0. 002 0. 003 4 0. 003 0. 001 0. 002 4
16|7% ® M & (O B 7k B O R ) 0.9 0.4 0.7 12 0.9 0.5 0.7 12
19 |37 i R i 3.1 1.3 2.4 4 3.5 2.2 2.7 4
20[1,,1- F VY 7 v owm = % <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
20| A F L -t- 7 F L T — F )b <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
23[R & @ E (T O N ) <1 <1 <1 4 <1 <1 <1 4
28 |4t & 3 S il T 21 0 5 4 0 0 0 4
29[1,1- ¥ 4 v v = F L o <€0. 001 <€0. 001 <€0. 001 4 <0. 001 <0. 001 <0. 001 4
Z DM DI H
[15]= & = i S 94 75 s6]  12] 94 75 se]  12]
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MoK B K B OA & O & & 55 56

i 7K ES Wl IREREAK AWk R AbEEK) IR RSZK Ay WK R (FEFEK)
B 7k % it el SRS =T B X BlER —TH

H H |55 5 | (N3 B\l % 15 | 1K ] |
S i 32.1 5.8 18.0[ 12 34.8 7.4 19.5 12
7k i 28.9 9.6 19.1 12 28.9 10.8 19.4f 12
KEFEHEE H

1 |— i il kil 0 0 0 12 0 0 0 12
2 | K 2 AR AR AR 12 A AR H R 12
3l F I v 4 B O ZE Ok E WY <0. 0003 <0. 0003 <0. 0003 4
4k kO 2 o (kA& B X1 <0.00005]  <0.00005[  <0.00005 4
5l L v R W 2 O LAWY <0. 001 <0. 001 <0. 001 4
618 Kk W o b A B <0.001 <0.001 <0. 001 4
7le = B O 2 o vk & B <0. 001 <0. 001 <0. 001 4
L A A =T N |- <0. 005 <0. 005 <0. 005 4
9 [ il [iZd i3 = ES <0. 004 <0. 004 <0. 004 4
0|7 e A 4+ ROy T v <0. 001 <0. 001 <0. 001 4
11 [fY B2 RE 22 R K OC Wi AY BB BB = R 0. 60 0. 46 0. 55 4
12|17 v # Kk X %2 O b &9 0. 09 0. 05 0.07 12 0.09 0. 06 0. 08 12
BIA v F k O 2 O b & B <0. 02 <0. 02 <0. 02 4
14 |4 i 1k R ES <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- 2 %+ X + ~ <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk .

BILS 2 levsnmnxsrr v <0. 002 <0. 002 <0. 002 4
17| Vi o o 2 2 Dz <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L v <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <0. 001 <0. 001 <0. 001 4
|21 [ ES i3 0. 14 <0.05 0.07 4
222 o o e fig <0. 002 <0. 002 <0. 002 4
23| = = A v 2 0.017 0. 005 0. 009 4
24| Vi o o e fig 0.011 0. 003 0. 006 4
%Y 7 v E / wm w A E v 0. 002 0. 001 0. 002 4
26 | 5 ES fit <0. 001 <0. 001 <0. 001 4
1l h U N m A B 0. 024 0.010 0.015 4
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4Pk Ok O % o kA& X1 <0.00005[  <0.00005[  <0.00005 4] <0.00005]  <0.00005]  <0.00005 4
5l L v B X 2 o kAW <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
6lgh K W X o b A W <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
7l £ B B X ot A WY <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
slx M 2 v A b A B <0. 005 <0. 005 <0.005[ 12 <0. 005 <0. 005 €0.005[ 12
9 [ il [iZd i3 e ES <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004 12
W7 b A 4+ v kRO HEby T v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
11 |h§ Be fE 25 3B J O B RY MR OB %= B 0. 40 0.31 0. 36 12 0. 37 0. 23 0.31 12
12z v # kK 00 F o (vt & W 0. 12 0. 07 0.10] 108 0.13 0.07 0.10] 204
BlA v F kB XX £ O bt &9 <0. 02 <0. 02 <0.02] 12 <0. 02 <0. 02 <0.02] 12
14 [y # it R ES <€0. 0002 <0. 0002 <0.0002] 12 <0. 0002 <0. 0002 €0.0002] 12
15 {1, 4- ¥ %+ X + v <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 €0.005[ 12

A-,2-Y 7 v F Lk .

1L} RO Qe vsan=ar <€0. 002 <0. 002 <0.002[ 12 <0. 002 <0. 002 €0.002[ 12
17| Vi o o A P v <€0. 001 <0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
187 k 7 o ow = F L v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
9l vV 4 B v = F L v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
20 |~ Dz + v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
21 |# ES fig 0.11 0. 05 €0.05[ 12 0.08 <0. 05 <0.05] 12
222 =1 =1 fiE fi <0. 002 <0. 002 €0.002] 12 <0. 002 <0. 002 <0.002[ 12
23| = = A v 2 0. 023 0. 004 0.009[ 12 0.012 0. 002 0.006[ 12
24| Vi = =1 fiE fig 0. 005 <0. 002 0.002[ 12 0. 005 <0. 002 0.002[ 12
%Y 7 v E / wm w A F v 0. 003 0. 001 0.002[ 12 0. 003 0. 001 0.002[ 12
26 | & % fig <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
1l F U N m A B 0. 036 0. 009 0.018[ 12 0. 020 0. 005 0.013[ 12
28| b ] U = o fE W 0.011 0. 003 0.006[ 12 0. 009 <0. 002 0.004f 12
9|7 v ® ¥ /7 wm ow A F 0.010 0. 003 0.006[ 12 0. 007 0. 002 0.004f 12
307 = £ & v N <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
st A A 7T A F ok S <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 €0.005[ 12
20 K U F o b AW 0. 02 <€0. 02 <0.02[ 12 <0. 02 <0. 02 <0.02] 12
Bl 7 LI =T ARV ZEDILEDY 0. 02 <0. 02 <0.02[ 12 0. 02 <0. 02 <0.02] 12
Mgk K O o kb A& W 0. 04 <0. 03 <0.03[ 12 <0. 03 <0. 03 <0.03] 12
B Kk O £ o kA Y <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02 12
36|17 b U YA KRBT OlAEY 8.2 6.2 7.1] 108 7.7 5.2 6.4] 204
37|~ H v Kk O % Ot AW <0. 005 <€0. 005 <0.005| 12 <0. 005 <0. 005 <0.005[ 12
38 |3 ft L) A A v 9.2 6.2 7.6] 108 9.8 5.5 7.2[ 204
9| IS T A, =R NG (FE) 22.3 13.6 18.3[ 108 21.5 11.5 16.3[ 204
40 | 7K i ik el B X1 59 49 55 4 52 43 49 4
a1 4 A+ v R m 3& M A X <0. 02 <0. 02 <€0. 02 4 <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 % 0.000003|  0.000002]  0.000002 4] 0.000004]  0.000002  0.000003 3
43[12- A F v A4 VKRV F F — 0.000001[ <0.000001[ <0.000001 4] 0.000001] <0.000001| <0.000001 3
N R N S N N < . 3 <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
45 |7 = J = JL Xl <0. 0005 <0. 0005 <€0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
16 [GHY (AKKFE (TOC) D hE) 0. 77 0. 34 0.46[ 108 0. 80 0. 31 0.44] 204
47 |pH fil 7.6 7.2 7.3] 108 7.6 7.1 7.3 204
48 S Bee Ll BEal| BEAL] 108]  BEAL] BELL[ BEARL] 204
49 | R & Byal|l BEaLl BwEaLl 18] BEaLl #EaLl BEaL] 204
50 |4 i 1.8 <0.5 <0.5| 108 1.0 0.5 <0.5] 204
51 | FE <€0.1 <€0.1 <0.1| 108 0.1 <0. 1 <0.1] 204
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
2l 5 v B O E o kAW <€0. 0002 <€0. 0002 €0.0002] 12 <0. 0002 <0. 0002 <0.0002] 12
3|l= vy v B X o b &Y <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002 12
5(,- v 4 v o=v = x v <€0. 0002 <0. 0002 €0.0002] 12 <0. 0002 <0. 0002 <0.0002] 12
8 |k v = v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
Bl 7 8 v 7 F = 8 J 0. 001 <€0. 001 <€0. 001 12 0. 002 <0. 001 <0. 001 12
14 |3 K Ui o 5 — v 0. 009 0. 001 0.004] 12 0. 004 <0. 001 0.002] 12
16|7% ® M & (O B 7k B O R ) 0.7 0.3 0.5 108 0.9 0.3 0.6] 204
19 |37 i R i 2.6 1.8 2.2 12 2.6 1.3 2.1 12
20[1,,1- F VY 7 v owm = % <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
20|A F L —t- 7 F L T — F )b <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
W|R & ® FE (T O N ) <1 <1 <1 12 <1 <1 <1 12
28 |9 & % 1 M B 4 0 0 12 2 0 0 12
29[1,1- ¥ 4 v v = F L v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
ZFDOMoOIAEH
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MoK B K B OA & O & & 27~43 44~45

W 7K 3 i =B K Y % KSR

H H 5 5 | % 1&# B\ la] 5| 5 | K| Bl %%
S i 35. 1 1.9 17.6[ 204 27.8 5.3 7.1 24
7k i 32.1 18.8[ 204 26.3 9.9 18.3 24
KEFEHEE H

1 |— i il kil 2 0 0 204 1 0 ol 24
2 | K [z AR AR A 204 At AR H AR 24
3 R I v s kO Z oA Y <0. 0003 <0. 0003 <0.0003] 12 <0. 0003 <0. 0003 <0. 0003 4
4Pk Ok O % o kA& X1 <0.00005[  <0.00005[  <0.00005 4] <0.00005]  <0.00005]  <0.00005 4
5l L v B X 2 o kAW <€0. 001 <0. 001 <0.001f 12 <0. 001 <0. 001 <0. 001 4
6lgh K W X o b A W <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
7l £ B B X ot A WY <0. 001 <0. 001 <0.001f 12 0.001 <0. 001 <0. 001 4
slx M 2 v A b A B <0. 005 <0. 005 <0.005[ 12 <0. 005 <0. 005 <0. 005 4
9 [ il [iZd i3 e ES <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004 4
W7 b A 4+ v kRO HEby T v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
11 |h§ Be fE 25 3B J O B RY MR OB %= B 0. 48 0. 26 0. 35 12 0. 39 0. 35 0. 37 4
12z v # kK 00 F o (vt & W 0. 13 0. 07 0.10] 204 0.13 0.08 0.11] 24
BlA v F kB XX £ O bt &9 <0. 02 <0. 02 <0.02] 12 <0. 02 <0. 02 <0. 02 4
14 [y # it R ES <€0. 0002 <0. 0002 <0.0002] 12 <0. 0002 <0. 0002 <0. 0002 4
15 {1, 4- ¥ %+ X + v <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005 4

A-,2-Y 7 v F Lk .

1L} RO Qe vsan=ar <€0. 002 <0. 002 <0.002[ 12 <0. 002 <0. 002 <0. 002 4
17| Vi o o A P v <€0. 001 <0. 001 €0.001] 12 <0. 001 <0. 001 <0. 001 4
Bl ~ 3 ¥ v B = F L o~ <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
9l vV 4 B v = F L v <€0. 001 <€0. 001 €0.001] 12 <0. 001 <0. 001 <0. 001 4
20 |~ Dz + v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
21 |# ES fig 0. 14 0. 05 0.05] 12 0.08 <0. 05 <0. 05 4
222 =1 =1 fiE fi <0. 002 <0. 002 €0.002] 12 <0. 002 <0. 002 <0. 002 4
23| = = A v 2 0. 024 0. 004 0.011f 12 0.014 0. 005 0. 008 4
24| Vi = =1 fiE fig 0.012 0. 002 0.006[ 12 <0. 002 <0. 002 <0. 002 4
%Y 7 v E / wm w A F v 0. 003 0. 002 0.002[ 12 0. 003 0. 002 0. 002 4
26 | & ES fig <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
1l F U N m A B 0. 037 0. 009 0.020[ 12 0. 023 0.011 0.016 4
28| b ] U =1 o fE R 0.012 0. 003 0.007[ 12 0. 009 0. 004 0. 006 4
9|7 v ® ¥ /7 wm ow A F 0.010 0. 003 0.006[ 12 0. 007 0. 004 0. 005 4
307 = £ & v N <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
31| A A F A F kK <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005 4
20 K U F o b AW 0. 02 <€0. 02 <0.02[ 12 <0. 02 <0. 02 <0. 02 4
Bl 7 LI =T ARV ZEDILEDY 0. 02 <0. 02 <0.02[ 12 <0. 02 <0. 02 <0. 02 4
Mgk K O o kb A& W 0. 04 <0. 03 <0.03[ 12 <0. 03 <0. 03 <0. 03 4
B Kk O £ o kA Y <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02 4
36| F U v A KW E DAY 8.0 6.1 7.0] 204 6.9 5.4 6.4 24
37|~ H v Kk O % Ot AW <0. 005 <€0. 005 <0.005| 12 <0. 005 <0. 005 <0. 005 4
38 |3 ft L) A A v 9.8 5.9 7.6 204 8.1 6.2 7.2 24
9| IS T A, =R NG (FE) 24. 0 13.9 18.6[ 204 20. 9 15. 1 18.3[ 24
40 | 7K i ik el B X1 55 50 52 4 53 45 48 4
a1 4 A+ v R m 3& M A X <0. 02 <0. 02 <€0. 02 4 <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 % 0.000002|  0.000001|  0.000002 3 <0. 000001 1
43[12- A F v A4 VKRV F F — 0.000001[ <0.000001[ <0.000001 3 <0. 000001 1
N R N S N N < . 3 <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
45 |7 = J = v Xl <0. 0005 <0. 0005 <€0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
16 [GHY (AKKFE (TOC) D hE) 0. 74 0. 36 0.48[ 204 0. 64 0. 37 0.48] 24
47 |pH fil 7.5 7.1 7.3] 204 7.6 7.3 7.5 24
48 S BeeU|l BEal| BEAUL] 204 BEAL] BEELLl BEARL] 24
49 | R & Byal]l BEalLl BEaLl 20| BEAaL[ #EaLl BEaL] 4
50 |4 i 1.1 <0.5 <0.5| 204 0.6 0.5 0.5] 24
51 | FE <€0.1 <€0.1 <0.1] 204 <0. 1 <0. 1 0.1] 24
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 4
2l 5 v B O E o kAW <€0. 0002 <€0. 0002 €0.0002] 12 <0. 0002 <0. 0002 <0. 0002 4
3|l= vy v B X o b &Y <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002 4
5(,- v 4 v o=v = x v <€0. 0002 <0. 0002 €0.0002] 12 <0. 0002 <0. 0002 <0. 0002 4
8 |k v = v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 4
9|7z LY @G- F L ~F L) X <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
Bl 7 8 v 7 F = 8 J 0. 002 <€0. 001 0. 001 12 0. 001 <0. 001 <0. 001 4
140m K Ui o 5 — L 0. 008 0. 001 0.004] 12 0. 003 0. 001 0. 002 4
16|7% ® M & (O B 7k B O R ) 1.1 0.3 0.6] 204 0.8 0.2 0.4] 24
19 |37 i R fii 3.1 1.8 2.4 12 2.6 1.8 2.2 4
20[1,,1- F VY 7 v owm = % <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 4
20|A F L —t- 7 F L T — F )b <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 4
W|R & ® FE (T O N ) <1 <1 <1 12 <1 <1 <1 4
28 |9 & % 1 M B 6 0 1 12 9 0 2 4
29[1,1- ¥ 4 v v = F L v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 4
Z DO DIEH
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MoK B K B OA & O & & 46~52 53~57

i 7K ES HE IR K W) VKSR IR SR Ay WK R

H H |5 5 | % K| B\ la] 5| 5 | K| 121 B
e i 31.6 3.1 18.8] 84 34.9 5.0 18.3[ 60
7k i 29.9 8.3 18.6] 84 28.9 9.0 18.2[ 60
KEFEHEE H

1 |— i il kil 2 0 of 84 2 0 ol 60
2 | K [z AR AR A 84 At A R 60
3 R I v s kO Z oA Y <0. 0003 <0. 0003 <0.0003] 12 <0. 0003 <0. 0003 €0.0003] 12
4Pk Ok O % o kA& X1 <0.00005[  <0.00005[  <0.00005 4] <0.00005]  <0.00005]  <0.00005 4
5l L v B X 2 o kAW <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
6lgh K W X o b A W <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
7l £ B B X ot A WY <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
slx M 2 v A b A B <0. 005 <0. 005 <0.005[ 12 <0. 005 <0. 005 €0.005[ 12
9 [ il [iZd i3 e ES <0. 004 <0. 004 <0. 004 12 <0. 004 <0. 004 <0. 004 12
W7 b A 4+ v kRO HEby T v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
11 |h§ Be fE 25 3B J O B RY MR OB %= B 0. 38 0. 26 0. 34 12 0. 60 0. 46 0. 55 12
12z v # kK 00 F o (vt & W 0.11 0. 07 0.10] 84 0. 09 <0. 05 0.07] 60
BlA v F kB XX £ O bt &9 <0. 02 <0. 02 <0.02] 12 <0. 02 <0. 02 <0.02] 12
14 [y # it R ES <€0. 0002 <0. 0002 <0.0002] 12 <0. 0002 <0. 0002 €0.0002] 12
15 {1, 4- ¥ %+ X + 2 <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 €0.005[ 12

A-,2-Y 7 v F Lk .

1L} RO Qe vsan=ar <€0. 002 <0. 002 <0.002[ 12 <0. 002 <0. 002 €0.002[ 12
17| v o o A P 2 <€0. 001 <0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
187 k 7 o ow = F L v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
9l vV 4 B v = F L v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
20 |~ Dz + v <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
21 |# ES fi% 0. 15 0. 05 0.06] 12 0. 22 <0. 05 0.09] 12
222 =1 =1 fiE fi <0. 002 <0. 002 €0.002] 12 <0. 002 <0. 002 <0.002[ 12
23| = [ A v 2 0.015 0. 003 0.007[ 12 0. 023 0. 003 0.009[ 12
24| Vi 5 =1 fiE fig 0. 006 <0. 002 0.003[ 12 0.011 <0. 002 0.005[ 12
%Y 7 v E / wm w A F v 0. 003 0. 002 0.002[ 12 0. 002 0. 001 0.002[ 12
26 (R % fig <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
1l F U N m A B 0. 026 0. 008 0.014f 12 0. 032 0. 007 0.016[ 12
28| b ] U = o fE W 0. 009 0. 002 0.005[ 12 0.013 0. 002 0.007[ 12
9|7 v ® Y 7 v v A H 0. 008 0. 003 0.005[ 12 0. 007 0. 003 0.005[ 12
307 = £ & v N <€0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
st A A 7T A F ok S <0. 005 <0. 005 <0.005| 12 <0. 005 <0. 005 €0.005[ 12
20 K U F o b AW 0. 02 <0. 02 <0.02[ 12 <0. 02 <0. 02 <0.02] 12
Bl 7 LI =T ARV ZEDILEDY 0. 04 <0. 02 <0.02[ 12 0.03 <0. 02 <0.02] 12
Mgk K O o kb A& W 0. 03 <€0. 03 <0.03[ 12 <0. 03 <0. 03 <0.03] 12
B Kk O £ o kA Y <0. 02 <0. 02 <0. 02 12 <0. 02 <0. 02 <0. 02 12
36| F U v A KW E DAY 7.7 6.2 6.9] 84 7.3 5.7 6.5] 60
37|~ H v Kk O % Ot AW <0. 005 <€0. 005 <0.005| 12 <0. 005 <0. 005 <0.005[ 12
38 |3 ft L) A A > 10.2 8.0 9.0] 84 10.2 7.8 8.5 60
9| IS T A, =R NG (FE) 23. 1 14.3 18.7 84 25. 2 18. 1 22.8] 60
40 |7% i 7% el LRS! 62 50 56 4 69 58 62 4
a1 4 A+ v R m 3& M A X <0. 02 <0. 02 <€0. 02 4 <0. 02 <0. 02 <0. 02 4
42| = 7+ 2 3 % 0.000003|  0.000002]  0.000002 5] 0.000002] <0.000001|  0.000001 3
43[12- A F v A4 VKRV F F — 0.000001[  0.000001[ 0.000001 5] 0.000002] <0.000001| 0.000001 3
N R N S N N < . 3 <0. 005 <0. 005 <0. 005 4 <0. 005 <0. 005 <0. 005 4
45 |7 = J = JL Xl <0. 0005 <0. 0005 <€0. 0005 4 <0. 0005 <0. 0005 <0. 0005 4
16 [GHY (AKKFE (TOC) D hE) 0. 86 0. 34 0.49) 84 0.78 0. 44 0.55] 60
47 |pH fil 7.7 7.2 7.4] 84 7.6 7.3 7.4 60
48 S BEpL| BERL[ HELRL 84| HELL| BEEAL| HEEALL| 60
49 | R & Byal|l BEalLl BEaLl s4] BEaLl #EaLl BEaLl 6o
50 |4 i <0.5 <0.5 0.5 84 0.5 0.5 <0.5] 60
51 | FE <0. 1 <€0.1 <0.1] 84 <0. 1 <0. 1 <0.1] 60
KEE L H R EHH

1|17 v F VRO Z O AEWY <0. 001 <0. 001 <0. 001 12 <0. 001 <0. 001 <0. 001 12
2l 5 v B O E o kAW <€0. 0002 <€0. 0002 €0.0002] 12 <0. 0002 <0. 0002 <0.0002] 12
3|l= vy v B X o b &Y <0. 002 <0. 002 <0. 002 12 <0. 002 <0. 002 <0. 002 12
5(,- v 4 v o=v = x v <€0. 0002 <0. 0002 €0.0002] 12 <0. 0002 <0. 0002 <0.0002] 12
8 |k v = v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
9|7 # LY Q- F L ~F L) ¥l <0. 008 <0. 008 <0. 008 4 <0. 008 <0. 008 <0. 008 4
Bl 7 8 v 7 F = 8 J 0. 001 <€0. 001 <€0. 001 12 0. 002 <0. 001 <0. 001 12
14 |3 K Ui o 5 — v 0. 004 <€0. 001 0.002] 12 0. 006 0. 001 0.003[ 12
16|7% ® M & (O B 7k B O R ) 0.8 0.4 0.6] 84 1.1 0.4 0.7] 60
19 |37 i R [ 3.1 1.8 2.3 12 3.5 1.3 2.5 12
20([,1,1- ~ VU 7y v om o & <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
20|A F L —t- 7 F L T — F )b <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
W|R & ® FE (T O N ) <1 <1 <1 12 <1 <1 <1 12
28 |9 & % 1 M B 1 0 0 12 21 0 2 12
29[1,1- ¥ 4 v v = F L v <€0. 001 <€0. 001 <€0. 001 12 <0. 001 <0. 001 <0. 001 12
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19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 13| 103 [_>7L&—h <0.0006| <0.0006| <0.0006| 13
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 13| 104 [KAFT7E—h <€0.00002| <0.00002| <0.00002| 13
51 |V A hm—k <€0.00005| <0.00005| <0.00005| 13| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 13
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 13| (105)|~FA4F > <€0.00005| <0.00005| <0.00005| 13
53 | XA TV <€0.00002| <€0.00002| <0.00002| 13| 106 | A =7w 7 (MCPP) <€0.00002| <0.00002| <0.00002| 13
)N ATV vAFY v <€0.00002| <€0.00002| <0.00002| 13| 107 [A Y In <€0.00002| <0.00002| <0.00002| 13
54 |54 Ly <€0.00005| <0.00005| <0.00005| 13| 108 | A& F %L <€0. 00005| <0.00005| <0.00005| 13
56 |7 V=1 €0.001|  <€0.001| <0.001| 13| 109 [#FZF A (DMTP) <€0.00001| <0.00001| <0.00001| 13
57 |F 7T A €0.0002| <0.0002| <0.0002| 13| 110 [AhI/AbmEY €0.0003| <0.0003| <0.0003| 13
58 | FAYINT <€0.00005| <0.00005| <0.00005| 13| 111 |A RY TP <€0.0003| <0.0003| <0.0003| 13
59 |F47 7 F— h AF L <€0.00005| <0.00005| <0.00005| 13| 112 (A7 =F & k <€0.00001| <0.00001| <0.00001| 13
60 |FARL LT <€0.00002| <€0.00002| <0.00002| 13| 113 A Fw=/1 <€0. 00001 <0.00001| <0.00001| 13
61 |77 YU kY A 0.00007| <0.00001| 0.00002| 13| 114 |E Y F*—h <€0.00001| <0.00001| <0.00001| 13
62 |7 /L7 17 (MBPMC) <€0.00001| <€0.00001| <0.00001| 13 MR =2 (B, B4 0. 04 <0. 01 <0.01| 13
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2 [2,2-DPA (¥ TR Y) €0.001| <0.001| <0.001| 13| 63 [FUZmEL <€0.00002| <0.00002| <0.00002| 13
3 |2,4-D (2,4-PA) <€0.00005| <0.00005| <0.00005| 13| 64 [ kYU 2 w7 (DEP) €0.0002| <0.0002| <0.0002| 13
4 [EPN <€0.00005| <0.00005| <0.00005| 13| 65 [FU 27TV —n 0.000019| <0.000002| 0.000005| 13
(4) |EPNA 3 ¥ <€0.00005| <0.00005| <0.00005| 13| 66 [FRUZAT Y <€0.00001| <€0.00001| <0.00001| 13
5 [MCPA €0.0003| <0.0003| <0.0003| 13| 67 [FFE/AIR <€0.00001| <0.00001| <0.00001| 13
6 (72T <€0.0001| <0.0001| <0.0001| 13| 69 |E~<maAR <€0.00005| <0.00005| <0.00005| 13
VA ZETN €0.0008| <0.0008| <0.0008| 13| 70 [T m=/L €0.0001| <0.0001| <0.0001| 13
M| A% FkA €0.0008| <0.0008| <0.0008| 13| 71 [TV FT Tz <€0.00002| <0.00002| <0.00002| 13
8 |7 hTVv <€0.00005| <0.00005| <0.00005| 13| 72 [TV Uk—hK (EFYL—1]) €0.0001| <0.0001| <0.0001| 13
9 |7 =mhk=x <€0.00005| <0.00005| <0.00005| 13| 73 |EV X7 =>FA <€0.00005| <0.00005| <0.00005| 13
10 [7Ir7X €0.0003| <0.0003| <0.0003| 13| 74 [EVTFHLT <€0.00002| <0.00002| <0.00002| 13
1 (777m—n <€0.00002| <0.00002| <0.00002| 13| 75 [Em¥Fm> 0.00002| <0.00001| <0.00001| 13
12 |4 YFHFFA <0.00001| <0.00001| <0.00001| 13| 76 |7 4 7=/ <€0.000005 | <0.000005| <0.000005| 13
)| Y ¥HFAr4F <€0.00001| <0.00001| <0.00001| 13| 77 |[7==hkwFA> (MEP) <€0.00001| <0.00001| <0.00001| 13
13[4 Y7z RA <€0.00003| <0.00003| <0.00003| 13| (77) |7 xz=haFFr4F >/ <€0.00001| <0.00001| <0.00001| 13
1 |4y FahnrT (MIPC) <€0.00005| <0.00005| <0.00005| 13| 78 |7 = /7 H/NT (BPMC) <€0.00001| <0.00001| <0.00001| 13
15 (YT uFA+Z > (IPT) 0.00002| <0.00001| <0.00001| 13) 79 |7=V LY €0.0005| <0.0005| <0.0005| 13
16 [ 7@~ RA (1BP) <€0.00005| <0.00005| <0.00005| 13| 80 |7 =>FHA> (MPP) <€0.00001| <0.00001| <0.00001| 13
B\ )77 €0.0003| <0.0003| <0.0003| 13| (80) [MPPA/LKF K <€0.00001| <0.00001| <0.00001| 13
19 [=27ahrT €0.0001| <0.0001| <0.0001| 13| (80) [MPPA/LIR <€0.00001| <0.00001| <0.00001| 13
20 |2 kT Fry R <€0.00005| <0.00005| <0.00005| 13| (80) [MPPA > <€0.00001| <0.00001| <0.00001| 13
2 | AXH Vs ARy €0.0001| <0.0001| <0.0001| 13| (80) [MPPAF> > ALRFL | <€0.00001| <0.00001| <0.00001| 13
23 | AF v 8 () €0.0004| <0.0004| <0.0004| 13| (80) [MPPA > AR <€0.00001| <0.00001| <0.00001| 13
24 |FUHR by €0.0006| <0.0006| <0.0006| 13| 81 [7=> h=—F (PAP) <€0.00004| <0.00004| <0.00004| 13
25 | XY AR A <0.000006| <0.000006| <0.000006| 13| 82 |7=> FFHI K €0.0001| <0.0001| <0.0001| 13
2 | BT = A hr—L <€0.00001| <€0.00001| <0.00001| 13| 83 [Z7#F4 K <€0.00001| <0.00001| <0.00001| 13
28 | B AU L (NAC) <€0.00002| <0.00002| <0.00002| 13| 84 |7%# 27 m—L €0.0002| <0.0002| <0.0002| 13
29 | HART T <0.000005| <0.000005| <0.000005| 13| 85 |7 # IK =R €0.0001| <0.0001| <0.0001| 13
30 %/ 277 (ACN) <€0.00002| <0.00002| <0.00002| 13| (85)|7 & IRAFF Y €0.0001| <0.0001| <0.0001| 13
31 |y FH €0.0001| <0.0001| <0.0001| 13| 86 |[F7m7=v <€0.00001| <0.00001| <0.00001| 13
32 |7 Irmy €0.0003| <0.0003| <0.0003| 13| 87 [ZATTF A €0.0003| <0.0003| <0.0003| 13
35 |vaATay s €0.0001| <0.0001| <0.0001| 13| 88 |[FLvFFZum—n 0.00002| <0.00001| <0.00001| 13
36 |7 m=hr7 =2 (CNP) €0.0001[ <0.0001| <0.0001| 13| 89 [Fmi I K €0.0001| <0.0001| <0.0001| 13
(36) |ONP-7" X / f& €0.0001| <0.0001| <0.0001| 13| 91 |[FmE=aty—iL €0.0002| <0.0002| <0.0002| 13
37 |7 YRR <€0.00005| <0.00005| <0.00005| 13| 92 |FmEHI K <€0. 00001 <0.00001| <0.00001| 13
BN|7 Y RALF Y <€0.00005| <0.00005| <0.00005| 13| 93 [Fr~FV—1 €0.0001| <0.0001| <0.0001| 13
38 |zmurZo=/ (TPN) <€0.00001| <0.00001| <0.00001| 13| 94 |FwEFF K €0.0001| <0.0001| <0.0001| 13
39 |oTFVr €0.00002| <€0.00002| <0.00002| 13| 95 [~/ v <€0.00002| <0.00002| <0.00002| 13
40 &7 /AR A (CYAP) <€0.00002| <0.00002| <0.00002| 13| 96 |~<=>Zm> <€0.0001| <0.0001| <0.0001| 13
41 ¥ (DOMU) €0.0001| <0.0001| <0.0001| 13| 97 [Rv Y ey oy <€0.0003| <0.0003| <0.0003| 13
42 |7 r~_=, (DBN) <€0.00001| <€0.00001| <0.00001| 13| 98 [R> YT =F v <€0.00002| <0.00002| <0.00002| 13
13 |¥ 7 a AR A (DDVP) <€0.00005| <0.00005| <0.00005| 13| 99 [~_> &V 0.00010{ <0.00001| 0.00005| 13
45 | VALKR Ry (ZFAFAA L) <€0.00004| <0.00004| <0.00004| 13| 100 [=>F 4 A&V <€0.00001 | <0.00001| <0.00001| 13
7 |[VFAEL <€0.00001| <0.00001| <0.00001| 13] 101 [_> 7 FHNT <€0.000004 | <0.000004 | <0.000004| 13
18 |Znmky FTFNL <€0.00006| <0.00006| <0.00006| 13| 102 |[R>T7AF V> (RRBIY) <€0.00001 | <0.00001| <0.00001| 13
19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 13| 103 [_>7L&—h <0.0006| <0.0006| <0.0006| 13
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 13| 104 [KAFT7E—h <€0.00002| <0.00002| <0.00002| 13
51 |V A hm—k <€0.00005| <0.00005| <0.00005| 13| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 13
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 13| (105)|~FA4F > <€0.00005| <0.00005| <0.00005| 13
53 | XA TV <€0.00002| <€0.00002| <0.00002| 13| 106 | A =7w 7 (MCPP) <€0.00002| <0.00002| <0.00002| 13
)N ATV vAFY v <€0.00002| <€0.00002| <0.00002| 13| 107 [A Y In <€0.00002| <0.00002| <0.00002| 13
54 |54 Ly 0.00007| <0.00005| <0.00005| 13| 108 | A% F %L <€0. 00005| <0.00005| <0.00005| 13
56 |7 V=1 €0.001|  <€0.001| <0.001| 13| 109 [#FZF A (DMTP) <€0.00001| <0.00001| <0.00001| 13
57 |F 7T A €0.0002| <0.0002| <0.0002| 13| 110 [AhI/AbmEY €0.0003| <0.0003| <0.0003| 13
58 | FAYINT <€0.00005| <0.00005| <0.00005| 13| 111 |A RY TP <€0.0003| <0.0003| <0.0003| 13
59 |F47 7 F— h AF L <€0.00005| <0.00005| <0.00005| 13| 112 (A7 =F & k <€0.00001| <0.00001| <0.00001| 13
60 |FARL LT <€0.00002| <€0.00002| <0.00002| 13| 113 A Fw=/1 <€0. 00001 <0.00001| <0.00001| 13
61 |77 YU kY A 0.00013| <0.00001| 0.00003| 13| 114 |E Y F*—h <€0.00001| <0.00001| <0.00001| 13
62 |7 /L7 17 (MBPMC) <€0.00001| <€0.00001| <0.00001| 13 MR =2 (B, B4 0. 07 <0. 01 0.01| 13
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2 [2,2-DPA (¥ TR Y) €0.001| <0.001| <0.001| 13| 63 [FUZmEL <€0.00002| <0.00002| <0.00002| 13
3 |2,4-D (2,4-PA) <€0.00005| <0.00005| <0.00005| 13| 64 [ kYU 2 w7 (DEP) €0.0002| <0.0002| <0.0002| 13
4 [EPN <€0.00005| <0.00005| <0.00005| 13| 65 [FU 27TV —n 0. 000058| <0.000002| 0.000011| 13
(4) |EPNA 3 ¥ <€0.00005| <0.00005| <0.00005| 13| 66 [FRUZAT Y <€0.00001| <€0.00001| <0.00001| 13
5 [MCPA €0.0003| <0.0003| <0.0003| 13| 67 [FFE/AIR <€0.00001| <0.00001| <0.00001| 13
6 (72T <€0.0001| <0.0001| <0.0001| 13| 69 |E~<maAR <€0.00005| <0.00005| <0.00005| 13
VA ZETN €0.0008| <0.0008| <0.0008| 13| 70 [T m=/L €0.0001| <0.0001| <0.0001| 13
M| A% FkA €0.0008| <0.0008| <0.0008| 13| 71 [TV FT Tz <€0.00002| <0.00002| <0.00002| 13
8 |7 hTVv <€0.00005| <0.00005| <0.00005| 13| 72 [TV Uk—hK (EFYL—1]) €0.0001| <0.0001| <0.0001| 13
9 |7 =mhk=x <€0.00005| <0.00005| <0.00005| 13| 73 |EV X7 =>FA <€0.00005| <0.00005| <0.00005| 13
10 [7Ir7X €0.0003| <0.0003| <0.0003| 13| 74 [EVTFHLT <€0.00002| <0.00002| <0.00002| 13
1 (777m—n <€0.00002| <0.00002| <0.00002| 13| 75 [Em¥Fm> 0.00002| <0.00001| <0.00001| 13
12 |4 YFHFFA <0.00001| <0.00001| <0.00001| 13| 76 |7 4 7=/ <€0.000005 | <0.000005| <0.000005| 13
)| Y ¥HFAr4F <€0.00001| <0.00001| <0.00001| 13| 77 |[7==hkwFA> (MEP) <€0.00001| <0.00001| <0.00001| 13
13[4 Y7z RA <€0.00003| <0.00003| <0.00003| 13| (77) |7 xz=haFFr4F >/ <€0.00001| <0.00001| <0.00001| 13
1 |4y FahnrT (MIPC) <€0.00005| <0.00005| <0.00005| 13| 78 |7 = /7 H/NT (BPMC) <€0.00001| <0.00001| <0.00001| 13
15 (YT uFA+Z > (IPT) <€0.00001| <0.00001| <0.00001| 13| 79 |Z7=V LY €0.0005| <0.0005| <0.0005| 13
16 [ 7@~ RA (1BP) <€0.00005| <0.00005| <0.00005| 13| 80 |7 =>FHA> (MPP) <€0.00001| <0.00001| <0.00001| 13
B\ )77 €0.0003| <0.0003| <0.0003| 13| (80) [MPPA/LKF K <€0.00001| <0.00001| <0.00001| 13
19 [=27ahrT €0.0001| <0.0001| <0.0001| 13| (80) [MPPA/LIR <€0.00001| <0.00001| <0.00001| 13
20 |2 kT Fry R <€0.00005| <0.00005| <0.00005| 13| (80) [MPPA > <€0.00001| <0.00001| <0.00001| 13
2 | AXH Vs ARy €0.0001| <0.0001| <0.0001| 13| (80) [MPPAF> > ALRFL | <€0.00001| <0.00001| <0.00001| 13
23 | AF v 8 () €0.0004| <0.0004| <0.0004| 13| (80) [MPPA > AR <€0.00001| <0.00001| <0.00001| 13
24 |FUHR by €0.0006| <0.0006| <0.0006| 13| 81 [7=> h=—F (PAP) <€0.00004| <0.00004| <0.00004| 13
25 | XY AR A <0.000006| <0.000006| <0.000006| 13| 82 |7=> FFHI K €0.0001| <0.0001| <0.0001| 13
2 | BT = A hr—L <€0.00001| <€0.00001| <0.00001| 13| 83 [Z7#F4 K <€0.00001| <0.00001| <0.00001| 13
28 | B AU L (NAC) <€0.00002| <0.00002| <0.00002| 13| 84 |7%# 27 m—L €0.0002| <0.0002| <0.0002| 13
29 | HART T <0.000005| <0.000005| <0.000005| 13| 85 |7 # IK =R €0.0001| <0.0001| <0.0001| 13
30 %/ 277 (ACN) <€0.00002| <0.00002| <0.00002| 13| (85)|7 & IRAFF Y €0.0001| <0.0001| <0.0001| 13
31 |y FH €0.0001| <0.0001| <0.0001| 13| 86 |[F7m7=v <€0.00001| <0.00001| <0.00001| 13
32 |7 Irmy €0.0003| <0.0003| <0.0003| 13| 87 [ZATTF A €0.0003| <0.0003| <0.0003| 13
35 |vaATay s €0.0001| <0.0001| <0.0001| 13| 88 |[FLvFFZum—n 0.00001| <0.00001| <0.00001| 13
36 |7 m=hr7 =2 (CNP) €0.0001[ <0.0001| <0.0001| 13| 89 [Fmi I K €0.0001| <0.0001| <0.0001| 13
(36) |ONP-7" X / f& €0.0001| <0.0001| <0.0001| 13| 91 |[FmE=aty—iL €0.0002| <0.0002| <0.0002| 13
37 |7 YRR <€0.00005| <0.00005| <0.00005| 13| 92 |FmEHI K <€0. 00001 <0.00001| <0.00001| 13
BN|7 Y RALF Y <€0.00005| <0.00005| <0.00005| 13| 93 [Fr~FV—1 €0.0001| <0.0001| <0.0001| 13
38 |zmurZo=/ (TPN) <€0.00001| <0.00001| <0.00001| 13| 94 |FwEFF K €0.0001| <0.0001| <0.0001| 13
39 |oTFVr €0.00002| <€0.00002| <0.00002| 13| 95 [~/ v <€0.00002| <0.00002| <0.00002| 13
40 &7 /AR A (CYAP) <€0.00002| <0.00002| <0.00002| 13| 96 |~<=>Zm> <€0.0001| <0.0001| <0.0001| 13
41 ¥ (DOMU) €0.0001| <0.0001| <0.0001| 13| 97 [Rv Y ey oy <€0.0003| <0.0003| <0.0003| 13
42 |¥ 7 m~_=,L (DBN) <€0.00001| <€0.00001| <0.00001| 13| 98 [R> YT =F v <€0.00002| <0.00002| <0.00002| 13
43 [Yrar®E= (DDVP) <€0.00005| <0.00005| <0.00005| 13| 99 [~_> &V 0.00011{ €0.00001| 0.00004| 13
45 | VALKR Ry (ZFAFAA L) <€0.00004| <0.00004| <0.00004| 13| 100 [=>F 4 A&V <€0.00001 | <0.00001| <0.00001| 13
7 |[VFAEL <€0.00001| <0.00001| <0.00001| 13] 101 [_> 7 FHNT <€0.000004 | <0.000004 | <0.000004| 13
18 |Znmky FTFNL <€0.00006| <0.00006| <0.00006| 13| 102 |[R>T7AF V> (RRBIY) <€0.00001 | <0.00001| <0.00001| 13
19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 13| 103 [_>7L&—h <0.0006| <0.0006| <0.0006| 13
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 13| 104 [KAFT7E—h <€0.00002| <0.00002| <0.00002| 13
51 |V A hm—k <€0.00005| <0.00005| <0.00005| 13| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 13
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 13| (105)|~FA4F > <€0.00005| <0.00005| <0.00005| 13
53 | XA TV <€0.00002| <€0.00002| <0.00002| 13| 106 | A =7w 7 (MCPP) <€0.00002| <0.00002| <0.00002| 13
)N ATV vAFY v <€0.00002| <€0.00002| <0.00002| 13| 107 [A Y In <€0.00002| <0.00002| <0.00002| 13
54 |54 Ly <€0.00005| <0.00005| <0.00005| 13| 108 | A& F %L <€0. 00005| <0.00005| <0.00005| 13
56 |7 V=1 €0.001|  <€0.001| <0.001| 13| 109 [#FZF A (DMTP) <€0.00001| <0.00001| <0.00001| 13
57 |F 7T A €0.0002| <0.0002| <0.0002| 13| 110 [AhI/AbmEY €0.0003| <0.0003| <0.0003| 13
58 | FAYINT <€0.00005| <0.00005| <0.00005| 13| 111 |A RY TP <€0.0003| <0.0003| <0.0003| 13
59 |F47 7 F— h AF L <€0.00005| <0.00005| <0.00005| 13| 112 (A7 =F & k <€0.00001| <0.00001| <0.00001| 13
60 |FARL LT <€0.00002| <€0.00002| <0.00002| 13| 113 A Fw=/1 0.00002| <0.00001| <0.00001| 13
61 |77 YU kY A <€0.00001| <€0.00001| <0.00001| 13| 114 |E U F—h <€0.00001| <0.00001| <0.00001| 13
62 |7 /L7 17 (MBPMC) <€0.00001| <€0.00001| <0.00001| 13 MR =2 (B, B4 <€0.01 <0. 01 <0.01| 13
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2 [2,2-DPA (¥ TR Y) €0.001| <0.001| <0.001| 13| 63 [FUZmEL <€0.00002| <0.00002| <0.00002| 13
3 |2,4-D (2,4-PA) <€0.00005| <0.00005| <0.00005| 13| 64 [ kYU 2 w7 (DEP) €0.0002| <0.0002| <0.0002| 13
4 [EPN <€0.00005| <0.00005| <0.00005| 13| 65 [FU 27TV —n 0. 000029 <0.000002| 0.000005| 13
(4) |EPNA 3 ¥ <€0.00005| <0.00005| <0.00005| 13| 66 [FRUZAT Y <€0.00001| <€0.00001| <0.00001| 13
5 [MCPA €0.0003| <0.0003| <0.0003| 13| 67 [FFE/AIR <€0.00001| <0.00001| <0.00001| 13
6 (72T <€0.0001| <0.0001| <0.0001| 13| 69 |E~<maAR <€0.00005| <0.00005| <0.00005| 13
VA ZETN €0.0008| <0.0008| <0.0008| 13| 70 [T m=/L €0.0001| <0.0001| <0.0001| 13
M| A% FkA €0.0008| <0.0008| <0.0008| 13| 71 [TV FT Tz <€0.00002| <0.00002| <0.00002| 13
8 |7 hTVv <€0.00005| <0.00005| <0.00005| 13| 72 [TV Uk—hK (EFYL—1]) €0.0001| <0.0001| <0.0001| 13
9 |7 =mhk=x <€0.00005| <0.00005| <0.00005| 13| 73 |EV X7 =>FA <€0.00005| <0.00005| <0.00005| 13
10 [7Ir7X €0.0003| <0.0003| <0.0003| 13| 74 [EVTFHLT <€0.00002| <0.00002| <0.00002| 13
1 (777m—n <€0.00002| <0.00002| <0.00002| 13| 75 [Em¥Fm> 0.00001| <€0.00001| <0.00001| 13
12 |4 YFHFFA <0.00001| <0.00001| <0.00001| 13| 76 |7 4 7=/ <€0.000005 | <0.000005| <0.000005| 13
)| Y ¥HFAr4F <€0.00001| <0.00001| <0.00001| 13| 77 |[7==hkwFA> (MEP) <€0.00001| <0.00001| <0.00001| 13
13[4 Y7z RA <€0.00003| <0.00003| <0.00003| 13| (77) |7 xz=haFFr4F >/ <€0.00001| <0.00001| <0.00001| 13
1 |4y FahnrT (MIPC) <€0.00005| <0.00005| <0.00005| 13| 78 |7 = /7 H/NT (BPMC) <€0.00001| <0.00001| <0.00001| 13
15 (YT uFA+Z > (IPT) <€0.00001| <0.00001| <0.00001| 13| 79 |Z7=V LY €0.0005| <0.0005| <0.0005| 13
16 [ 7@~ RA (1BP) <€0.00005| <0.00005| <0.00005| 13| 80 |7 =>FHA> (MPP) <€0.00001| <0.00001| <0.00001| 13
B\ )77 €0.0003| <0.0003| <0.0003| 13| (80) [MPPA/LKF K <€0.00001| <0.00001| <0.00001| 13
19 [=27ahrT €0.0001| <0.0001| <0.0001| 13| (80) [MPPA/LIR <€0.00001| <0.00001| <0.00001| 13
20 |2 kT Fry R <€0.00005| <0.00005| <0.00005| 13| (80) [MPPA > <€0.00001| <0.00001| <0.00001| 13
2 | AXH Vs ARy €0.0001| <0.0001| <0.0001| 13| (80) [MPPAF> > ALRFL | <€0.00001| <0.00001| <0.00001| 13
23 | AF v 8 () €0.0004| <0.0004| <0.0004| 13| (80) [MPPA > AR <€0.00001| <0.00001| <0.00001| 13
24 |FUHR by €0.0006| <0.0006| <0.0006| 13| 81 [7=> h=—F (PAP) <€0.00004| <0.00004| <0.00004| 13
25 | XY AR A <0.000006| <0.000006| <0.000006| 13| 82 |7=> FFHI K €0.0001| <0.0001| <0.0001| 13
2 | BT = A hr—L <€0.00001| <€0.00001| <0.00001| 13| 83 [Z7#F4 K <€0.00001| <0.00001| <0.00001| 13
28 | B AU L (NAC) <€0.00002| <0.00002| <0.00002| 13| 84 |7%# 27 m—L €0.0002| <0.0002| <0.0002| 13
29 | HART T <0.000005| <0.000005| <0.000005| 13| 85 |7 # IK =R €0.0001| <0.0001| <0.0001| 13
30 %/ 277 (ACN) <€0.00002| <0.00002| <0.00002| 13| (85)|7 & IRAFF Y €0.0001| <0.0001| <0.0001| 13
31 |y FH €0.0001| <0.0001| <0.0001| 13| 86 |[F7m7=v <€0.00001| <0.00001| <0.00001| 13
32 |7 Irmy €0.0003| <0.0003| <0.0003| 13| 87 [ZATTF A €0.0003| <0.0003| <0.0003| 13
35 |vaATay s €0.0001| <0.0001| <0.0001| 13| 88 |[FLvFFZum—n 0.00002| <0.00001| <0.00001| 13
36 |7 m=hr7 =2 (CNP) €0.0001[ <0.0001| <0.0001| 13| 89 [Fmi I K €0.0001| <0.0001| <0.0001| 13
(36) |ONP-7" X / f& €0.0001| <0.0001| <0.0001| 13| 91 |[FmE=aty—iL €0.0002| <0.0002| <0.0002| 13
37 |7 YRR <€0.00005| <0.00005| <0.00005| 13| 92 |FmEHI K <€0. 00001 <0.00001| <0.00001| 13
BN|7 Y RALF Y <€0.00005| <0.00005| <0.00005| 13| 93 [Fr~FV—1 €0.0001| <0.0001| <0.0001| 13
38 |zmurZo=/ (TPN) <€0.00001| <0.00001| <0.00001| 13| 94 |FwEFF K 0.0001| <0.0001| <0.0001| 13
39 |oTFVr €0.00002| <€0.00002| <0.00002| 13| 95 [~/ v <€0.00002| <0.00002| <0.00002| 13
40 &7 /AR A (CYAP) <€0.00002| <0.00002| <0.00002| 13| 96 |~<=>Zm> <€0.0001| <0.0001| <0.0001| 13
41 ¥ (DOMU) €0.0001| <0.0001| <0.0001| 13| 97 [Rv Y ey oy <€0.0003| <0.0003| <0.0003| 13
42 |¥ 7 m~_=,L (DBN) <€0.00001| <€0.00001| <0.00001| 13| 98 [R> YT =F v <€0.00002| <0.00002| <0.00002| 13
43 [Yrar®E= (DDVP) <€0.00005| <0.00005| <0.00005| 13| 99 [~_> &V 0.00014| <0.00001| 0.00005| 13
45 | VALKR Ry (ZFAFAA L) <€0.00004| <0.00004| <0.00004| 13| 100 [=>F 4 A&V <€0.00001 | <0.00001| <0.00001| 13
7 |[VFAEL <€0.00001| <0.00001| <0.00001| 13] 101 [_> 7 FHNT <€0.000004 | <0.000004 | <0.000004| 13
18 |Znmky FTFNL <€0.00006| <0.00006| <0.00006| 13| 102 |[R>T7AF V> (RRBIY) <€0.00001 | <0.00001| <0.00001| 13
19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 13| 103 [_>7L&—h <0.0006| <0.0006| <0.0006| 13
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 13| 104 [KAFT7E—h <€0.00002| <0.00002| <0.00002| 13
51 |V A hm—k <€0.00005| <0.00005| <0.00005| 13| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 13
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 13| (105)|~FA4F > <€0.00005| <0.00005| <0.00005| 13
53 | XA TV <€0.00002| <€0.00002| <0.00002| 13| 106 | A =7w 7 (MCPP) <€0.00002| <0.00002| <0.00002| 13
)N ATV vAFY v <€0.00002| <€0.00002| <0.00002| 13| 107 [A Y In <€0.00002| <0.00002| <0.00002| 13
54 |54 Ly <€0.00005| <0.00005| <0.00005| 13| 108 | A& F %L <€0. 00005| <0.00005| <0.00005| 13
56 |7 V=1 €0.001|  <€0.001| <0.001| 13| 109 [#FZF A (DMTP) <€0.00001| <0.00001| <0.00001| 13
57 |F 7T A €0.0002| <0.0002| <0.0002| 13| 110 [AhI/AbmEY €0.0003| <0.0003| <0.0003| 13
58 | FAYINT <€0.00005| <0.00005| <0.00005| 13| 111 |A RY TP <€0.0003| <0.0003| <0.0003| 13
59 |F47 7 F— h AF L <€0.00005| <0.00005| <0.00005| 13| 112 (A7 =F & k <€0.00001| <0.00001| <0.00001| 13
60 |FARL LT <€0.00002| <€0.00002| <0.00002| 13| 113 A Fw=/1 <€0. 00001 <0.00001| <0.00001| 13
61 |77 YU kY A <€0.00001| <€0.00001| <0.00001| 13| 114 |E U F—h <€0.00001| <0.00001| <0.00001| 13
62 |7 /L7 17 (MBPMC) <€0.00001| <€0.00001| <0.00001| 13 MR =2 (B, B4 <€0.01 <0. 01 <0.01| 13
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HH B Bl B2 [ %k HHA e A% E22) =1 %%
2 [2,2-DPA (¥ TR YV) €0.001| <0.001| <0.001| 3| 63 [rUZEEL <€0.00002| <€0.00002| <0.00002| 3
3 (2,4-D (2,4-PA) <€0.00005| <0.00005| <0.00005| 3| 64 [kVU 2wk (DEP) €0.0002| <0.0002| <0.0002| 3
4 [EPN <0.00005| <0.00005| <0.00005 31 65 |FRUT TV — <€0.000002 | <0. 000002 <0. 000002 3
(4) |EPNA 3 ¥ <€0.00005| <0.00005| <0.00005| 3| 66 [FRUZATY <€0.00001| <€0.00001| <0.00001| 3
5 [MCPA €0.0003| <0.0003| <0.0003| 3| 67 [FFEAIR <€0.00001| <0.00001| <0.00001| 3
6 (72T €0.0001| <0.0001| <0.0001| 3| 69 [E~<mH=A <€0.00005| <0.00005| <0.00005| 3
VA ZETN €0.0008| <0.0008| <0.0008] 3| 70 [vTFrm= €0.0001| <0.0001| <0.0001| 3
M| A% I FBA €0.0008| <0.0008| <0.0008| 3| 71 |[ETFVFLTxr <€0.00002| <0.00002| <0.00002| 3
E g N <€0.00005| <€0.00005| <0.00005| 3| 72 [TV UFX—hK (EFYVL—1]) €0.0001| <0.0001| <0.0001| 3
9 [F=mH=R <€0.00005| <0.00005| <0.00005| 3| 73 |EVHT=rFA <€0.00005| <0.00005| <0.00005| 3
10 [73Ih7X €0.0003| <0.0003| <0.0003| 3| 74 |[EVTFHLT <€0.00002| <€0.00002| <0.00002| 3
1 (7r77m—n <€0.00002| <0.00002| <0.00002| 3| 75 [EmFm> <€0.00001| <0.00001| <0.00001| 3
12 |4 YFHFi <0.00001| <0.00001| <0.00001 3] 76|74 = <€0. 000005 | <0.000005| <0. 000005 3
)| Y ¥HYFAr4F <€0.00001| <0.00001| <0.00001| 3| 77 |[Z7==hFuFA> (MEP) <€0.00001| <0.00001| <0.00001| 3
13 [fY7xrRA <€0.00003| <€0.00003| <0.00003| 3| (77)|7==hmFFrA*x <€0.00001| <0.00001| <0.00001| 3
1 |4y FahnrT (MPC) <€0.00005| <0.00005| <0.00005| 3| 78 |7= /7 AT (BPMC) <€0.00001| <0.00001| <0.00001| 3
15 (Y7 uFA+Z > (IPT) <€0.00001| <0.00001| <0.00001| 3| 79 |7=V LY €0.0005| <0.0005| <0.0005| 3
16 [ 7@~ RA (1BP) <€0.00005| <0.00005| <0.00005| 3| 80 |7 = FA> (MPP) <€0.00001| <0.00001| <0.00001| 3
B (A7) Ty €0.0003| <0.0003| <0.0003| 3| (80) [MPPA/LKFL K <€0.00001| <0.00001| <0.00001| 3
19 =27 ahrT €0.0001| <0.0001| <0.0001| 3| (80)[MPPALIR <€0.00001| <0.00001| <0.00001| 3
20 |2 kT Fry A <€0.00005| <0.00005| <0.00005| 3| (80) [MPPA > <€0.00001| <0.00001| <0.00001| 3
2 |AF YV u AR €0.0001| <0.0001| <0.0001| 3| (80) [MPPAF> > ALRFL | €0.00001| <0.00001| <0.00001| 3
23 | AF v 8 () €0.0004| <0.0004| <0.0004| 3| (80) [MPPAF > AR €0.00001| <0.00001| <0.00001| 3
24 |FUHR prEy €0.0006| <0.0006| <0.0006| 3| 81 [7= hx—F (PAP) <€0.00004| <0.00004| <0.00004| 3
25 |4 XA AR A <0.000006| <0.000006| <0.000006| 3| 82 |7xi RFHI K €0.0001| <0.0001| <0.0001| 3
2 | BT = A hr—L <€0.00001| <€0.00001| <0.00001| 3| 83 [7#F4 K <€0.00001| <0.00001| <0.00001| 3
28 | B AU L (NAC) <€0.00002| <0.00002| <0.00002| 3| 84 |7&# 27 wm—L €0.0002| <0.0002| <0.0002| 3
29 |IART T <0.000005| <0.000005| <0.000005| 3| 85 |7 & IKR €0.0001| <0.0001| <0.0001| 3
30 |% /277 (ACN) <€0.00002| <0.00002| <0.00002| 3| (85)|7 & IHKAFF Y €0.0001| <0.0001| <0.0001| 3
31 |y S X €0.0001| <0.0001| <0.0001| 3| 86 |[FFmT=V» <€0.00001| <0.00001| <0.00001| 3
32 |7 3Irmy €0.0003| <0.0003| <0.0003| 3| 87 [FATIF A €0.0003| <0.0003| <0.0003| 3
35 |vaATay s €0.0001| <0.0001| <0.0001| 3| 88 |[FLvFFru—n <€0.00001| <0.00001| <0.00001| 3
36 |7m=hkr7= (CNP) €0.0001| <0.0001| <0.0001| 3| 89 [Fmi IR €0.0001| <0.0001| <0.0001| 3
(36) |ONP-7" X / f& €0.0001| <0.0001| <0.0001| 3| 91 [FmE=aty—u €0.0002| <0.0002| <0.0002| 3
37 |7 YRR <€0.00005| <0.00005| <0.00005| 3| 92 |FmEH¥I K <€0. 00001 <0.00001| <0.00001| 3
BN Y RALF Y <€0.00005| <€0.00005| <0.00005| 3| 93 [Fr~FV—1 €0.0001| <0.0001| <0.0001| 3
38 |zmurZo=/ (TPN) <€0.00001| <€0.00001| <0.00001| 3| 94 |FwEFF K €0.0001| <0.0001| <0.0001| 3
39 |oTFVr €0.00002| <€0.00002| <0.00002| 3| 95 [~/ 3In <€0.00002| <0.00002| <0.00002| 3
40 |¥ 7 7 AR A (CYAP) <€0.00002| <0.00002| <0.00002| 3| 96 |~<=rrmr <€0.0001| <0.0001| <0.0001| 3
41 ¥ (DOMU) €0.0001| <0.0001| <0.0001| 3| 97 [RevELrumr <€0.0003| <0.0003| <0.0003| 3
42 |7 r~_=, (DBN) <€0.00001| <0.00001| <0.00001| 3| 98 [R> VT =FvF <€0.00002| <0.00002| <0.00002| 3
13 |¥ 27 a AR A (DDVP) <€0.00005| <0.00005| <0.00005| 3| 99 [~> &V <€0.00001| <0.00001| <0.00001| 3
45 |[VALR Ry (ZFAFAA L) <€0.00004| <€0.00004| <0.00004| 3| 100 [=>F 4 A&V <€0.00001 | <0.00001| <0.00001| 3
17 | VFAEL <0.00001| <0.00001| <0.00001 3 101 [Ny TFaNT <€0.000004 | <0.000004 | <0.000004| 3
48 |Znmky FTFNL <€0.00006| <0.00006| <0.00006| 3| 102 [ T7AF V> (RRBIY) <€0.00001 | <0.00001| <0.00001| 3
19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 3| 103 [R>7L&—h <0.0006| <0.0006| <0.0006| 3
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 3| 104 [KRAFT7E—h <€0.00002| <0.00002| <0.00002| 3
51 |V A hxm—k <€0.00005| <0.00005| <0.00005| 3| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 3
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 3| (105)|~FAF > > <€0.00005| <0.00005| <0.00005| 3
53 | XA TV <€0.00002| <€0.00002| <0.00002| 3| 106 | A =7 7 (MCPP) <€0.00002| <0.00002| <0.00002| 3
)N ATV vAFY v <€0.00002| <€0.00002| <0.00002| 3| 107 [A Y 3In <€0.00002| <0.00002| <0.00002| 3
54 |54 Ly <€0.00005| <0.00005| <0.00005| 3| 108 | A& FF L <€0.00005| <0.00005| <0.00005| 3
56 |7 V=1 €0.001|  <€0.001| <0.001| 3| 109 [#FZFA> (DMTP) <€0.00001| <0.00001| <0.00001| 3
57 |F T A €0.0002| <0.0002| <0.0002| 3| 110 (A I/ AbmEY €0.0003| <0.0003| <0.0003| 3
58 |F AV INT <€0.00005| <0.00005| <0.00005| 3| 111 |A RY TP <€0.0003| <0.0003| <0.0003| 3
59 |FA47 7 F— h AFL <€0.00005| <0.00005| <0.00005| 3| 112 (A7 =FE&w K <€0.00001| <0.00001| <0.00001| 3
60 | F AR INT <€0.00002| <€0.00002| <0.00002| 3| 113 [#Fw=/1 <€0. 00001 <0.00001| <0.00001| 3
61 |77 UL RY A <€0.00001| <€0.00001| <0.00001| 3| 114 |V F—h <€0.00001| <0.00001| <0.00001| 3
62 |7 /L7 717 (MBPMC) <€0.00001| <€0.00001| <0.00001| 3 MR =2 (B, B R4 <0. 01 <0.01 <0.01| 3
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HH B Bl B2 [ %k HHA e A% E22) =1 %%
2 [2,2-DPA (¥ TR Y) €0.001| <0.001| <0.001| 3| 63 [FrYUZEEL <€0.00002| <0.00002| <0.00002| 3
3 (2,4-D (2,4-PA) <€0.00005| <0.00005| <0.00005| 3| 64 [kVU 2wk (DEP) €0.0002| <0.0002| <0.0002| 3
4 [EPN <0.00005| <0.00005| <0.00005 31 65 |[RUT TV — <€0.000002 | <0. 000002 <0. 000002 3
(4) |EPNA 3 ¥ <€0.00005| <0.00005| <0.00005| 3| 66 [FRUZATY <€0.00001| <€0.00001| <0.00001| 3
5 [MCPA €0.0003| <0.0003| <0.0003| 3| 67 [FFEAIR <€0.00001| <€0.00001| <0.00001| 3
6 (72T €0.0001| <0.0001| <0.0001| 3| 69 [E~<mH=A <€0.00005| <0.00005| <0.00005| 3
VA ZETN €0.0008| <0.0008| <0.0008] 3| 70 [TFrm=/ €0.0001| <0.0001| <0.0001| 3
M| A% FkA €0.0008| <0.0008| <0.0008] 3| 71 |[ETFVFLTxr <€0.00002| <0.00002| <0.00002| 3
8 |7 hTVv <€0.00005| <0.00005| <0.00005| 3| 72 [TV UFX—hK (EFYL—1]) €0.0001| <0.0001| <0.0001| 3
9 [F=mH=R <€0.00005| <0.00005| <0.00005| 3| 73 |EVHT=rFA <€0.00005| <0.00005| <0.00005| 3
10 [7Ir7X €0.0003| <0.0003| <0.0003| 3| 74 |[EVTFHLT €0.00002| <0.00002| <0.00002| 3
1 (777m—n <€0.00002| <0.00002| <0.00002| 3| 75 [EmFm <€0.00001| <0.00001| <0.00001| 3
12 |4 YFHFFA <0.00001| <0.00001| <0.00001 3] 76|74 =0 <€0. 000005 | <0.000005| <0. 000005 3
)| VXY FAr4F <€0.00001| <0.00001| <0.00001| 3| 77 |[7==hFuFA> (MEP) <€0.00001| <0.00001| <0.00001| 3
13[4 Y7z RA <€0.00003| <0.00003| <0.00003| 3| (77)|7==hmFFrA*x <€0.00001| <0.00001| <0.00001| 3
1 |4y FahnrT (MIPC) <€0.00005| <0.00005| <0.00005| 3| 78 |7= /7 AT (BPMC) <€0.00001| <0.00001| <0.00001| 3
15 (YT uFA+Z > (IPT) <€0.00001| <0.00001| <0.00001| 3| 79 |Z7=V LY €0.0005| <0.0005| <0.0005| 3
16 [ 7@~ RA (1BP) <€0.00005| <0.00005| <0.00005| 3| 80 |7=>FA> (MPP) <€0.00001| <0.00001| <0.00001| 3
B (A7) Ty €0.0003| <0.0003| <0.0003| 3| (80) [MPPA/LKFL K €0.00001| <0.00001| <0.00001| 3
19 [=27ahrT €0.0001| <0.0001| <0.0001| 3| (80)[MPPALIR €0.00001| <0.00001| <0.00001| 3
20 |2 kT Fry R <€0.00005| <0.00005| <0.00005| 3| (80) [MPPA > <€0.00001| <0.00001| <0.00001| 3
2 |AFH Vs u AR €0.0001| <0.0001| <0.0001| 3| (80) [MPPAF > ALRFL | <€0.00001| <0.00001| <0.00001| 3
23 | AF v 8 () €0.0004| <0.0004| <0.0004| 3| (80) [MPPA > AR <€0.00001| <0.00001| <0.00001| 3
24 |FUHR by €0.0006| <0.0006| <0.0006| 3| 81 [7= h=—F (PAP) <€0.00004| <0.00004| <0.00004| 3
25 | XY AR A <0.000006| <0.000006| <0.000006| 3| 82 |7x=i RTFHI K €0.0001| <0.0001| <0.0001| 3
2 | BT = A hr—L <€0.00001| <€0.00001| <0.00001| 3| 83 [7#F4 K <€0.00001| <0.00001| <0.00001| 3
28 | B AU L (NAC) <€0.00002| <0.00002| <0.00002| 3| 84 |7&# 27 wm—1 €0.0002| <0.0002| <0.0002| 3
29 |WART T €0.000005| <0.000005| <0.000005| 3| 85 |7 & IKR €0.0001| <0.0001| <0.0001| 3
30 |% /277 (ACN) <€0.00002| <0.00002| <0.00002| 3| (85)|7 & IHKAFF Y €0.0001| <0.0001| <0.0001| 3
31 |y FH €0.0001| <0.0001| <0.0001| 3| 86 |[FTmT=V» <€0.00001| <0.00001| <0.00001| 3
32 |7 Irmy €0.0003| <0.0003| <0.0003| 3| 87 [FATIF A €0.0003| <0.0003| <0.0003| 3
35 |vaATay s €0.0001| <0.0001| <0.0001| 3| 88 |[FLvFFru—n <€0.00001| <0.00001| <0.00001| 3
36 |7m=hkr7 = (CNP) €0.0001| <0.0001| <0.0001| 3| 89 [Fmi I R» €0.0001| <0.0001| <0.0001| 3
(36) |ONP-7" X / f& €0.0001| <0.0001| <0.0001| 3| 91 [FmE=aty—i €0.0002| <0.0002| <0.0002| 3
37 |7 YRR <€0.00005| <0.00005| <0.00005| 3| 92 |FmEH¥I K <€0.00001| <0.00001| <0.00001| 3
BN|7 Y RALF Y <€0.00005| <0.00005| <0.00005| 3| 93 [Fr~FV—1 €0.0001| <0.0001| <0.0001| 3
38 |zmurZo=/ (TPN) <€0.00001| <0.00001| <0.00001| 3| 94 |FwEFF K €0.0001| <0.0001| <0.0001| 3
39 |oTFVr €0.00002| <€0.00002| <0.00002| 3| 95 [~/ 3In <€0.00002| <0.00002| <0.00002| 3
40 &7 /AR A (CYAP) <€0.00002| <0.00002| <0.00002| 3| 96 |<=rrmr <€0.0001| <0.0001| <0.0001| 3
41 ¥ (DOMU) €0.0001| <0.0001| <0.0001| 3| 97 [RvvELrmr <€0.0003| <0.0003| <0.0003| 3
42 |7 r~_=, (DBN) <€0.00001| <€0.00001| <0.00001| 3| 98 [R> YT =FvF <€0.00002| <0.00002| <0.00002| 3
13 |¥ 7 a AR A (DDVP) <€0.00005| <0.00005| <0.00005| 3| 99 [~ &V <€0.00001| <0.00001| <0.00001| 3
45 | VALKR Ry (ZFAFAA L) <€0.00004| <€0.00004| <0.00004| 3| 100 [=>F 4 A&V <€0.00001 | <0.00001| <0.00001| 3
7 |[VFAEL <0.00001| <0.00001| <0.00001 3 101 (R TFhNT <€0.000004 | <0.000004 | <0.000004| 3
18 |Znmky FTFNL <€0.00006| <0.00006| <0.00006| 3| 102 [P TAF V> (RRBIY) <€0.00001 | <0.00001| <0.00001| 3
19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 3| 103 [R>7L&—h <0.0006| <0.0006| <0.0006| 3
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 3| 104 [KRAFT7E—h <€0.00002| <0.00002| <0.00002| 3
51 |V A hm—k <€0.00005| <0.00005| <0.00005| 3| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 3
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 3| (105)|~FAF >V > <€0.00005| <0.00005| <0.00005| 3
53 | XA TV <€0.00002| <€0.00002| <0.00002| 3| 106 | A =7 7 (MCPP) <€0.00002| <0.00002| <0.00002| 3
)N ATV vAFY v <€0.00002| <€0.00002| <0.00002| 3| 107 [AY3In <€0.00002| <0.00002| <0.00002| 3
54 |54 Ly <€0.00005| <0.00005| <0.00005| 3| 108 | A& FF L <€0. 00005| <0.00005| <0.00005| 3
56 |7 V=1 €0.001|  <€0.001| <0.001| 3| 109 [#FZFA> (DMIP) <€0.00001| <0.00001| <0.00001| 3
57 |F T A €0.0002| <0.0002| <0.0002| 3| 110 (A I/ AbmEY €0.0003| <0.0003| <0.0003| 3
58 | FAYINT <€0.00005| <0.00005| <0.00005| 3| 111 |A RY TP €0.0003| <0.0003| <0.0003| 3
59 |F47 7 F— h AF L <€0.00005| <0.00005| <0.00005| 3| 112 (A7 =FE&v K <€0.00001| <0.00001| <0.00001| 3
60 | F AR INT <€0.00002| <€0.00002| <0.00002| 3| 113 [#Fw=/1 <€0. 00001 <0.00001| <0.00001| 3
61 |77 YU kY A <€0.00001| <€0.00001| <0.00001| 3| 114 | U F—h <€0.00001| <0.00001| <0.00001| 3
62 |7 /L7 17 (MBPMC) <€0.00001| <€0.00001| <0.00001| 3 MR =2 (B, B4 <0. 01 <0. 01 <0.01| 3
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KA K

HH B Bl B2 [ %k HHA e A% E22) =1 %%
2 [2,2-DPA (¥ TR Y) €0.001| <0.001| <0.001| 3| 63 [FrYUZEEL <€0.00002| <0.00002| <0.00002| 3
3 (2,4-D (2,4-PA) 0.00005| <0.00005| <0.00005| 3| 64 |~V 2 mLad (DEP) €0.0002| <0.0002| <0.0002| 3
4 [EPN <0.00005| <0.00005| <0.00005 31 65 |V TV — <€0. 000002 | <0. 000002 <0. 000002 3
(4) |EPNA 3 ¥ <€0.00005| <0.00005| <0.00005| 3| 66 [FRUZATY <€0.00001| <€0.00001| <0.00001| 3
5 [MCPA €0.0003| <0.0003| <0.0003| 3| 67 [FFEAIR <€0.00001| <0.00001| <0.00001| 3
6 (72T €0.0001| <0.0001| <0.0001| 3| 69 [E~<mH=A <€0.00005| <0.00005| <0.00005| 3
VA ZETN €0.0008| <0.0008| <0.0008| 3| 70 [ETFrm=/ €0.0001| <0.0001| <0.0001| 3
M| A% FkA €0.0008| <0.0008| <0.0008| 3| 71 |[ETFVFLTxv <€0.00002| <0.00002| <0.00002| 3
8 |7 hTVv <€0.00005| <€0.00005| <0.00005| 3| 72 [TV UFX—hK (EFYVL—1]) €0.0001| <0.0001| <0.0001| 3
9 [F=mH=R <€0.00005| <0.00005| <0.00005| 3| 73 |EVHT=rFA <€0.00005| <0.00005| <0.00005| 3
10 [7Ih7X €0.0003| <0.0003| <0.0003| 3| 74 |[EVTFHLT <€0.00002| <€0.00002| <0.00002| 3
1 (77s7m—n <€0.00002| <0.00002| <0.00002| 3| 75 [EmEFm <€0.00001| <0.00001| <0.00001| 3
12 |4 YFHFA <0.00001| <0.00001| <0.00001 3] 76|74 = <€0. 000005 | <0.000005| <0. 000005 3
a2) | VXY FArFFY <€0.00001| <0.00001| <0.00001| 3| 77 |[Z7==hFuFA> (MEP) <€0.00001| <0.00001| <0.00001| 3
13 [fY7xRA <€0.00003| <€0.00003| <0.00003| 3| (77)|7==hmFFrA*x <€0.00001| <0.00001| <0.00001| 3
1 |4y FahnrT (MIPC) <€0.00005| <0.00005| <0.00005| 3| 78 |7 = /7 H/NT (BPMC) <€0.00001| <0.00001| <0.00001| 3
15 (YT uFA+Z v (IPT) <€0.00001| <0.00001| <0.00001| 3| 79 |7=V LY €0.0005| <0.0005| <0.0005| 3
16 [ 7@~ 7RA (1BP) <€0.00005| <0.00005| <0.00005| 3| 80 |7=>FA> (MPP) <€0.00001| <0.00001| <0.00001| 3
B (57 )Ty €0.0003| <0.0003| <0.0003| 3| (80) [MPPA/LKFL K <€0.00001| <0.00001| <0.00001| 3
19 [=27ahrT €0.0001| <0.0001| <0.0001| 3| (80)[MPPALIRY <€0.00001| <0.00001| <0.00001| 3
20 |27z Fry R <€0.00005| <0.00005| <0.00005| 3| (80) [MPPA > <€0.00001| <0.00001| <0.00001| 3
2 |AF YV u AR €0.0001| <0.0001| <0.0001| 3| (80) [MPPAF > 2ALRFL | <€0.00001| <0.00001| <0.00001| 3
23 |AF V8 () €0.0004| <0.0004| <0.0004| 3| (80) [MPPAF> AR €0.00001| <0.00001| <0.00001| 3
24 |FUHR brEy €0.0006| <0.0006| <0.0006| 3| 81 [7= h=—F (PAP) <€0.00004| <0.00004| <0.00004| 3
25 |4 XY AR A <0.000006| <0.000006| <0.000006| 3| 82 |7xi FFHI K €0.0001| <0.0001| <0.0001| 3
2 |7 = A hr—L <€0.00001| <€0.00001| <0.00001| 3| 83 [7#FA K <€0.00001| <0.00001| <0.00001| 3
28 | HARY L (NAC) <€0.00002| <0.00002| <0.00002| 3| 84 |7&#Zwm—L €0.0002| <0.0002| <0.0002| 3
29 |WART T <0.000005| <0.000005| <0.000005| 3| 85 |7 & IKR €0.0001| <0.0001| <0.0001| 3
30 |% /277 (ACN) <€0.00002| <0.00002| <0.00002| 3| (85)|7 & IHKAFF Y €0.0001| <0.0001| <0.0001| 3
31 |y FH €0.0001| <0.0001| <0.0001| 3| 86 |[FFmT=V» <€0.00001| <0.00001| <0.00001| 3
32 |7 Irmy €0.0003| <0.0003| <0.0003| 3| 87 [FATIF A €0.0003| <0.0003| <0.0003| 3
35 |vaATay s €0.0001| <0.0001| <0.0001| 3| 88 |[FLvFFru—n <€0.00001| <0.00001| <0.00001| 3
36 |7m=hkr7 = (CNP) €0.0001| <0.0001| <0.0001| 3| 89 [Fmi IR €0.0001| <0.0001| <0.0001| 3
(36) |ONP-7" X / f& €0.0001| <0.0001| <0.0001| 3| 91 [FmE=aty—u €0.0002| <0.0002| <0.0002| 3
37 |7y AR <€0.00005| <0.00005| <0.00005| 3| 92 |FmEH¥I K <€0.00001| <0.00001| <0.00001| 3
BN|7 Y RALF Y <€0.00005| <0.00005| <0.00005| 3| 93 [Fmr~FV—1 €0.0001| <0.0001| <0.0001| 3
38 |zmur&Zo=/ (TPN) <€0.00001| <0.00001| <0.00001| 3| 94 |FwEFF K €0.0001| <0.0001| <0.0001| 3
39 |oTFUr €0.00002| <€0.00002| <0.00002| 3| 95 [~/ 3In <€0.00002| <0.00002| <0.00002| 3
40 &7 7 AR A (CYAP) <€0.00002| <0.00002| <0.00002| 3| 96 |<=rrmr <€0.0001| <0.0001| <0.0001| 3
41 ¥ (DOMU) €0.0001| <0.0001| <0.0001| 3| 97 [RvvELrumr €0.0003| <0.0003| <0.0003| 3
42 |7 r~_=, (DBN) <€0.00001| <€0.00001| <0.00001| 3| 98 [R> YT =FvF <€0.00002| <0.00002| <0.00002| 3
13 |¥ 7 v AR A (DDVP) <€0.00005| <0.00005| <0.00005| 3| 99 [_>&V <€0.00001| <0.00001| <0.00001| 3
45 |[VALKR Ry (ZFAFAA L) <€0.00004| <€0.00004| <0.00004| 3| 100 [=>F 4 A&V <€0.00001 | <0.00001| <0.00001| 3
17 | VFAEL <0.00001| <0.00001| <0.00001 3| 101 [Ny T7FANT <€0.000004 | <0.000004 | <0.000004| 3
48 |Znmky FTFNL <€0.00006| <0.00006| <0.00006| 3| 102 [ TAF V> (RRBIY) <€0.00001 | <0.00001| <0.00001| 3
19 |¥=Pr (CAT) <€0.00001| <€0.00001| <0.00001| 3| 103 [R>7L&—h <0.0006| <0.0006| <0.0006| 3
50 |PAX A KUYV <€0.00001| <€0.00001| <0.00001| 3| 104 [KRAFT7E—h <€0.00002| <0.00002| <0.00002| 3
51 |V A h=— | <€0.00005| <0.00005| <0.00005| 3| 105 |=FFA> (=5 V) <€0.00005| <0.00005| <0.00005| 3
52 | A MY ¥ <€0.00002| <€0.00002| <0.00002| 3| (105) |~ F A%V > <€0.00005| <0.00005| <0.00005| 3
53 | XA TV <€0.00002| <€0.00002| <0.00002| 3| 106 |A=7w 7 (MCPP) <€0.00002| <0.00002| <0.00002| 3
)N ATV vFFY v <€0.00002| <€0.00002| <0.00002| 3| 107 [AY3In <€0.00002| <0.00002| <0.00002| 3
54 |54 Ly <€0.00005| <0.00005| <0.00005| 3| 108 | A& FF L <€0. 00005| <0.00005| <0.00005| 3
56 |7 V=1 €0.001|  <€0.001| <0.001| 3| 109 [#FZFA> (DMTP) <€0.00001| <0.00001| <0.00001| 3
57 |F T A €0.0002| <0.0002| <0.0002| 3| 110 (A hI/AbmEY €0.0003| <0.0003| <0.0003| 3
58 |FAYINT <€0.00005| <0.00005| <0.00005| 3| 111 |A Y TP <€0.0003| <0.0003| <0.0003| 3
59 |F47 7 F— h AFL <€0.00005| <0.00005| <0.00005| 3| 112 (A7 =FE&w k <€0.00001| <0.00001| <0.00001| 3
60 |F AR INT <€0.00002| <€0.00002| <0.00002| 3| 113 [#Fw=s1 <€0. 00001 <0.00001| <0.00001| 3
61 |77 U Ry A <€0.00001| <€0.00001| <0.00001| 3| 114 [ U F—h <€0.00001| <0.00001| <0.00001| 3
62 |7 /L7 17 (MBPMC) <€0.00001| <€0.00001| <0.00001| 3 MR =2 (B, B R4 <0. 01 <0. 01 <0.01| 3
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B KK

THH S IRl | % HH e A RS
2 (2,2-DPA (¥ T K ) €0.001| <0.001| <0.001| 3| 63 |FUZwENL <0. 00002 | <0. 00002 | <0.00002| 3
3 12,4-D (2,4-PA) <€0. 00005 | <0.00005| <0.00005| 3| 64 [~V 27 miad (DEP) <0.0002| <0.0002| <0.0002| 3
4 |EPN <€0. 00005 | <0.00005| <0.00005| 3| 65 [hVU 2TV — <€0. 000002/ <0. 000002 | <0. 000002| 3
(4) [EPNA 3 <€0. 00005 | <0. 00005 | <0.00005| 3| 66 [hU 7TV <0. 00001 | <0. 00001 | <0. 00001 | 3
5 |MCPA <€0.0003| <0.0003| <0.0003| 3| 67 |FF IR <0. 00001 | <0. 00001 | <0.00001| 3
6|7 2T A €0.0001| <0.0001| <0.0001| 3| 69 |E~=mk=z <€0. 00005 | <0. 00005 | <0. 00005 3
7|77 ==t <€0.0008| <0.0008| <0.0008| 3| 70 |&Frm= <0.0001| <0.0001| <0.0001| 3
M| A% I R A <€0.0008| <0.0008| <0.0008| 3| 71 |[EFVFT Tz <€0.00002| <0. 00002 | 0. 00002 3
8|7 hT Vv <€0.00005| <0.00005| <0.00005| 3| 72 [£FYUx—h (EFVL—1]) <0.0001| <0.0001| <0.0001| 3
9 |7 =mkA <€0.00005| <0.00005| <0.00005| 3| 73 [V HFT=rFA L <0. 00005 <0. 00005 | <0.00005| 3
10|73 b2 <€0.0003| <0.0003| <0.0003| 3| 74 |EVTFAAT <0. 00002 | <0. 00002 | <0.00002| 3
|77 7m—n <€0.00002| <0. 00002 | <0.00002| 3| 75 [EmFmr <0. 00001 <0.00001 | <0.00001| 3
2|4 YFXHFAr <€0. 00001 | <0. 00001 | <0.00001| 3| 76 |7 17 r=/1 <€0. 000005 <0. 000005 | <0. 000005| 3
)| A Y ¥HYFArFxF v <0.00001| <0. 00001 | <0.00001| 3| 77 |Z7==hrFF> (MEP) <€0. 00001 <0.00001 | <0.00001| 3
B|AYT7zrERA <€0. 00003 | <0. 00003 | <0.00003| 3| (77) |7 ==htuaFFr+Fy <€0.00001 | <0. 00001 | <0. 00001 | 3
| Y7 aHNT (MPC) <€0. 00005 | <0. 00005 | <0.00005| 3| 78 |7 =/ 7 HNT (BPMC) <€0. 00001 <0.00001 | <0. 00001 | 3
15 |4 Y FuFF+7 2 (IPT) <€0. 00001 | 0. 00001 | <0.00001| 3| 79 |Z7=U LAY <0.0005| <0.0005| <0.0005| 3
16 |4 7~k A (IBP) <€0. 00005 | <0. 00005 | <0.00005| 3| 80 |7 =>FA> (MPP) <€0. 00001 <0.00001 | <0. 00001 | 3
B\ & )77 €0.0003| <0.0003| <0.0003| 3| (80) [MPPA /L7 N <€0. 00001 <0.00001 | <0. 00001 | 3
19 | AT ahLT €0.0001| <0.0001| <0.0001| 3| (80) |MPPR L7 <€0. 00001 <0.00001 | <0. 00001 | 3
20 | hT7xrFay s A <0. 00005 | <0. 00005 | <0.00005| 3| (80) [MPPA > > <€0.00001 | <0. 00001 | <0. 00001 | 3
2 |AFHT s iRy €0.0001| <0.0001| <0.0001| 3| (80) |WPPH > AKX | <€0. 00001 <0.00001 | <0. 00001 | 3
23 | A X U8 (CHHR) <0.0004| <0.0004| <0.0004| 3| (80) |WPPHF v v ATk <€0. 00001 <0.00001 | <0.00001| 3
24 |AVH A by <€0.0006| <0.0006| <0.0006| 3| 81 |7=> h=—F (PAP) <0. 00004 | <0. 00004 | <0.00004| 3
25 | B XYk A <0. 000006 <0. 000006 | <0. 000006| 3| 82 (7= FhFHFI N €0.0001| <0.0001| <0.0001| 3
2% BT = A bu— <€0.00001| <0. 00001 | <0.00001| 3| 83 |Z7H#FA K <€0. 00001 <0. 00001 | <0. 00001 | 3
28 | B L (NAC) <€0.00002 | <0. 00002 | <0.00002| 3| 84 |[7x 27 m—n <€0.0002| <0.0002| <0.0002| 3
29 |BLRT T <0.000005| <0. 000005 | <0.000005| 3| 85 |7 & I AKA <€0.0001| <0.0001| <0.0001| 3
30 [¥ /277y (ACN) <€0. 00002 <0. 00002 | <0.00002| 3| (85) |7 % I A AAX Y <€0.0001| <0.0001| <0.0001| 3
31 |FyFH €0.0001| <0.0001| <0.0001| 3| 86 |7 7FmT7=r <€0.00001 | <0. 00001 | <0. 00001 3
2 |7 3Irmay <€0.0003| <0.0003| <0.0003| 3| 87 |ZATVFA <€0.0003| <0.0003| <0.0003| 3
3B |(z7uATuyS <€0.0001| <0.0001| <0.0001| 3| 88 |FLFFZu—1 <€0.00001 | <0. 00001 | <0. 00001 3
3% [Zmi=Fr7 = (CNP) <€0.0001| <0.0001| <0.0001| 3| 89 |Fms I Ko <€0.0001| <0.0001| <0.0001| 3
(36) |CNP-7 2/ {K <0.0001| <0.0001| <0.0001| 3| 91 |[FumE=Fv—n <€0.0002| <0.0002| <0.0002| 3
37 |7 A KRR <0.00005| <0. 00005 <0.00005| 3| 92 [FmEHFI R <€0. 00001 <0. 00001 | <0. 00001 | 3
G| Z ey RAFR Y <€0. 00005 | <0. 00005 | <0.00005| 3| 93 [Fm~NFV—1 <€0.0001| <0.0001| <0.0001| 3
38 |7 mrZm=/, (TPN) <€0.00001 | <0. 00001 | <0.00001| 3| 94 [T mETF R <€0.0001| <0.0001| <0.0001| 3
39 |7 F Y <0.00002 | <0. 00002 | <0.00002| 3| 95 [~/ I <0. 00002 <0. 00002 | <0.00002| 3
40 |7 7 A & (CYAP) <€0. 00002 | <0. 00002 <0.00002| 3| 96 |~<> s mr <€0.0001| <0.0001| <0.0001| 3
41 [y my (DeMu) <0.0001| <0.0001| <0.0001| 3| 97 |[RvyEyrmy <€0.0003| <0.0003| <0.0003| 3
42 |27 m~_=, (DBN) <€0.00001 | 0. 00001 | <0.00001| 3| 98 | N>V 7 =F v <0. 00002 <0. 00002 | <0.00002| 3
43 |7 w2 (DDVP) <0. 00005 | <0. 00005 | <0.00005| 3| 99 [~ &V <0. 00001 <0. 00001 | <0.00001| 3
45 | VALK by (ZFAFFA L) <0.00004 | <0.00004 | <0.00004| 3| 100 [=>F 4 A&V <0. 00001 <0. 00001 | <0.00001| 3
a7 |[CFAEN <€0. 00001 <0. 00001 | <0.00001| 3| 101 [ N> 7FHAT <0. 000004 | <0. 000004 | <0. 000004
8 |vrmky TTFL <€0. 00006 | <0. 00006 | <0.00006| 3| 102 [ N> TAF VU (N2EIY) <0. 00001 | <0. 00001 | <0. 00001
19 |~ (CAT) <€0. 00001 <0. 00001 | <0.00001| 3| 103 [~> 7 L&—Fh <0. 0006 <0.0006| <0.0006
50 [V AL A KUY ¥ <€0. 00001 <0. 00001 | <0.00001| 3| 104 [H2F7E—h <0. 00002 <0. 00002 | <0. 00002
51 [P A bx=— | <0. 00005 | <0. 00005 | <0.00005| 3| 105 |[=FF 4> (=5 V) <0. 00005 | <0. 00005 | <0. 00005
52 | A RY v <€0. 00002 | <0. 00002 | <0.00002| 3| (105) |~ F A > <0. 00005 | <0. 00005 | <0. 00005
53 |44 TV <€0.00002 | <0. 00002 | <0.00002| 3| 106 |* =7 = v 7 (MCPP) <0. 00002 <0. 00002 | <0. 00002
N FAT V) vFxy <€0.00002 | <0. 00002 | <0.00002| 3| 107 [ %Y I <0. 00002 | <0. 00002 | <0. 00002
54 | FA b <€0. 00005 | <0. 00005 <0.00005| 3| 108 | A% FF L <0. 00005 | <0. 00005 | <0. 00005
56 |F7 =L €0.001| <0.001| <0.001| 3| 109 | AF % F 4> (DMTP) <0.00001 | <0. 00001 | <0. 00001
57 |F 7T A <€0.0002| <0.0002| <0.0002| 3] 110 |[A K/ A bhmEY <0.0003| <0.0003| <0.0003
58 |FAY LT <€0. 00005 | <0.00005| <0.00005| 3| 111 [x FU TP <0.0003| <0.0003| <0.0003
59 |F A7 7 — R XAF L <€0. 00005 | <0. 00005 | <0.00005| 3| 112 [# 7 =F &> k <0. 00001 | <0. 00001 | <0. 00001
60 |F AN AT <€0. 00002 | <0. 00002 | <0.00002| 3| 113 [xFwm=11 <0.00001 | <0. 00001 | <0. 00001
61 |77 UL KUY A <€0. 00001 | <0. 00001 | <0.00001| 3| 114 |E YU x—h <0. 00001 | <0. 00001 | <0. 00001
62 |7 /L7 J1v 7 (MBPMC) €0.00001| <0. 00001 | <0.00001| 3 MO FERRE=2 (M fE 7 B AR AR <€0.01 <0. 01 <€0. 01
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(6) 7 U FARY DU LEROHKPEFRE ORE
7 U RARY VL

Fk AKH H31.4. 19| R1.5. 14| 6.25 7.18 8. 20 9.11 10. 16 11.21 12.10 | R2.1.22] 2.18 3.17
P 7 U7 PARY Py LED R | R ] R | R | R | R | R | SRS | R | SRS | SRS | SR
ok Bk A H31.4.19 RI. 10. 16
YT RARY Dy n%| R EN
K Bk A H31.4. 19| R1.5. 14| 6.25 7.18 8.20 9.11 10. 16 11.21 12.10 | R2.1.22] 2.18 3.17
T 7 VT RARY Dy LAE ] AR | ARE | ARBRE | AR | R | RBRE | RBRE | RBE | SRS | SRR | RAEE ] ARl
ok kA H31.4.19 RI. 10. 16
VT RARY VY LE] AR A
Fik Bk A H31.4.9| R1.5.14] 6.25 7.18 8. 20 9.26 10. 16 11.21 12.23 | R2.1.22] 2.18 3.17
A s 7 ARy vy ns| i | s | cmm | s | s | s | s | s | s | s | ome | ome
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UM 2 R 0 0 0 0 0 0 0 0 0 0 0 0
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AU 2 R 0 0 0 0 0 0 0 0 0 0 0 0
N KA RI.5.28 10. 29
AU 2 R 0 0
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7 Z ARk (A, RS AR

Lfifi & A ki A TK

23 N H|H31.4.18| R1.5.16 [ 6.13 7.24 8. 14 9.10 10. 28 11. 14 12.12 | R2.1.14| 2.12 3.12 I 39 | B
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pH il 7.8 8.1 7.9 7.3 8.1 7.8 7.6 7.9 7.8 7.5 7.5 7.3 8.1 7.3 7.7 | 12
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& E IS i # 83 100 95 63 91 72 70 83 85 82 81 61 100 61 81 [ 12
wofF Mm% (D O) 10.6 9.7 9.3 8.8 8.7 8.9 10. 1 10.9 12.6 12.3 12.4 11.9 12.6 8.7 10.5 | 12
B # fa B 4 % 114 115 113 103 118 113 108 110 113 105 108 106 118 103 111 | 12
fLz i EsRk i (COD) 2.0 2.6 2.5 2.0 1.8 1.6 1.4 1.4 1.4 1.2 1.1 1.5 2.6 1.1 1.7 12
w®E % (T - N) 0.42 0.42 0.46 0.47 0.23 0.33 0.49 0.30 0.30 0.49 0.44 0.55 0.55 0.23 0.41 | 12
y v ® 4 A4 | 0.0 0.06 0.08 0.04 0.04 0.04 0.06 0.05 0.05 0.05 0.03 0.03 0.08 0.03 0.05 | 12
@V v (T — P) 0.036 | 0.045 | 0.048 | 0.025 [ 0.031 0.024 [ 0.024 | 0.025 | 0.022 [ 0.022 | 0.018 0.021 0.048 0.018 0.028 | 12
v B %+ A N ~| 0.000002 0. 000002 0. 000001 | <0.000001 0. 000001 [ <0.000001 | <0.000001 | <0.000001 0. 000001 0. 000001 0.000001 | <0.000001 0. 000002 | <0.000001 | <0.000001 12
2—RAFNAY ﬂ‘{/\/ * Z— /1| <0.000001 | <0.000001 | <0.000001 | <0.000001 0. 000002 | <0.000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 | <0.000001 [ <0.000001 0. 000002 | <0.000001 | <0.000001 12
Ll & A K B 0 mE
23 K F|H31.4.18| R1.5.16 | 6.13 7.24 8.14 9.10 10. 28 11. 14 12.12 | R2.1.14 2.12 3.12 e HA% R CIEe
9:30 9:30 9:45 9:30 9:40 9:50 9:50 9:45 9:50 9:50 9:40 9:45
£ S [ 4 ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~
10:10 10:30 10:05 10:30 10:00 10:10 10:30 10:15 10:30 10:10 10:30 10:00
E L (m)| 243.94 | 241.68 | 238.72 | 242.79 | 242.05 | 242.27 | 245.17 | 243.14 | 241.49 | 237.30 | 245.36 | 246.51 || 246.51 | 237.30 | 242.54 | 12
E JE 988 993 986 984 976 987 992 997 996 994 1,001 996 1,001 976 991 | 12
E iR 15.3 23.0 19.7 27.5 31.7 30.5 14.0 10.0 7.6 3.0 8.5 8.6 31.7 3.0 16.6 | 12
IS i 15.0 20.6 23.0 23.8 29.8 26.5 18.3 16.0 10.3 8.1 8.1 10.3 29.8 8.1 17.5 | 12
% 7] 3 6.5 4.5 2.4 0.6 4.0 3.5 1.8 4.8 3.5 3.5 6.0 3.8 6.5 0.6 3.7 | 12
- % il | 1,800 260 480 | 11,000 1,500 1,300 1,200 470 200 120 36 160 [ 11,000 36 1,500 | 12
MEEERRCEMBEEHR 023 0.18 0.23 0.35 0.09 0.23 0.31 0.21 0.23 0.35 0.41 0.33 0.41 0.09 0.26 | 12
pH it 7.9 7.5 7.6 7.1 8.1 7.7 7.5 8.3 7.4 7.1 7.3 7.7 8.3 7.1 7.6 | 12
5 . i M A RS HRLL | HRER BEEL BESL BESL BESL BESL BEEL BEEL BEEL BESL - - - 1
i B 5 3 7 7 5 7 4 4 2 2 3 2 7 2 4

& 3 3.4 4.1 5.1 7.6 5.8 4.3 6.3 1.3 3.2 3.2 2.8 3.0 7.6 2.8 1.4 ] 12
# 3 0.9 1.0 3.4 30 1.5 2.4 4.2 1.9 1.9 3.1 2.1 2.1 30 0.9 4.5 | 12
T v o® = 7 O E F| <o 0.12 0. 06 0. 04 0. 04 <0.02 0.07 <0.02 <0.02 0.06 0.04 <€0.02 0.12 <€0. 02 0.04 | 12
= OR & B % i 87 83 19 78 67 69 71 80 83 79 76 87 19 75 | 12
w oW #E (D O) 10.8 9.4 9.4 8.2 8.7 9.0 9.7 10.9 10.4 9.6 11.5 11.9 11.9 8.2 10.0 | 12
B % fa M oA & E 113 110 115 102 119 117 109 115 98 86 102 112 119 86 108 | 12
MR ERE (COD) 1.9 2.2 3.8 3.4 2.3 2.1 3.0 2.6 2.1 1.5 2.6 1.8 3.8 1.5 2.4 | 12
wE#H (T - N) 0. 44 0. 41 0. 54 0. 62 0. 27 0. 41 0.56 0.43 0. 44 0.56 0.52 0.51 0.62 0.27 0.48 | 12
yoov B A4 A4 <001 0.02 <0.01 0. 04 <0.01 0.01 0.02 <€0.01 <€0.01 <0.01 <€0.01 <€0.01 0.04 <€0.01 €0.01 | 12
#w Yy v (T - P) 0.014 0. 022 0.029 [ 0.052 | 0.019 | 0.027 [ 0.041 0.016 [ 0.016 | 0.022 | 0.014 0.021 0. 052 0.014 0.024 | 12
7 o wmom 7 4 b oa 5.7 1.3 27.3 3.9 5.8 9.7 14.3 21.2 10. 4 3.7 8.6 7.5 27.3 1.3 10.0 | 12
v ES 7 A 3 ~| 0.000005 0. 000006 0. 000003 0. 000004 0. 000002 0.000001 0. 000003 0. 000005 0. 000004 0. 000005 0. 000003 0.000002 0. 000006 0.000001 0. 000004 12
2 — AF A VR F A — )1 <0.000001 | <0.000001 0.000016 0.000001 0.000001 | <0.000001 0. 000002 0. 000003 0.000002 | <0.000001 | <0.000001 | <0.000001 0.000016 | <0. 000001 0. 000002 12
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23 N H31.4.18| R1.5.16 | 6.13 7.24 8. 14 9.10 10.28 11.14 12.12 | R2.1.14| 2.12 3.12 e 39 | B
K i 12.5 18.8 22.5 20.3 28.1 24.1 18.0 15.7 10.3 8.0 7.8 9.7 28.1 7.8 16.3 | 12
B # #1200 160 860 | 12,000 1, 400 580 1, 100 2,400 170 190 62 1,600 || 12,000 62 1,800 | 12
(G123 B RO RT3 E-E 0.31 0.20 0.24 0.37 0.16 0.27 0.31 0.22 0.23 0.36 0.41 0.33 0.41 0.16 0.28 | 12
pH il 7.2 7.3 7.3 6.9 7.2 7.3 7.4 8.0 7.3 7.0 7.3 7.5 8.0 6.9 7.3 | 12
5 , | MW MR PR R BESL R PG BESL BESL BB BB iR HESL - - - 2

i 4 5 3 3 7 7 7 4 3 3 2 2 3 7 2 4
=) 1 4.2 3.9 5.0 12 5.3 4.9 6.4 4.1 3.1 3.3 2.8 2.8 12 2.8 1.8 | 12
# E L1 1.5 4.0 36 2.1 2.3 4.3 2.0 1.8 3.9 L7 1.6 36 1.1 5.2 | 12
7 ov ® = 7 I #E £ 005 0.11 0.07 0.05 0.07 <0.02 0.09 0.02 <0.02 0.06 0.06 0.02 0.11 <€0.02 0.05 | 12
£ £ 5 i 77 82 84 48 73 60 69 72 81 83 79 78 84 48 74 | 12
W F M # (D O) 9.7 9.6 8.3 8.2 7.7 8.7 9.3 10.6 10.3 9.3 10.9 11.6 11.6 7.7 9.5 | 12
B # fa f H o % 97 109 100 96 104 109 103 112 97 82 96 107 112 82 101 | 12
LM RE (COD) 1.8 2.1 3.3 3.2 2.1 3.5 3.0 2.8 2.0 1.6 1.4 1.5 3.5 1.4 2.4 | 12
w®E % (T - N) 0.48 0. 40 0.55 0.65 0.33 0.42 0. 64 0. 40 0.41 0.65 0.54 0.46 0.65 0.33 0.49 | 12
Uy v ® o4 A4 | 002 0.01 <0.01 0.05 <0.01 0.02 0.03 <0.01 <0.01 <0.01 0.01 <€0.01 0.05 <€0.01 0.01 | 12
wY v (T - P) 0.020 | 0.018 | 0.027 | 0.052 0.018 [ 0.023 | 0.043 | 0.016 [ 0.017 | 0.023 | 0.020 0.016 0. 052 0.016 0.024 | 12
s/ m o m 7 4 v oa 2.6 3.0 24.9 L1 2.3 5.0 16.5 21.8 7.5 3.3 7.0 4.4 24.9 1.1 8.3 | 12
¥ ES %+ A 3 >| 0.000002 0. 000006 0. 000003 0. 000003 0. 000002 0. 000001 0. 000003 0. 000003 0. 000003 0. 000005 0. 000003 0. 000002 0. 000006 0. 000001 0. 000003 12
2—AFNAY ARy 5"\7”‘_‘/\/ <0. 000001 | <0.000001 0.000017 0. 000001 0.000001 | <0.000001 0. 000002 0. 000003 0.000002 | €0.000001 | <0.000001 | <0.000001 0. 000017 | <0.000001 0. 000002 12

il 7 Ak B JESE

23 IS F|H31.4.18| R1.5.16 | 6.13 7.24 8.14 9.10 10. 28 11.14 12.12 | R2.1. 14 2.12 3.12 o4 o419 RECINCE
& 7 7 (m) 21.0 15.6 14.7 16.6 16.0 16.6 18.0 18.0 16.5 12.0 19.0 23.6 23.6 12.0 17.3 | 12
wook o ok ® (m) 19.0 13.6 12.7 14.6 14.0 14.6 16.0 16.0 14.5 10.0 17.0 21.6 21.6 10.0 15.3 | 12
7 iR 9.6 18.4 21.0 19.7 26.6 21.3 17.5 14.3 9.8 8.1 7.4 7.9 26.6 7.4 15.1 | 12
— % il 820 260 580 | 11,000 1,300 | 2,200 3,000 | 6,100 310 120 78 400 || 11,000 78 2,200 | 12
T 8 5 S e O O Y R B R 0.38 0.20 0.26 0.38 0.17 0.32 0.38 0. 24 0.25 0.35 0.42 0.40 0.42 0.17 0.31 | 12
pH it 6.8 7.2 6.9 7.0 6.9 6.7 7.3 7.3 7.3 7.1 7.2 7.0 7.3 6.7 71| 12
o - i W MER S B B BB S AR | MR B B B BB - - - 12

b HE 4 3 3 3 3 7 3) 5) 2 3 1 2 7 1 3
= 3 2.3 4.0 6.4 6.5 6.6 6.9 5.9 3.4 3.3 3.3 2.6 2.1 6.9 2.1 2.4 ] 12
] 3 2.6 1.9 7.7 18 3.7 11 3.5 2.2 1.8 3.5 1.5 1.5 18 1.5 4.9 | 12
7oy oE = 7 OO XK o 0.11 0.28 0.05 0.15 0.15 0.10 0.06 <0.02 0.06 0.09 0.13 0.28 <€0.02 0.11 | 12
G B = 2l ES 82 82 88 54 76 59 66 78 83 83 80 86 88 54 76 | 12
WM % (D O) 7.4 9.1 1.2 8.3 5.1 5.2 8.7 9.1 10.4 9.5 11.1 9.3 11.1 4.2 8.1 | 12
B % fa o\ o 69 102 50 96 67 62 96 93 96 85 97 82 102 50 83 | 12
feremmFERE (COD) 1.8 2.1 3.4 2.6 2.2 3.4 2.7 1.9 1.9 1.5 1.3 1.3 3.4 1.3 2.2 | 12
wEHE (T — N) 0.63 0. 41 0.80 0.53 0.42 0.73 0.67 0. 41 0. 36 0.54 0.53 0.61 0.80 0.36 0.55 | 12
U T O 0.02 0.01 0.01 0.05 0.02 0. 04 0. 04 0.01 0.01 <€0.01 0.02 0.02 0.05 <€0. 01 0.02 | 12
w YU v (T - P) 0.020 [ 0.020 | 0.048 | 0.040 [ 0.026 | 0.048 | 0.041 0. 021 0.032 | 0.022 | 0.018 0.016 0.048 0.016 0.029 | 12
v = 7+ A N ~| 0.000002 0. 000006 0. 000004 0. 000002 0. 000003 0. 000001 0. 000002 0. 000002 0. 000003 0. 000005 0. 000002 0. 000006 0. 000006 0. 000001 0. 000003 12
2 -2 f/l«/f M ﬂf/lw?\?}’*/l« 0. 000001 | <0. 000001 0. 000013 | <0. 000001 0. 000001 | <0.000001 0. 000001 0. 000002 0. 000001 | <0.000001 | <0.000001 0. 000002 0. 000013 | <0. 000001 0. 000002 12

Ll & A Bk ik (RT3 A O 1)
* IS A|H31.4.18| R1.5.16 [ 6.13 7.24 8. 14 9.10 10. 28 11. 14 12,12 | R2.1.14 | 2,12 3.12
e 2419 T |
23 K IRf Zl| 14:50 14:40 14:35 9:50 — — 10:10 14:42 14:50 11:40 — 11:40

E [ 1,010 1,010 1,006 1,006 1,014 1,020 1,018 1,018 1,018 1,020 1,006 1,013 [ 9

E W 2501 28.0 28.0 28.5 T 13.5 13.6 13.0 7.5 15.4 28.5 7.5 19.2
S iz 13.0 18.8 22.7 20.7 18.4 16. 1 11.0 8.3 9.8 22.7 8.3 154 [ 9
— 3 il | 2,600 210 770 | 11,000 BT 2, 600 320 190 210 1 150 || 11,000 150 2,000 | 9
EEE KK CEMBEER 0,32 0. 27 0.27 0.39 ] 0.31 0.26 0.24 0.37 0.35 0.39 0.24 0.31 9
73 SO G AR (A< 7] 0. 06 0.10 0.19 0.51 T 0.13 0.07 0.08 0. 20 0.06 0.51 0.06 0.16 9
v~ HROCEOLEW 0018 0. 053 0.063 0. 041 ] 0.033 0.026 0.034 0.077 0.013 0.077 0.013 0. 040 9
pH it 7.2 7.2 7.3 7.0 i :: 7.4 7.5 7.3 7.0 iﬁ 7.4 7.5 7.0 73] 9
5 = i W MR B HESL HESL L BB BB 3 3 R - - - 5

2 3 6 B 3 5 2 3 3 3 3 6 2 4
i) i 3.5 3.8 4.0 12 6.1 3.6 3.0 3.4 2.9 12 2.9 270 9
# ;4 11 1.5 4.3 33 4.6 1.6 1.8 4.2 1.9 33 1.1 6.0 9
7T v oE =7 B =2 & 0. 04 0.06 0.05 0.02 e ] e 0.07 <€0. 02 €0.02 0.05 i 0.03 0.07 <€0.02 0.04 9
#OR B B % 78 83 83 50 70 74 81 83 78 83 50 76 [ 9
w o # (D O) 11.5 10.5 10.2 8.2 9.2 11.6 12.1 9.5 11.3 12.1 8.2 10.5 9
ek o fmoBH o X 113 117 122 95 101 121 113 83 102 122 83 107 9
L MmEERE (COD) 1.9 2.2 3.2 3.2 3.0 2.3 1.8 1.6 1.6 3.2 1.6 2.3 9
%= H (T — N) 0.52 0. 48 0.55 0. 63 1k Ik 0.57 0.41 0.38 0.64 Ik 0. 50 0. 64 0. 38 0.52 9
U 0.02 0.02 €0.01 0.05 11 0.03 €0.01 €0.01 €0.01 €0.01 0.05 €0.01 0.01 9
w U vy (T - P) 0.020 | 0.025 | 0.029 | 0.051 Tl 0.040 [ 0.016 | 0.016 | 0.024 0.018 0. 051 0.016 0.027 | 9
v ES 7+ A =y > 0.000003 0.000004 0. 000003 0. 000003 (1] 0.000003 0. 000002 0.000002 0.000004 0.000002 0.000004 0. 000002 0. 000003 9
2 — AF VA VIRV FR A =1 <0.000001 [ <0.000001 0.000012 | <0. 000001 — | 0.000002 0.000003 0.000002 | <0.000001 - <0.000001 0.000012 | 0. 000001 0. 000002 9
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EVRF Lk ER OmfE

2 PN H| RI.5.16 7.24 8. 14 9.10 11.14 | R2.3.12
23 K R ZIf 13:00 12:55 12:10 13:10 12:35 12:15 o . »
B e F5EIEN SE¥) | K
x = (i H) fif 5] fif fif i &
PN fie (M4 H) = 2 = g g i
E L (m)| 511.15 | 528.07 | 526.11 | 526.64 | 526.24 | 527.24 | 528.07 | 511.15 | 524.24 6
kN J£ (hPa) 956 954 942 955 964 964 964 942 956 6
B i 25.0 26.5 31.1 28.5 7.6 9.4 31.1 7.6 21.4 6
7K ik 21.3 23. 4 29.0 27.5 14.7 1.1 29.0 1.1 21.2 6
— M Al ] 110 6, 800 940 600 150 38 6, 800 38 1, 400 6
fils e B R OV IR RE 2 | <0. 05 0. 06 <0. 05 <€0. 05 0.15 0.17 0.17 <0. 05 0. 06 6
pH & 8.7 8.7 9.2 8.9 7.1 8.6 9.2 7.1 8.5 6
a % | AR | REER | EERER ORR R R - - - 6
R 5 7 5 5 3 5 7 3 5
[ B 2.5 5.8 3.7 4.5 3.3 2.2 5.8 2.2 3.7 6
18 JE 3.2 3.4 1.0 2.5 1.7 5.0 5.0 1.0 2.8 6
7 v E = 7 [ E # 0. 02 <0. 02 <0. 02 <0. 02 <0. 02 €0. 02 0. 02 <0. 02 <0.02 6
5 = = L B 48 42 46 40 44 42 48 40 44 6
W o B % (D O) 9.8 9.8 9.0 9.2 9.3 12.5 12.5 9.0 9.9 6
e F of oH/ 4 F 121 125 127 125 100 124 127 100 120 6
LR FEERE (COD) 2.1 3.3 2.5 2.0 1.8 1.7 3.3 1.7 2.2 6
o= # (T — N) 0.25 0.29 0.20 0. 42 0. 30 0.33 0. 42 0. 20 0. 30 6
y v B A4 F | <o0.01 <0. 01 <0. 01 <0. 01 <0. 01 <€0. 01 <0. 01 <0.01 <0.01 6
wyu vy (T — P) 0.016 0.028 0. 022 0. 024 0. 007 0.018 0.028 0. 007 0.019 6
Z wm v 7 4 ) oa 4.9 32.6 8.2 15.4 6.3 22.9 32.6 4.9 15. 1 6
v T 7 A N > 0.000001 0. 000003 0. 000007 0. 000001 <0. 000001 <0. 000001 0. 000007 <0. 000001 0. 000002 6
2—A %/]/’]) v Zﬁ/]/*ﬂ"—‘/l/ <0. 000001 <0.000001 | <0.000001 <0. 000001 <0. 000001 <0. 000001 (f<0.000001 <0. 000001 <0. 000001 6
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(2) LW

L& A RTKH R OmE
® K H H31.4. 18| R1.5. 16 6.13 7.24 8. 14 9.10 10. 28 11. 14 12.12 [ R2.1.14 2.12 .12
KL 15.0 20.6 23.0 23.8 29.8 26.5 18.3 16. 0 10. 3 8.1 8.1 10. 3
pHAE 7.9 7.5 7.6 7.1 8.1 7.7 7.5 8.3 7.4 7.1 7.3 7.7
suan’ () a 5.7 1.3 27.3 3.9 5.8 9.7 14.3 21.2 10. 4 3.7 8.6 7.5
Anabaena 100 m+ % 1 2
Aphanothece BEA
4 Chroococcus HEMAR
- Merismopedia BEMA
Microcystis BEIR 1 5 14 1 1
2 Oscillatoria 100 m
Phormidium 100 2 m
Aphanizomenon EINIS 2 24 170 7 3
Achnanthes e 1 1 1 1 1 4 2 11 2 5
Asterionella e 4 4 6 2 4 4 15
Attheya i
Aulacoseira 100 um 11 480 13 3 260 500 2 12 2
Cocconeis e 2 2 3
Cyelotella)’ v=7" i 1,100 8 17 3 12 24 41 28 26 59 | 11,000 300
Cymbella i e 1 8] 5 14 1 2
Diatoma Eitlal
i Fragilaria k) 480 41 12
i Gomphonema Eitlal 1 1 1 4 1 1
Melosira 100 2 m
Navicula e 13 15 13 2 17 48 5 5 56 25 56
Nitzschia A e 1 7 3 2 4 1
Rhizosolenia L) 14 1
Skeletonema e
Synedra acus il
Z DAty
Actinastrum L)
Ankistrodesmus L) 1 1 1 2 10 13
Chlamydomonas )™ V=7 L) 130 20 15 21 23 250 940 13 670 190 18 310
Closterium e
Coccomyxa TR
Coelastrum TR 1 3 1 1 1
Cosmarium e
Crucigenia T
Dictyosphaerium TR
FEudorina TR 1 8 10 1
boS Gloeocystis JiEREN
- Golenkinia e
Gonium TEf
B \ooeystis Bl
Pandorina TEf
Pediastrum HEMAR 1 1 1
Scenedesmus HEMR 3 1 6 5 11 2 2
Schroederia i a 18 6 3 4 1
Sphaerocystis) v=7 2N 1 3 2 1 2
Staurastrum i 1 1 & 20 7
Tetraedron e
Tetraspora TR
Volvox REA 2
ZOfth
77" VR | Cryptomonas A 300 21 31 41 1 4 22 14 150 13 7 96
Dinobryon e 2 1
Mallomonas i 39 66 2 1 7 9
Synura HEMR
Uroglena HEMA
I Ceratium i 8
Peridinium e 1
s— Euglena A e
ZOfth
JRAB il 1 b 4 1 7 7 3 2 7
. ULUH i 4 4 1 1
AT B EEES 1 1 1
NS | EEES
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T A RTKRH R 4mE
® K H H31.4. 18| R1.5. 16 6.13 7.24 8. 14 9.10 10. 28 11. 14 12.12 [ R2.1.14 2.12 .12
Kk 14.5 18.8 22.6 20.6 28.3 24.3 18.2 15.8 10. 5 8.0 7.9 10.1
pHfi 7.7 7.3 7.3 6.9 7.3 7.3 7.4 8.2 7.4 7.0 7.3 7.6
suan’ () a 2.2 2.3 30.3 1.1 6.2 7.2 16. 5 23.8 11.0 3.4 13. 4 8.3
Anabaena 100 m+ % 1 1 2
Aphanothece BEA
4 Chroococcus HEMAR
- Merismopedia BEMA
Microcystis BEIR 3 1 2
2 Oscillatoria 100 m
Phormidium 100 2 m
Aphanizomenon EINIS 19 120 5 2
Achnanthes e 3 4 1 1 3 10 2 4
Asterionella e 19 13 21
Attheya i
Aulacoseira 100 um 22 580 3 34 240 410 7 15
Cocconeis e 1 2 5 5
Cyelotella)’ v=7" i 840 8 33 1 40 70 45 13 20 49 7,300 280
Cymbella i 1 10 1 2 21 5 3
Diatoma Eitlal
i Fragilaria i e 85 1, 100 ] 50 60 8
i Gomphonema e 1 1 3
Melosira 100 2 m
Navicula e 4 41 13 12 10 46 4 2 48 36 17
Nitzschia A e 1 2 4 1 1 1 6 1
Rhizosolenia L) 17 1
Skeletonema e
Synedra acus il
Z DAty
Actinastrum L)
Ankistrodesmus L) 1 % 1 2 14 6
Chlamydomonas )™ V=7 L) 160 33 62 5 34 80 220 6 580 21 43 540
Closterium L) 1
Coccomyxa TR
Coelastrum S 6
Cosmarium e
Crucigenia T
Dictyosphaerium TR
FEudorina TR 1 3 13 7 1
boS Gloeocystis JiEREN
- Golenkinia e
Gonium TEf
B ooeystis Bl
Pandorina TEf
Pediastrum HEMAR 1 2
Scenedesmus HEMR 3 8 9 5 1 1
Schroederia i a 15 12 1 1
Sphaerocystis) v=7 2N 5 3 1
Staurastrum i 1 1 4 1 2 2 3 8 4
Tetraedron e
Tetraspora TR
Volvox REA
ZOfth
77" VRS | Cryptomonas i 76 23 15 5 6 3 13 9 110 12 36 180
Dinobryon e 1 11
Mallomonas i 14 7 3 7 48 1
Synura HEMR
Uroglena HEMA
I Ceratium i 12
Peridinium e
s— Euglena A e
ZOfth
JRAB il 1 b 1 6 2 6 b 1 9
- ZEN% | ELES 2 2 1 1 1 1
AT B EEES 1 1 1 1
NS | EEES
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L& A RTKH R 8mE
® K H H31.4. 18| R1.5. 16 6.13 7.24 8. 14 9.10 10. 28 11. 14 12.12 [ R2.1.14 2.12 .12
KL 12.5 18.8 22.5 20.3 28.1 24.1 18.0 15.7 10. 3 8.0 7.8 9.7
pHAE 7.2 7.3 7.3 6.9 7.2 7.3 7.4 8.0 7.3 7.0 7.3 7.5
suan’ () a 2.6 3.0 24.9 1.1 2.3 5.0 16. 5 21.8 7.5 3.3 7.0 4.4
Anabaena 100 m+ % 1
Aphanothece BEA
4 Chroococcus HEMAR
- Merismopedia BEMA
Microcystis BEIR 2 1 1
2 Oscillatoria 100 m
Phormidium 100 2 m
Aphanizomenon EINIS 21 50 3 2
Achnanthes e 1 4 2 2 4 2 7 1 3
Asterionella e 8 6 1 8 34
Attheya i
Aulacoseira 100 um 2 29 520 3 5 55 180 440 8 30 1 2
Cocconeis e 1 6 1 7 4
Cyelotella)’ v=7" i 720 5 31 2 5 100 35 20 25 41 4,500 300
Cymbella i 1 16 1 1 2 4 1 18 3 4
Diatoma Eitlal
i Fragilaria i e 15 890 96 6
i Gomphonema Eitlal 1 1 1 1 2
Melosira 100 2 m
Navicula e 1 4 43 12 13 82 3 10 48 17 19
Nitzschia A e 1 1 5 1 1 1
Rhizosolenia L) 11
Skeletonema e
Synedra acus il
Z DAty
Actinastrum L)
Ankistrodesmus L) 1 4 2 1 3 1
Chlamydomonas )™ V=7 L) 28 8 50 2 5 50 110 4 210 20 25 240
Closterium L) 2
Coccomyxa TR
Coelastrum TR 1 2 1
Cosmarium e
Crucigenia T
Dictyosphaerium TR 1 1
FEudorina TR 1 1 4
boS Gloeocystis JiEREN
- Golenkinia e
Gonium TEf
B \ooeystis Bl
Pandorina TEf
Pediastrum HEMAR 1 1 5
Scenedesmus HEMR 1 4 9 5 9 1
Schroederia i a 9 16 2 1
Sphaerocystis) v=7 2N 1 2 2 1 1
Staurastrum i 1 2 1 & 1 13 2
Tetraedron e
Tetraspora TR
Volvox REA 1
ZOfth
77" VR | Cryptomonas i 29 23 15 4 2 12 9 74 6 14 31
Dinobryon e 1 5
Mallomonas i 4 5 20 1
Synura HEMR
Uroglena HEMA
I Ceratium i 4
Peridinium e
s— Euglena A e
ZOfth
JRAB il 1 2 1 2 4 3 4 4 1 6
. ULUH fiEl A 2 2
AT B EEES 1
NS | EEES
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Rl & LKL ik CRrER %8 7R AR KD

® K H H31.4. 18| R1.5. 16 6.13 7.24 10. 28 11. 14 12.12 [ R2.1.14 .12
Kk 13.0 18.8 22.7 20.7 18.4 16. 1 11.0 7.5 9.8
pHfi 7.2 7.2 7.3 7.0 7.4 7.5 7.3 7.0 7.4
Anabaena 100 m + &
Aphanothece BEA
4 Chroococcus HEMAR
- Merismopedia LTS
Microcystis BEIR 1 1 1 1
i Oscillatoria 100 m
Phormidium 100 2 m
Aphanizomenon EINIS 21 40 10
Achnanthes e 1 5 3 1 2 9 3
Asterionella e 12 4 4 28
Attheya e
Aulacoseira 100 um 1 28 590 5 250 270 8 7 1
Cocconeis e 1 3 1 3
Cyelotella)” v=7" i 560 7 23 6 31 35 19 33 330
Cymbella i e 1 2 1 8] 28 6
Diatoma Eitlal
i Fragilaria i e 25 1,700 8 4 74 12
i Gomphonema e 4 2
Melosira 100 2 m
Navicula i 9 11 22 25 10 3 60 20
Nitzschia A e 2 1
Rhizosolenia e
Skeletonema e
Synedra acus il
ot by by s
Actinastrum e e n o
Ankistrodesmus e 1 4
Chlamydomonas )™ V=7 L) 16 8 31 4 240 270 17 380
Closterium e
Coccomyxa TR
Coelastrum TR 1 1
Cosmarium e
Crucigenia TR
Dictyosphaerium TR
FEudorina TR 1
boS Gloeocystis TR
s Gn]ejnk inia il - "
Gonium TEf
B ooeystis Bl
Pandorina TEf
Pediastrum HEMAR 1 1
Scenedesmus HEMR 1 3 4 11 1
Schroederia i a 2 1
Sphaerocystis) v=7" TR 7
Staurastrum i & 5 5 2
Tetraedron e
Tetraspora TR
Volvox HEMR
ZOfth
77" VR | Cryptomonas A 36 14 7 5 11 2 78 6 90
Dinobryon e 4 3
T Mallomonas i 6 1
Synura HEMR
Uroglena LIS
Ceratium Al
TR
Peridinium e
s— Euglena e
ZOfth
B Ll 1 b 3 3 4 b
- NV i i 4
AT B & A
NS | EEES
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FiRF LRk ER OmlE
w ok H R1.5.16 | 7.24 8. 14 9.10 | 11.14 |R2.3.12
KL 21.3 23.4 29.0 27.5 14.7 11.1
pHfi 8.7 8.7 9.2 8.9 7.1 8.6
suan’ () a 4.9 32.6 8.2 15.4 6.3 22.9
Anabaena 100 m+ % 8 740 1
Aphanothece BEA
4 Chroococcus HEMAR
- Merismopedia BEMA
Microcystis BEIR 16 2
i Oscillatoria 100 m
Phormidium 100 2 m
Z0fth
Achnanthes i
Asterionella i 330 2,000 19 680 | 14,000
Attheya e 4 4
Aulacoseira 100 m 5 1 8 320 1
Cocconeis e 2
Cyelotella)” v=7" i 88 65 33 11 13
Cymbella i e
Diatoma Eitlal
i Fragilaria i e 6
i Gomphonema e 1
Melosira 100 2 m
Navicula e 4 8 2 5 1 3
Nitzschia i) 3 1
Rhizosolenia L) 1 2 2 1
Skeletonema e
Synedra acus il
Z DAty
Actinastrum e
Ankistrodesmus i) 1
Chlamydomonas )™ V=7 L) 17 61 48 110 400 66
Closterium e
Coccomyxa TR
Coelastrum S 3 2
Cosmarium e
Crucigenia TR
Dictyosphaerium TR 2
Eudorina S 3 1
boS Gloeocystis JiEREN
- Golenkinia e
Gonium TEf
B \ooeystis Bl
Pandorina TEf
Pediastrum TEf 1
Scenedesmus HEMR 7 3
Schroederia e 2
Sphaerocystis) v=7 JiEEE 13 38
Staurastrum i 5 81 4
Tetraedron e
Tetraspora TR
Volvox HEMR 2
Spondylosium TR 52
77" VB3 | Cryptomonas i 3 42 8 5 7 100
Dinobryon e
S5 Mallomonas i 1 2
Synura HEMR
Uroglena REA
Ceratium i 120 11
TR
Peridinium e
S Euglena A e
ZOfth
B il b 13 1 40 1 1
- U LUK il i 1 1 2 1
AT B EEES 1
NS | EEES
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M HX

(1) TSRS IR

(2)  KEHEBREFHX

(3) IREWKERMEMN & KEEHREE &




(1) T SRR R AR

(5F24E 3 A 31 HELE)

ELIN

H22 | B EERIVERT GCMS—QP2010 Ultra
H24 | B EERIVERT GCMS—QP2010 Ultra
HA7 v~ 7T 7RSSR H26 | SEERUERT GCMS-TQ8040
H28 | EEERLERT GCMS—-QP2020
R1 R ERT GCMS—TQ8050NX
SFMGE L T T X BT E H27 | 7YV v b T2 )aY— | Agilent 7900 ICP-MS
H29 | #=%749V¥=¥{xv7474vy) | DIONEX Integrion
AF v rua~w NI TR H30 | BSaEcRERT Prominence RFEEEMMTY AT A
H30 | H ARG EXTREMA >/7 Vs AT A
EHIER 7 v~ N 7T T E H24 | BEESLERT Prominence UFLC XR
R o ‘ H25 | S SERT LCMS—-8040
EHIRIR 7 v~ N7 T TR E . -
H29 | EHERERT LCMS—8060
7 — U BRI I o T H23 | $=%74yvv=H{2v74749) | Nicolet isl0
H22 | EdtyERT UV-1800
AT E
R1 H AR5 V-730DS
L H23 | EsESdERT TOC-LCSH
AR IR S E H . —
H27 | EEERERT TOC-LCSH
\ \ H24 | AARFEG T WAB000
T 0 T T 2 -
H25 | HAREM T WAG000
TR SR E T H30 | HARA v AV LAY | RA-4500
O XA A H21 | SEEfErT EDX-800HS
‘ H8 | AV 3 AX80
PEHT ARy TV BB
H23 | AU iR BX53
) H2T | RHET 4 — o — o — HM-30R
p H# -
" H30 | BT 4 —r—4— | HM-42X
H23 | L RY R MSU225P-000-D1T
E 1 KR H30 | HFL U = MSA225S5-100-DT
R1 | BESUERT AP135W
P C RAHT I H26 | # T34 F TP700

(1)




(2) ZKEFABREE - H X

— =

™Y
[ =
— | ﬁ;ﬁ
PN []
i G J\
LC/MS= M © i} .
s / n o
N M 3 i
1 S o E N
T AR t j 2 1
N AN
N
(] x
P
] £t
— S
PS |Z %—j it
EV 7 it

N

B O =
Iilc
WS B

EFI
9:'\- —
&R
ps  [JwmEd F —
~ L
N s N
55 {5 L =
] D
;JJ;] g HPLC E T ] ibé
P :
- [ | N =
L1 g
TRALER R = E
] R
I s
TOCE E
S
N NV .
A= ; ;
EiS =
N =

(U

mla TS KEAE 1, 1420t

(4 Fn24E3 H 31 H E#LE)
(2)



(3) Ji~ J&5 T KB Jrp kAR X LK B A BRI S o0 (4 Fn24E3 A 31 H HiAE)

KB JR)

(B S

aub
HH

SAFS R

N

BATER

g

afak

(o, Zeflerd 22,

KB E PR

K ER

JEOKIRA AR

K%

EELEBT

BN A B B O S

(HHL fdE =k, )

(R, AR, PuER. ALER)

7w, EAH)

VKB FR © VoKLER TRE N OSABC K R O /KE B FRICRE A2 L, Iy

JFUKIRAESR

IR 7K I D 7K E

3)

IR 5Z8, 7L



1K H B FE R amoesr s

1% AT SR2HE1LA

1 BEEE JKY3-2020-297

1 PREETAT R T KIE R K B A PR

AT E O RAETEEIEREAEASTHE1IE L &
1%& 3 (082) 843-4421

EX—/b suishitu@city. hiroshima. 1g. jp






